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1, —T??"oh:i 4! T q

1, In a row of bo il is ei '
ys, Kapil is eighth from the right TG
and Nikunj is twelfth from the left. When g st 4 e @ 'Em 3 ard @ 2131
Kapil and Nikunj interchange positions, Nikunj o 3Ta A sEe a Fa
becomes twenty first from the left, Which of arar 2 ) Feafafaa i § fitel w1 T A
the followi i i e
righrc; owing will be Kapil's position from the e B LI I
(A) 21 [A) 21
(B) gt (B) 8t
(C) Cannot be determined (€) fRuffa el foan <
(D) 17th 7{,0} 17
2. Which cyclones originate over the Bay of Bengal 2. =rel &t @rEl 3k fig wEETR § -8 =
and the Indian Ocean ? IOAEAE ?
(A) Western cyclones (a} ofret ﬂ.ﬁﬂlﬁ
(B) Tropical cyclones {B}/mﬁaiﬂ'ﬂw
(C) Eastern cyclones (C) et =rhaTa
(D) Temperate cyclones EE (D) WHfrs =FaTd
3. ??3?1.& & oea i e ool R 5l 3. Under Article 371A, special status was accorded ta
s
(A) FETT (B) T6vITEE YaNI (A) Telangana (B) Arunachal Pradesh
(¢f =TT (D) mfoTgL (C) Nagaland (D} Manipur
4. Project Sunrise of Central Government is 4, FZ Gl [AEH et 8
(A) Prevention of Malaria in eight North :
Eastern States (A) 3113 I gl =l o vl ) Qg
(B) Prevention of AIDS in eight North o
Eastern States (B) 3713 I g i # wgy i Tapem
(C) Prevention of COVID-19 in eight North =gl 1§ #ifae UHYTg
Eastern States 5 (C) 313 I E?ﬂ i -19 &t
(D) None of the above (D) IR 4 § =13 7
5. is the number of times per 5. i Tehe e dR a
second the pixels are recharged so that their T & Hegy I 90F
glow remains bright. = e T |
(A) Refresh rate (B) Resolution (A} foh1 7 (B) Frgiem
{C) Pixel rate (D) Bit depth (cf fi=tm = (D) Ter= e
6. 6412:+415=647 6. 642+ 415=647
(A) 12 (B) 9 (A) 12 (B) 9
(C) 7 (D) 3 (c) 7 (D) 3 o
7. WTO was founded in 7. WTO &l #ur91 Fgd | ol
(A) 1995 (B) 1991 (AY 1995 (B) 1991
(C) 2005 (D) 1947 (C) 2005 (D) 1947
8. Catla fishes are 8. e Hohut
(A) Surface feeders (B) Bottom feeders (A) Wtﬁg{ o
C) Feed at all level D) Mi ' (B) wfiw Hr=t
(C) Feed at all leve (D) Middle feeders (CY Tt =2l T e (D) ey e
w
L
(x> 3)

Soanne{ c33;"7”‘)-‘:})cann‘é'_ égtk
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9. Aman ranks eleventh in 5 class of forty fo
What will be his rank from the last ? "
(A) 35 (B) 33
(c) 37 (D) 34

10. What is Canthrophily ?
(A) Pollination by bats
(B) Pollination by beetles
(C) Pollination by snaijls
(D) Pollination by birds

11. Consider the following statem
President of India. ents about

l. President is the Head of

Il. President exercises only nélrlsi r?;f;%wer
Choose the correct option given below -
(A) Boththe statements | and || are ;:arre-::t
(B) Only the statement Il is correct
(C) Only the statement | is correct
(D} None of the above

12. Body with pores and canals in walls is present in
(A} Amelida (B) Annelida
(C) Porifera (D) Ctenophora

13. If 12276 + 1.55 = 7920, the value of
122.76 + 155is

(A) 79.02
(C) 79.2

(B} 7.92
(D) 7.092

14. The Kolkhoz is a collective farming medel
introduced in
(A) China
(C} Cuba

{B) USA
(D) Russia

15. If the word MENTAL is written as
LNDFMOSUZBKM, then how would the word
TEST be written in that code ?

(A) SUDFQRSM (B) UVFGTIIV-
(C) RSCDQRRS (D) SUDFRTSU

16. _<siwe iy is an  extremely high-speed,
low-cost process, which records computer
generated information directly from the
computer tape or cartridge to 2 miniaturized
microfilm media.

(A} Character Output Microfilm
{B) Computer Output MI-::raﬁIrn
(C) Character Oriented Microfilm
(D) Computer Oriented Microfilm

S
U DR SR ee e
S N4

& Gl
) v MYy
/ /)

5 < ¢ CMIMS - S1

9. 44w ) vk wed H 30 119 wae w2, sifam
O gt Lok w0l 7

(A) 35 (B) 33
{C} 37 u‘fﬁT_?q-
10. Fofoeeh a2 7
(A ST G T
(B} 71 g1 T
(C) =i g T
(D) wiéwi gy
11, v ol Fan 1 Fafiiad s o e
. tl%?ﬁ%m g B ¢ |
11, Ty e AT i Al v
1 feq o @ Ty %1 g = |
AR (A) Y | 37 |1 g Tl §
"@%‘ﬁ AB) T FH 11 TE B
' (C) aet HYA | 9E) &
(D) I9tiEa § | Frd Aef
12, yili A gl ofi ared o S g e 2
[A) smfrsr (8) wferzr
(c) ifdsa (D) FEATHM
13. afg 12276 + 1.55 = 7920, 71 122.76 = 15.5F1
[ B
) 79.02 (B) 7.92
C) 79.2 4P) 7092

14. SIEEN F Tfesh $H gz & @ H
o fFrr T @ 7
(A) <
(C) =g

15. i3 MENTAL T2 3 LNDFMOSUZBKM forat s
&, 30 e ¥ TEST v A 3R v e P

(A) SUDFQRSM
*JE} RSCDORRS

16. U AT e, FreE-wme
i 2, S e Wit wee < Yo s
| Y FRAE W T SR AEEfEen it @
sifreifiad e & |
(A) R TG g ke
{Bj’aﬁtxgtmaf_ganﬁa?rﬁﬁ"q

AL) TR AR Al
(D) I HELE ATy
ya8nb =55 W

,_...--TE'. ]ﬂ"‘

(B) ¥uHT
(D) ==

(B) UVFGTIIV E%G
(D) SUDFRTSU

2%
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Who among the following Indian sang the
historic song of peace and hope at 1966
United Nations General Assembly (UNGA) 7
(A} Asha Bhosle

(B} M. S. Subbulakshmi

\C) Lata Mangeshkar

(D) None of the above

Name the single comprehensive indirect tax
Operational from 2017 on supply of

{A) Excise Duties (B) Custom Duties
\C) Goods and Service Tax (D} Value Added Tax

The H.C.F. of [x? - ax = (a+1)] and
lax?—x ~(a+ 1)) is
(A) (x+a3+ 1)

B) (x+1)
(C) (x-a~-1) o

(D) {x~-1)
The first Non-Aligned Summit was held in

(A} Bangalore

(B) Belgrade
(C) Dhaka

(D) Delhi

provides a path to transfer data
between CPU and memory.

(A) Control bus (B) Address bus

479

(C) Data bus (D) None of the 3bove
22, Nipah virus spreads to humans by S
(A) Cows (B) Pigs E
(C) Donkeys (D) Dogs :

The major constituent among atmospheric gas is
(A) Methane (B) Oxygen

(C) Nitrogen (D) Carbon Dioxide
Which number will i
quesﬁcr?marl?c,r‘ I come in the place of
1,5,17,53,161,?

(A) 482 '{Bl

(C) 485 D) 481
RBCs in frog are

(A) Nucleated (B) Enucleated
(C) Trifid (D) Bifid
Pankaj Advani has grabbed his
World title by winning IBSF 6-Red Snooker
World Cup.

(A) 23

(C) 24th

B) 21%
D) 22md

Double fertilization is a rule of which plants 7
(A) Pteridophytes (B) Bryophytes
(C) Angiosperms (D) Fungi

19.

20.

21,

22,

23.

24,

25,

26,

: o HEEdl (
a4 1966 gg'?;g ;Tgﬁ?lal Tifes m
fefef@d ? ©
e T T
{M S &Iﬁ
) QHJR?-EE@H
) et @ g
2017 & ufcaTer B THeT AT T
eealiRIEd (B) Hram =y
O s (0] T g
[x2 = ax — a|-|~1:|13ﬁ'{[a}xz—:w:—[aw1}_]21;[.i
HHTEH B3
(A) (x+a+1) (B) (x+1) gg
(C) (x—a~1) (D) (x~-1)
Tea ey et Tee R iy |
™ a1 7 |
(A) SRR (B) SerE
(CF @t (D) feoeht
difiy ot T % o o
RTTIRT ¥Y T WY I FH £ |
(A) Tt 4B) T T
(C) sTer =g (D) ol & & %3
Faar 3
AR 7] Ej{“m%'
S (0) T
TS e v we &
(A) Higm By o
{C];;a‘sq (D) EﬁﬁhE Im' I-‘iﬁfﬂﬁ%
BEL] e <5
it iéaﬁmﬂﬁ" S S
(B) 479
e} 485 o
ﬁ?ﬁﬂaﬂﬁ%‘g (D) 481
9 g Rl
o LA St e
{A} 23"1 it
(C¥ 24t [(gi ;;nd
mmﬂﬁﬁ‘ﬁmﬁw% ?
(A) 2Pty .
(€) Wfrirenia [{g? w
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28. The position of how many letters |
BRAKES remain unchanged SE@:’ me word
arranged in alphabetical order 7 ey are

(A) Two (B) N
(C) Three (D) 0?29

79, Structure of XeF_ is
(A) Distorted octahedral
(B) Square bipyramidal
(C) Distorted square planar
(D) Square planar

30. The average of 5 consecutive
numbers is n. If the next two numbers are also
included, the average of the 7 numbers will
(A} remain the same  (B) increase by 2
(C) increas_erby 1.4 (D) increase by 1

31. must be refreshed continually to

store information, otherwise it will lose what

it is holding. A

(A} Double Data Rate Synchronous Dynamic
Random Access Memory {DDR-SDRAM)

(B) Dynamic Random Access Memory
(DRAM)

(C) Synchronous Dynamic Random Access

Memory (SDRAM) :
(D) Static Random Access Memaory {SRAM)

32, Consider the following statements about
World Trade Organization (WTO).

l. The World Trade Organization (WTO) is the
only Global International Organization dealing
with the rules of trade between nations.

Il. Afghanistan joined the WTO on 29 July
mige 2 its 164" member.
H‘g Choose the correct option given below.
E3%E (A) Both the statements | and | are correct
(B) The statement Il is correct
(C) The statement | is correct
(D) None of the above

33. Digital signature are based OD ———

cryptography. : _
(A) Shared-key (B) Prwatei;eke'\"
(C) Internal-key (D) Publickey :
34. Inflation target to be set by the G::uunsrrnmr.-ntnri:c
India, in cnrg}sultatiun witg the Reserve Bank,
once every ~ years.
B) 5
() 4

d 2

R N\
o ) ﬂ?{ﬂ/m

2 1% CMMS -5t

28, wise BRAKES i e 2ierl =) feufa 378 avrigsa
i soperfoer w0yt srTiafda w2

(A) & (B) &g
T B TR

(c} i . A5 -6’]q_' Ay ¢ f;.
29.  Xef, ) dra 2 4 € F

(A) Frga sV ho \;__g%

(8) i Rffid AT

(cy e = wweret b

(D) =] EHEe

30, 5 sl Henal &1 30ad n 2 | Ff et &
densil ) g G s, | 7 @i & A

(A) @ @ (B) 2% ST
&] 1.4 =ig =IdT (D) 1#& ST

F SR o i T e
2, i g e R, =11 75 34 &M
393 un R € |
(A). Seret =TT e b T tven v
Tad (DDR-SDRAM)
(B) Tl trsA UagH UH{ (DRAM)
J£) fispr S tvew taeE 3
(SDRAM)
(D) ©2fe tugn TEw A5l (SRAM)
s s ETe (Seeadiall) F A
2 et |
|.ﬁaamﬁ1m;(g&t§;ﬁ}mﬁ%;ﬁ
formt & w2
11, ST 164 3 Tae % w9 20 Ja
=1 FRyg saran e # wmiive g3 |
i fou o wE forere w1 95 #H
) o | 3t 1| 3 T E
(B) %Y || TE &

(C) Y | TEl &
(D) Judi # A =IE el

33, fefeaRmm_ Fecord wsnuia
B g |

(A) TIEI-H A8) Tsh-
(C) 3TTieh-Hl (D) adwfrE -

34, wfd ad A wh an fivd ¥ ¥ o
wﬁﬁmmvﬁﬁ?ﬁ&?ﬁﬁ%ﬁm%l
(A) 5

# oo

31.

(D) 4
w
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&7
v e L
F A @A
u 35, FEAAC AB) FE
: trivorous 7 i SrerTE
35.  Which of the following is 2 detr! (A} ® (D)
{A} Honey bee (8) Earthwﬂfhm‘ {C) Eﬁm = el % ﬁt%
(C) Ascaris (D) Cockroac ‘ A,Bﬂ?ﬁqﬂm eck:] B ¥ snﬁ“ﬂmw
36. A is thrice as good a workman as B H"::{ ';5'; ﬁﬁﬁ:‘@m:gmq;{%gqga b {ﬁmﬁ
therefore, able to finish a plect of wo Fich %,alﬁﬁm 57
60 days less than B. The time {in ‘-}"a‘lﬂ‘} inw ey T Fﬁ‘% ' (B) 22 e
they can do it working together is (A) 73 feA { i
(A} 23 days (B) 22days i 7 1 o 4}3} 223
1 (C =
€ 233 days 0] g S50 3l AR R
37. Which of the following administrative subject 37. Wwaﬁ%ﬁa TIE !
is not mentioned in Union List of the Indian @ ] 187l
Constitution ? ELiE aifeR
(A) Banking (B) Defence %ﬂ' (c) ﬁ%ﬂﬂmﬁ ’%} EIEIH
(C) Foreign Affairs (D) Police B i ﬁWﬂiﬁ:ﬂ
dia) expendit 3, W (W) F1 9 1951-5
38. What was the Government (India) expenaiture . i 7
on education as a percentage of GDP in the mm;ﬁmmﬁﬁfﬂ u
N o (B) 2.18% 4p) 0.64% ] 2 15 45
(C) 4.20% (D) None of the above (C) 4.20% (D) ST ﬁiﬁ
TSl faam B
39. The productivity and distribution of 39. qredt ol P %@( it
plants is heavily dependent on e |
(A) Water (B) Ternperature (A) I _»AB) dMHHIA
(C) Soil (D) Light {C) 7| (D) et
40. Anger:Rage::Moist:? 40, @H:ﬁﬂ::?ﬁﬁ:?
(A) Sad (B} Burn (A) E@ (B) STerl
(C) Dry (D) Drench Ag) T 4D) wen
41. Human body temperature being a1, USTEH Iifa siuferan % forg suge TE
suited for enzyme catalysed reactions. a2
(A} 360K (B) 273K (A) 360K (B) 273K
(C) 310K (D) 290K (C) 310K (D) 290K
42. |AEA widely known as the world’s 42, |AEA = o910 €9 s = FEi i
(A) Atoms for Power and Drugs LV(A} iR o Gﬂﬁﬁﬂﬁ%%‘qv{m
(B) Atoms for Peace and Development 24B) rifel 3 forerrm %qqtq‘rg
WyE  (C) Atoms for Piece and Download (C) el ﬁt@mﬁm%ﬁm
i (D) Atoms for Pace and Destruction (D) ifer 3R oy 5 ﬁft[qmﬂ
43. The word Internet is derived from two words 43, YRR ST R it 3 5
(A) Interface and networks (A) E0RE 3R Y : b
(B) Inter communication and networks :
(C) Internal and networks 'Jii::; m‘ ::ﬂaﬂ(ﬁiwmm-{w
(D) Inter connection and networks (D) m e
44. A small rise in prices or a sudden rise in A4, T‘Fﬁ & LEE
prices is not a I w ﬁ%@g?mw@;ﬁﬁﬁsﬁ
{A) Hyper deflation nflation m
(C) Paraflation (D) Deflation wrehif () merhifd
/(é)] (D) FEEhifd
w
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45. Who published the Newspaper m:
(A) Joseph Garibalgi per Rlsorgimento,?
(B) Joseph Mazzin;
(C) Victor Emmanue| — 1
(D) Count De-Cayoyr

46. A jar full of Whisky contains 40%
(\]

A part of this whijsky
containing 19%a|cohg| ;sn(rieplaced by another
of alcohol was found to be

whisky replaced is
(A)

(C)

vww|rn

(D)

An officer known as Assistant Commandant or
a Subedar, is equivalent in rank to a

(A) Deputy Superintendent of Police

(B) Commissioner

(C) Inspector General of Police

(D) Superintendent of Police

47

In this question, two statements are given
__ followed by two conclusions, choose the
B58  conclusion(s) which best fit(s) logically.
Statements:
1. All pen are pencils.
2. All books are pen.
Conclusions :
I, Some books are pens.
Il. Some pencils are books. :
_(A) Neither conclusion | nor |1 follows

(B) Only conclusion Il follows
(C) Both conclusions | and |l follow

(D) Only conclusion | follows

49, Socialization helps people

A) Both (B)and (D) ial
((B; To function successfully in thelnsos
worlds between

(C) To know the difference
introverts and extrovert R hat
(D) To adopt beliefs, values [aﬂ
represent its non-mateé

73

CMMS - 51

) s Afse
(C) ferrex waT T ~ Il
(D) T3 E-FAN
46. f%ﬁﬁﬁaﬁqasauﬁw%ma%lwﬁuﬁ
#wmﬁ@ﬁmﬁmm%ﬁvﬁ(w%
SeiEel o1 3N 379 ITTHE H Wi 26 I
Wlmmﬁgﬁﬁqm% 100*""'(0
a) 2 (8) 2 A
i3 5 4
3 1
(C) : (D) =
47. WEEE Wi A1 TF GASR FedM I Th
et F IR FHAIFA TATE |
G (A) 39 R arfiers
= (B) g
(). gfera mer fltersh
(D) gfera et

48, o e #, & A feu e E i A & ek o
e | 3 Fred gie St aifhe w9 @ gaE §dE
a3d ¢ | S
YA = @2/“'
1. T R © | @
2, @t g A ¥ | @7@
e .
I, B T R |
u.w&f?rqagm%%\"
) 7 a e | 7 & 11 TR A &
) sherl frsehy || STFETO e @
(C) art sy | I 11 g i &
(D) hae e | STETT et @
49, THTSIHT S 6l T 7eE FAT R |
(A) (B) 3T (D)THT
&B)ﬁmmmﬁmmﬁaﬁmﬁmmm
(C) et 3R iRHE & sfir e A 6 ferg
(D) 37 faamsl, qedi 3 WSl A Sqem
7 S g - St
wfafAfire #td 2
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fremfeiat <t e H 12 3 ofish S i 3
0. In a class of 40 st dents, 12 enrolled for both 50. 40 ] (e .
English ang Gerrfw:n. 22 enrolled for German. If & fere AT fean feg WRIET

the students of the class enrolled for at least one
of the two subjects, then how many students
enrolled for only English and not German ?

(A) 18 (B) 30
(C) 28 (D) 10
51. The

— is the portion of window that

holds the web page present in the current tab.
(A) Status Bar (B) Command Bar
(C) Favorites Bar (D) Content Area

52.

Select the corr

& ect mirror image of the given

gure when the mirror is placed at line AB.

A B

DN
(A) |

WV
HN

(B)

Wy
NH

TY

(C) (D)

wy |
HN

53. In which district of Haryana Maharana Pratap

Horticultural University located ?
(A) Karnal (B) Hisar
(C) Bhiwani (D) Gurugram

To resolve the growing problem of
Non-Performing Assets (NPAs), or loans on
which borrowers have defaulted,

is set up.

(A) True Bank

(B) Good bank

(C) Bad Bank

(D) Centre for Monitoring Indian Economy

CPU stands for

(A) Central Processing Unit

(B) Computer Preprocessing Unit
(C) Central Preprocessing Unit
(D) Computer Processing Unit

54.

55.

fofen | fe; e 3 ferenolert 1 i <A g
T & fore gom &, @ 3R
ﬁ%%mw%m,%%m”'ﬁ?

(A) 18 (B) 30
(C) 28 (D) 10
51, FiS &1 a8 W ? S AdAE &9
Juftd e U1 Bl UROT AT R
JA) WH TR (B) TS AR
(C) YFafeE an (D) e Tfn
52. & repfa o wEl gdu wiafera g s adn 3
@1 AB W 1@1 STl 2
/\
HU
| MA
V
ARk B
(A) iy (B) £
HN nH

(D)

Wy

@ HN

53. A F fFw R ¥ wemon waw smEE

Rme?
) T (8) feam
(D) TN

(C) forar

WW(NPAs)mémﬁqmsqmaﬁ

A TF R}, R o wwn B ogaen ¥ R
<l T T R

(A) T==1 S

(B) =3 &=

(C) U= o=

AP) NI Stefsaaen ) 3z

CPU 1 HAeld @

FK) Hew Srafm gfe

(B) F MR e

(€) et R e

(D) et s gfve

54.

E] aul
3 s".-ii
El2sd
55,
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58

5.

60.

61.

62.

63.
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n
€cCtion 2(5 ¥
(C) Under sectiq, 221; o gig

(D) Under Section 2(c) of crp e

| went
10 m to the East, then turned North
€r 15 m, then I turned West

and then turned South and

The layer of the atmos
layer is situated ?

(A) lonosphere

(B) Troposphere
(C) Thermosphere

(D) Stratosphere
The ratio of the number of boys and girls in a
college is 7 : 8. If the percentage increase in
the number of boys and girls be 20% and 10%
respectively, what will be the new ratio ?

(A) 21:22

(B) 8:9

(C) Cannot be determined

(D) 17:18

When the market price of the goods ‘(p)
multiplied by the firm’s output (q), we gr-ft

(A) Average revenue &ﬂ \ﬁ‘“&')

(B) Total revenue W

(C) Marginal revenue
(D) None of the above

If 1 am young’ is written a:i
‘Sheetal is young’ as 614

247 and
and ‘Il like

J ey ' then ‘I’ is written as 3
Sheetal’ as ‘57 6, (8) 4 v
(A) 5 :

o e i agnetic
.. material is having m gne
& -1, then the relative

susceptibility (X) = and type of

magnetic permeability (Th)

magnetic material is ) 0 diamagneﬁc_

ol paramagne:i!c (D) 2: ferromagnetic
i etic

O S s hiness of

Agency to assess the creditwort

individual borrowers is (8) CIBIL

(C) FIBIL
S fica f")/\ 'a\'&-O‘i
kA - o xe)
A oo

CMMS - 51

6. 3femm e e (smife) F dEd T sty P
aRonfeer o mran 2
(A) Tarrdied) & v 2(i) % d7a
AB) diamdidt ) um 2(a) & dgd
(C) etarmrdied} < um 2(1) % &
(D) e ) um 2(c) % ded

57. # 10w, g & man iR 3w H e o
15 . wen, fohe ufvem 4 gei i 12 1.
wren 3R o aféar g2t i 15 =, =@ |
AR A foRen gL gL dm

(A) 3m (B) 6

12—

r_/’;!(

58. dgHed il 48 Yid NHEHIEH 9t
fege .
(A) A HEA (B) & wst
(C) uHiehRR _p) @HaM HSd

i H Tehl IR asfedl i dem w
@ ?ﬁmws% | AfE TgHi iR el 1 g
S 20% 3R 10% o6 g et ?, 73 3guma

B ?

[‘5‘! i
(A) 21:22 %%
) 8:9 )
ﬁ) Frutfa 7€ foman s wwar
(D) 17:18
60. %?T?mu@(p)gvnwﬁwﬁvh(q)gﬁm
A) 3rHd TS
= e

ShinE

D) 3w # ¥ #IS 7

61. AR ‘| am young’ & 2 @7’ 3k 'Shggtal is
oung’ I @ 1@)31R ‘| like Sheetal’ ‘5@@

é@m%, @ 1= foran s @

(A) 5 - (B) 4

47 (D) 2
62. AR O Yaehia qaid i gaehia gemntian
(x) = =1, T qres o qroTeEn () SiR
gerehid yarel &1 W R
(A) 1, TUgsrhi +48) 0, wfigadhiy
() -1, sfegefa (D) 2, weged
63. mamﬁmm%mm
areft Tofeht @

A) CABIL AB) CIBIL
EC) FIBIL (D) MyBIL M %\b
=P
AR I :’ ,/’\ w
x \°

Tt it

g ¥O
Scanned By g&nnerq@@i‘
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64, TR B & H - T PO e i 2

—— ency of afaerdl &
64.  Which of the following is not an ag (A) el S El¥E
socialisation ? (B) e IHEr Bk a'-
(A) Peer group () witerd AR
(B) Family e
(C) Shopping 4:9‘) : ; 3
(D) Books b 5 ere¥ T a1 33 & IA,B%;QQ'%,
¥ 1 to . - . &
65. Five boys are sitting in a row. Ais on th?(?glfA s E,BH T, W@.C% AR 3R A, D
B, E s on the left of B, but to the right 0 - A, ATAA BT GAR ?
on the left of D. Who is sitting in the middle (A) A (B) E
Ty
(C
| dF.Cisthe | 66. ©: TR A B, C, D ESMNFEICrhamad
66. There are six persons A, B, C,'D, Ean d.D|sthe B EF TR H WE R | D, A% Ry W F 37 2
sister of F. B is the brother of E’s husband, ’ N 'cﬂ?ﬂﬁﬁl‘(@mmg 5
father of A and grandfather of F. There are two 2 | 998 1 T4, | F,E
fathers, three brothers and a mother In the g TR et & 7
group. How is F related to E ? (A) Sﬂ (B) =m
(A) Daughter (B) Uncle (D) Ry
(C) Son (D) Husband (9RvEl
67. comprisesaset of several routines 67, BN "anavsid, ROM & st 3 T 3R AR
and start-up instructions inside the ROM. (Eli-aﬂq) 313%5'?[ 1 T §0=1g S § |
(A) Basic Input Output System (BIOS) A&) aﬁﬁ"w 33eYe few (BI0S)
(B} Universal Serial Bus (UsB) (B) {ﬁaéalﬁﬁaaw (USB) 18
(C) Expansion port (C) ﬁwrm‘ﬁi 1= £+ iy
>)
(D) Port (D) 4K -,-?)—{7_?;\
68. The value of 15C3 + 15(:13 is 8. ) 15‘(:3 + _15c13¢| 2
15 15
(A) (21 N (B) C15 (A) 15C1o ABY 15(:15
(© *c, (D) *c (©) **c, (D) *c
69. The developing embryo will also generate 69. faFmyfie YUl off it geref WW% S
waste substances which can be removed by ¥ A S 3 m@wﬁﬂﬂ
transferring them into the mother’s blood ——  HI¥W 4 97 & @@
through the S BT ST |eht © |
gA; Uterus ((g; Zlac;.,nta 28) Tferr (B) 319
C) Anus rethra () T J%) .
i issi ber, :
70.  Find the missing number. : @ T TR ;
] 55 (3]
22 it 5 |19
Y m
146|75
: : (8) 297 146| 75
(A) 299
(C) 300 (D) 298 (A) 299 (B) 297
g (C) 300 (D) 298
=10.

: canner Go
\ -r'Seanned By S :
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combination is R
S R’, then the ratio y is

(A) 5 R
B) 1

C (B) /25

© % (D) 25

The

is a system that provid
' . es a
simple a'nd consistent way to Oorganize large
data available on the Internet, :

(A) Web site (B) Web browser
(C) Hypertext (D) Web server

In the following series, how many such odd
numbers are there which are divisible by 3 or
5, then followed by odd numbers and then
also followed by even numbers ?

12,19, 21, 3, 25, 18, 35, 20, 22, 21, 45, 46, 47,
48, 9, 50, 52, 54, 55, 56
(A) Three

(C) Two

(B) Nil
(D) One

The practice of assessing a culture by its own
standards rather than viewing it through the
lens of une’s own culture is called

(A) Both (B) and (C)

(B) Cultural relativism

(C) Cultural imperialism

(D) None of the above

Satellite Mission — TRISHNA s for

(A) Eco-system stress and water use
monitoring

(B) Pesticide monitoring ,

(C) Ecological balance monitoring

(D) None of the above

Which is the famous work of Pliny ?
(A) Si-Yu-Ki

(B) Natural Historia

(C) Periplus of Erithrean 5ea

(D) Indica

- mum
i

tomorrO'W', Rs. 4 the

5.2
If you save Re. 1 today, R our total savings in

next day and so on, then Y
two weeks will be
(A) Rs. 16,383
(C) Rs. 16,300

() Rs. 18,300

)
-11" ®l o H’Jrl_').;“f

21,

72,

73.

74,

75.

76.

77.

CMMS - S1

Sy R are o A gl ute sE H A
61T T R ) R 3 T R wETe § SisT T R |
ufe 7@ et 1 g vl R R, @ RE,

3TTUTE B
(A) 5 A48) 1
(C) % (D) 25
‘ T JUITeft B St FeTIE T 3T
2 (el 1 U WIUT 39N Fiten erafed w0
&1 Tlleh1 Iuctey U 2 |
(A) 391 | _B) 9 TS
(C) EEURHE (D) <= gat

Prefrfan saen 1, R fram g
371 5% fareg  ofi s g farm g &
T IR T EEA1E 7 5
1%, 18,21, 3, 25, 18, 35, 20, 22, 21, 45, 46, 47,
48,9, 50, 52, 54, 55, 56

a

@B (B) rd T
(= (D) T

R & e A T JEE TR F T9E
IG% @4 F HEH! g0 YEATEA T & T FH
HE A |

A) (8) 3R (C) I

(B) WREFforeh WTaEFITETS

(C) TEhfih TR
(D) IqUe & | HIE T
ITEWEA-TRISHNA R
An) witfefesh € gea iR e e
(B) et Ao

 (c) witfeufofr wgem fFrroeht

(D) S9Uie & | g TG

e AR st ?

() fa-3-f

(B) T fE

PRISEE A PEE K

(D) sfeehT
gqﬁs.aa?ﬁ!@ﬁma’lmmm%agi

(A) . 16,383

o (B) %. 18,300
(C) ® 15

ADY T @ =
W

VB T AR R

16 3% 64\
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78.

80.

81.

82.

83.

any property,

Join Telegram Group "HaryanadJobs.in"

is where a person, entrusted _Wlth
dishonestly misapprqpr'ates
any property, or dishonestly uses or d.|sp0?85
of that property in violation of any direction
of law or contract or wilfully suffer any other
person to do so.

(A) Criminal breach of property

(B) Cheating

(C) Trespassing

(D) Criminal breach of trust

Inthe

_Usenet newsgroups and
electronic mail (e-mail) came into picture.
(A) 1980s (B) 1970s
(C) 1990s (D) 1960s

Which pattern most closely resembles the
following pattern ?

)
QQ

m

() 0\ Y

Where is the International Court of Justice {ic)) ?
(A) China (B) Hague
(C) Paris (D) New York

The Reserve Bank has introduced banknotes
in the Mahatma Gandhi Series since
(A) 1996 (B) 1951

(C) 1974 (D) None of the above

How many Schedules are there in IT Act 2000
(A) 6 (B) 3 :

(C) 2 (D) 4 o

A copper wire is bent in the shape of &) [ﬂ
a square of area 81 cm?. If the same
wire is bent form of a semicircle, the

radius (in cm) of the semicircle is

(Take n= 5?'-)
7

(A) 10

(B) 16
(C) 7

" (D) 14

~12.

ﬁmmﬁ%aﬁﬁﬁﬁ,m@gm
T e 3, SR A R oy
e 2, A ¥ IE TN H iy ey
1 “”;“@WH@Q@“W
e A
m%mcﬁ%_am% | i
A) TR 1 STUH ST
(B) @t &l
(C) =T
() smqufireh faamaETd
: A e R 3R it
o e e |
(A) 1980s AB) 1970s
(C) 1990s (D) 1960s
0. -1 e frfaad e 4 il g
T g ?
d
oD

(A)
AC) o \Q Y

8l. U =T (1C)) el T fRm 2 ?
(A) ==

.AB) T
(C) ufw (D) =TT
82. o 9 3 werent it sy § S A FE o
e g ?
(A) 1996 (B) 1951
AC) 1974 (D) SR & & 1 T
83, ;ﬁﬁwﬁrﬁmzoooﬁﬁmﬂaﬂqﬁﬁﬁ?
(Cg g (B) 3
(D) 4
84, Wﬂﬁ%miﬁglcmzma@aﬁ%
mﬁﬁaw% | AR Teht ) FHTEE
W Fm:g e e
(A) !
10
& o OE
@l
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fvolution of diff
: Erent spop: .
eogra bec i
g: ElthIcE}l ares Starﬁng : 185 in 5 Eiven
literally radiating 1o other oM a point and
ar

(habitats) is cajlaqg
(A} Adaptive breegip,
(B) Adaptive E"‘u'ﬂlutici
(C) Adaptive radiation
{D:l None of these

u;;:- N;. 86 - 88 : Read the following

PO aNd answer the questions given b
LM,N,0,p tingaround a
facing the centre,
N, whao is third
of Rand M,
Sis the nej
right of M.

L is not the nei
left of N,

tothe left of P, is not neighbour
Bhbour of O and R and is third to the

ghbour of 0, who is second to the

Which of the following is the pair of adjacent
persons ?

(A) Land P
(C) OandM

{B) MandN
{D) MNone of these

87. What is the positionof Q ?
{(A) Third to the right of M
(B} Immediate right of R
(C) Second to the left of S
(D) Immediate left of N

i i iti heh
If N and O interchange their positions, t
which of the following will be the correct
statement 7
A} Ois between L ant.:‘- Q

E EB; S is on the immediate right of N

Z= (C) N is between Landr('l .

(D) Ris second to the right 0

ral Bank of a country

cMMS —S1

: ; b
85. iz A oy Ao T R e e &
%ﬁaﬂmﬁm%ﬁﬁﬂﬂm’ﬁha{M}%
[E¥ 6 m%ﬁ%ﬂ#mﬁl
gﬁ% (A) rgege STt

\f) srgegeht
() argeh fafwe

(D) gl @ = el
v .. 86 - g8 : Prerfaa ga @ oo AR
fou ™ et 3 s AT |
L LM, N, G, P, Q, RIS ¥R i gE T T
AU E |
I, m,aﬁp#mﬁﬁ@%.nﬁmmm@mqﬁ%l
I, s, 03t Ra wev B Al M T T R |
IV, L,qu@rﬁ#ﬁ%,ﬁN%ﬂTﬁgﬂ%V

86, Feffanaf-a STEa AfRdi FgH e ?

AR Laip

(C) O XM

g7. qfifefosng?
g p sl
BT R ang
/ﬁs%ﬂiﬂﬂ
&1 N ia =
g8, R N 3R O M wWH v o 2w od €, @
Feaffsad g FR-TmFE g e ?
AA) D,Laﬁtuﬁaﬁai%
(B) 5, N < gta grd &
() N LIRQHd=daT
() R, Q¥ e @

89. = = o w frdlh o = S A (v T

(B) M3fN
(D) T @ g e

ich the Cent i) ¥ o et oft =6t <R T B TS
The rate atwhicht .-\ lends money fo ! EL
(Reserve ':Fg:nkifinlshd;g\fﬂﬂt of any shortfall i%ﬁh%ﬁ i 1 gt w2
mercl
E?Ends is refers to ) W=
A) Bank rate } T W =
%} ::E:Irse e al;azee (D) FutEa o @ w1
he abo :
(D) None© o pumber of p?mces into | 90, gﬁtﬂi 13@;@@%%@
: i t el B 7
0 WhaLLS EEEe”la" be cu {glii:“ 180 \j@’ i
hich 2
(c) 100 2l
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% faet T
o6 W%mqﬁmﬂm

uage
English Lang o P, s 3
91. Fill in the blank with appropriate words aard
the alternatives given below them.
You can go you like. (A) 91
(A) Whither -{B) Where e
(C) Whence (D) Wherever (B) A
)
92 Give one-word substitute for the following. o) gﬁﬁﬂ:’l’&fqﬁ
“cyond the power or laws of nature.
\A) Surmise
(B8) Superlative 97. f;mﬁrétqw Ed ______’?ﬁ% |
(C) Superfluous L
(D) Supernatural AR = =
(®) <5
83 In the following question a sentence has been ar B%@
given in Direct/Indirect Speech. Out of the (C) j
four given alternative, select the one which (D) gqﬁﬁaﬁiq'é’f
best expresses the same sentence in Indirect/
Direct Speech.
¥ S : : 98. ﬁﬂﬁﬁaﬁﬁmﬁﬁﬁﬁﬂtﬂaﬁmm
Call the first witness”, said the Judge.
(A) The Judge commanded to called the first : FQGT%, d_ HEAME |
witness " °
A L1
) The Judge commands to call the first 560?1 Jigsd G i
witness (\fb (B) ?ﬂﬁﬁ'{ e
(C) The Judge commanded to call the first P ek
witness (OQ\ @) @W LI
(D) The Judge pleaded to call the ﬁr‘t ‘2‘ ‘_ (D) mﬁqﬁéqﬁf or L : :
w:tness ; 35 | , e OGS
HE IS RPhL 0 2 BR.09. atrfqm[ f&,—(ﬁ ?
Choosetheﬂghtgynonymofw“ “Ld gwe% _;_ (DT 2R W ‘ wE?
in mpital Ie _’i’th alterna ives g iven saiwollol &
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Which number will come in the place of
Question mark ?

8,12,9 13, 10,14, ?

(A) 10 (B) 15

(€) 11 (D) 16

Which of the following input device is used to
convert a document into an electronic format
and it can be stored on the disk ?

(A) Printer (B) Plotter
(C) Scanner (D) Projector

Who is the current President of Indian
Weightlifting Federation ?

(A) Bajrang Punia (B) Anand Gowda
(C) Sahdev Yadav (D) Santosh Yadav

Which of the following Courts have the power
to issue writs for the enforcement of the
Fundamental Rights in the Country ?

(A) Supreme Court [Dr5
(B) High Court ?fj‘“ 2
(C) Both (A) and (B)

(D) None of the above

Indian System of Medicine (ISM) includes

__ systems.
(A) Five (B) Six
(C) Three (D) Ten

Which letterintheword‘SELFRIGHTEOUSNESS’
does not change its position when theletters

are reversed ?
(B) G

(A) T g
(C) H (D) Eg

In how many years will a sum of

money double itself at 6196 simple
interest per annum ?

(A) 24 years
(C) 12 years

Of the 84 pare
a school, 35 vo
during the sch
both to superv
and to bring refre

(B) 20 years
(D) 16 years

nts who attended a meeting at
lunteered to supervise children
ool picnic and 11 volunteered
ise children during the picnic
shments to the picnic. If the
number of parents who volunteered to bring
refreshments was 1.5 times the number of
parents who neither volunteered to supervise
children during the picnic nor volunteered to
bring refreshments, how many of the parents
volunteered to bring refreshments 7

"*{ 25 (B) 36
ich 42 (D) 45

CMMS - 51

. e Fore 2% v A -H) GE At 1

8,12,9,13,10,14,7

_ (8) 15
© 1 orse
/B # @ | §AgE feare T
e e & v A & o 33
Fisz . st fort o bt & 7
(A) fiex Qe
(C) BT (D) st
3/ el STE W o aHT S 8
(A) arsrin g (9) F
(C) TEad A_A (D) & aEE _
A o 7 o st 3 v 3 o e i
1 iR Frefeian 1 & fFa w7
(A) TTod =raTerd
[B]WW
(c) (A) 3 (B) A

1§ T8

{D)
‘l:ITl.T'ﬁ?I Sirafiy womeft (3é.vaoE.) |
wonferat wnfie € | o

(A) g:' (o) 7
() DET IHINIR
i ‘3 FH-HT A&
e sﬂyg}gﬁﬁﬂt‘l%;fm g
sag? GSL
(8) G
(D) E

(A) T
5%% AU BT 9 A T R

(€) H
/?/ ufe ad

i g gl 7 o
(A) 2470 (8) 20

() 12734 (D) 16 i
) Az 1 uftya 84 srfipamasi # H 35
%Tﬁtﬁ{ﬁﬂ;ﬁﬁ%maﬁiﬂm*
oy aeifea & 3 11 s fwfm & 40
aﬁ‘izﬁtmmmaﬁﬁ%mwﬁ;‘;
§ | gfy v @ A areeat ShmEE ?
e TR s 1 1.5 7 &, 0 e
A A w6 2@t & for Aeted &
qﬁmaﬁ%ﬁqaﬁﬁmﬁ,ﬁﬁ*w
mmaﬁaafmmﬁmif; -
‘{3 2 (D) 45 )

Y
Y ~—
he

—
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wo —— 2#O (A) America and India

B

9. Example for Baby AT Motherboard

(A) Pentium | (B) Pentium I
(C) Pentium Il (D) Pentium MMX

The process of cleaning dirty money with the
objective of hiding its source and enabling it to

be used later in a legal form is
(A) Smuggling (8) Black money

(C) Demonetization (D) Money laundering

Which bankruptcy law of India

seeks to consolidate the existing
framework by creating a single law

for insolvency and bankruptcy ?

(A) The Bankruptcy Code, 2020

(8) The Insolvency Code, 2020

(C) The Insolvency and Bankruptcy Rule, 2021
(D) The Insolvency and Bankruptcy Code, 2016

In which year did the Ancient Olympic Games
begin ?

(A) 756 BCE
(C) 776 BCE

In the Olympic games, the flags of 6 nations
were flown on the masts in the following way :
The flag of America was to the left of Indian
Tricolour and to the right of the flag of France, |
The flag of Australia was on the right of Indian
flag but to the left of the flag of Japan, which
was to the left of the flag of Canada.

Find the two flags which are in the centre.

\\

10.

11.

12

(B) 765 BCE
(D) 782 BCE

N
U

} (B) Japan and Australia
x4 (C) America and Australia
‘:: 5 P % 4 (D) India and Australia

7 14, Which of the following does not represent
Pa‘ - electrical power in a circuit ?
IS (A) PR (8) IR?
2
) vi (D) —

15. Find the mlssing number.

(A) 11
(C) 13

(8) 17
(D) 19

Join Telegram Group "HaryanadJobs.in"
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(9. ) %l o, &, waend 1 3amom B
(A) Hfam | (B) e g
(€) "l (D) "o pamx

faser e 7 awer 712 v % e @ 3 A 1

10+

' 30 A w9 A 3w w9 G qey % ke
arh e smen & 7
(A) TRt (B) e g
(C) Fermgeiaom (D) w+h @ffegn
Feanferan st anvm stemen & few v f Fe

11.
< % W = Y -an Ranfean A 7 %

wufepa e # 7 e

(A) feanferan wfean, 2020

(B) Ie &rmen w@feen, 2020

(c) Feanferan va v s7amen fam, 2021

(D) feanferan ua wivm vermen afan, 2016

12" Wi e el 1 3 e ad gan 7

(A) 756 %.9. (8) 765%.9.
g}ﬁ (CN776 3.9, (D) 782%.9.

ysﬂﬂﬁméﬁﬁ 6 M1 & w2 Fefafes ofs 8

mm%mmm%ﬁ%mm
=1 &1 HECAT T | 1§, WA F
2 ¥ and 2 9l S F wE F A B, S FAw

FyRdad |
FAT IR, NI £B-J K \

EWIT T

ffefiaa 3 @ #-w o o |
farggm wife ) el awrfen ?
(A) PR

() vi
gmmmﬁl

[A) 11
(c) 13

14,
(8) IR?

2
(0) V—

15.

(B) 17
(D) 19

Vi = ¢R
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- & £

18.

19.

20.

21,
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Which of the following connects a PC to a
Joystick ?

(A) Modem
(C) Game port

(B) Cthernet port
(D) DVI port

To enhance the financial inclusion, the Reserve
Bank of India has undertaken a project titled
(A) Project Financial Literacy

(B) Project Financial Tandrum

(C) Project Finance and Audit

(D) Project Literature

How many times will the minute hand

and the hour hand of a clock be at right
angles in 24 hours ?
(A) 12

(C) 44

(B) 24

Magnitude of drift velocity per unit electric field is
(A) Current density (B) Current

(C) Resistivity (D) Mobility
World’s most problematic aquatic weed is
(A) Pistia (B) Lantana

(C) Eichhornia crassipes (D) Cactus

Five boys took part in a race. Ram finished
before Mohan but behind Gopal. Vijay.
finished before Sailesh but behind:Mohan.
Who won the race ? QT

(A) Ram (B) Gopal

(C) Mohan (D) Vijay

Which of the following is not a secondary
storage device ?
(A) Floppy disk
(C) Tape drive

(B) Hard disk
(D) Register

means a system of a secure key
pair consisting of a private key for creating a
digital signature and a public key to verify the
digital signature.

(A) Symmetric Crypto System

(B) Asymmetric Crypto System
(€) Symmetric Encryption System
(D) Symmetric Decryption System

16,

17.

}K

2.

CMMS - 51

frferfiag o @ v . #1 vk HAafes g

g R 7 o
(A) uidy (B) §4AZ 912 _
(C) o s (D) #.4.zmd. i

foreft st w0 wg # few v frad &3
fiser afairarenn a1 v fean 8 7

(A) Wit wrgAfaae fezd BG®
(B) Wit wrEAfIAe 25H H
(C) Wiz FrgAE Uz Hife2

(D) wrsrae fereten

24 ¥i2 # foperft e vk = 1 fire afi =2 e
§ e U Erft 7

(A) 12 (B) 24
(C) 44 (D) 48

31T an ufa gerd faega @ = ufmmor &
(A) g m= (8) farega wmq
c) wferiea (D) wfasfierar .
forva it waffues wwend wofm smqm e
(A) fifen (B) = T R
(C) saifan wifies (D) ¥z M

e TEF uw A Fum AR E |, g
{ UES WY T & NS A gure w=an
? 1 foom, Io | v g g F
HHT FA1 @ | e dre Sl ?

(A) TH (B) Mt
(C) wrEd (D) fa=m
frafafes & 3 Sh-w w Rdas
RERURECIE il
(A) vt fawes
(C) 29 grEa

& 3 B, ' H
wmw&ﬁmmm@%:m
fsft Fsft o ffoee exaen = wenfis +0) 3
fere wah wrelifien it nfirer &

(A) wwfi fre fveew

(B) s fre fivew
() wmfira ufshar firen
(D) wfiv fefrwm fven

v
N

(B) &€ feew
(D)
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“Vriksharopan Abhiyan - 2021" ? fFm e ?
(A) Ministry of Coal (A) e HATE _
(B) Ministry of New and Renewable Energy (B) 71 va Tl el waTe
(C) Ministry of Forest and Climate Change (C) @ ud Wﬁ%ﬂqﬁa&:m
(D) None of the above (D) Iyiia # & =1d 7l
27.  Which of the following is called as ‘Golden Fibre' ? | 27, freifeifiae o & f5a ieea ween’ wmsmar & 7
(A) Cotton (B) Silk A, FTH (8) T3r9
(C) Jute (D) None of the above ) e (D) 39 & & = 7
o oHI S L =
' Anhyd-AlCl, /cucl . 0 E < \38- |« Y TAnhyd-aic,/cuc :
(A) Phenol (B) Benzoic acid_« - (A) foeare (B) e 3
(C) Chlorobenzene (D) Benzaldehyde (C) FEireffi (D) FAfcsers
29. In a queue of children, Kashish is fifth from the 29- a1 & v ufaw # s ad J gi=wa g
left and Mona is sixth from the right. When they 2 A 93 W W R | 5" A 9§ T et o
:tf;t:hq::agg:otheir places among themselves, £, @ wfiw and @ deed @ weht ® | T Iﬁ?l:ﬁr
I5 mes thirteenth from the left. Then, T 2d A #E-ar a7 .
what will be Mona’s position from the right ? o -—"'"_"‘E'@.
(A) 4* (B) 8" (A) 4 & (8) 8 a i _
(€) 14* (D) 15% (c) 14 & (D) 15 &t /1_,{;
30. RISC stands for W, HE, vw, #, w5 A Y
(A) Risk Induced Set Computer (A) fosh e ﬂzg"’{ﬂ
(B) Reduced Instruction Set Computer (8) tevEe ’ﬁ'mgz E A
(C) Risk Instruction Set Computer (C) FAYH HE HIET
(D) Reduced Inductive Set Computer (D) {evyEe yEffed #e HEt
31. Who among the following is called as the 31, ﬁﬂfhﬁ'ﬂ'gﬁ A R el Frem w1 aregER
Architect of Indian Planning ? g e &
(A) Prasanta Chandra Mahalanobis (A) ST SR
(B) Samarendra Nath Roy (B) TR 1w
(C) Debabrata Basu (C) Faw 'g
(D) None of the above m (D) It 7 R W Tell
.5 A
_— e
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i

24, Adice is thrown 3 times and its 3 positions are
given.

) )

Which symbol is opposite to 'I' ?
(A) $ (B) ¢

€) @ (D) ©
Who among the following is considered as

5. ; _
the Father of Ecology in India ?

«sdA) Dr. Swaminathan  (B) Charles Darwin

C) Ramdeo Misra (D) S. L. Bahuguna

Which of the following Ministries has
launched Tree Plantation Campaign

CMMS - 51

e ald) @) 3 s Rt e B s 3ae) 3 fegfaat
Aradmf ¥

SR KD Ko
Dj U_ H V] b

24,

‘" & farrfra Y- v 7 r
':A] $ (B) ¢
) @ (D) 6

25, fr=fafian 4 2 fFa wna 8 miifefed fem
i S & ¥ H 41 S8
(A) =T, FTHFTYA (B) =Ted =T
(C) T i (D) . vE. agm
26, fraffaa o 3 #9-3 vemem 3 darmo
£ wifym " gamin afvam-2021" @Ry
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32. Who moved the Objective Re<olution in the
Constituent Assembly of India ?

{A) Dr. B. R. Ambedkar (B) Valiabh BhaiPatel
(C) Mahatma Gandhi (D) Jawaharial Nehru

33. From the given answer figures, select the one in
which the question figure is hidden/embedded.

X

-—r’r—: H’?'-

a VIV AN

(&) .' A\ (B) (/117,
-—s
\‘_'/,

) e D

(o] = (D)

"

34, Raman drove from home to another town
at the speed of 50 km/hr and on his return
journey, he drove at the spead of 45 km/hr
and took an hour longer to reach home. What
distance did he cover each way 7
(A) 500 km (B) 225km
(C) 900 km (D) 450 km

35. Auto Manufacturer decided to exit india
recantly is
(A) Ford (B) Telsa
(€) Kia (D) Ashoka Leyland

36. Select the correct mirror image of the given

figure, when the mirror is placed at line AB.

CMMS - 51

32 s s e T T R 27

femmmm 7 _
(A) ¥1. . s SEH (B) ﬂmﬁq:za
(C) e TN (D) FETETETS FE%

T # & = sFia g0, fd
& mwgﬁ%"

(A)
\ G

(c) (D)

3zt A i fo 50 Fe R
g i it

w 45 fish vz 1 1fa & madt wend oh =
e v w21 S FT | g AT A 56 T
zhma i wg
(a) 500 fift (8) 25 .
(c) 900 fih (D) asofeh  °
35. aia Ff fred vt @ wim @ Fwes =
< Pl famd '
(A) wrd (8) =m
(c) fem (D) =it oetE
36 & sl wd  wife f, w9 i @
T AB W@ | 5

o xiyh y !

E; ==

L2 - [5)
© ELA o)

(A)

i

37 on heating with formaldehyde

undergoes cross linking to form an infusible
solid mass called Bakelite.

(B) Melamine

(D) Isoprene

(A) Novolac
(C) Butadiene
3§. The ratio of third proportional to 12 and 30
and the mean proportional to 9 and 25 is
(A) 5:1 (8) 2:1
(€) 9:14 (D) 7:15
39. Lalalajpat Rai University of Veterinary and Animal

Sciences located at district of Haryana
(A) Hisar (B} Jind
(C) Karnal (D) Panipat
40, The foundation of Internet was laid in
(A} 1990 (B) 1989
(C} 1969 (D) 1998

41. Reserve Bank of india commenced its
aperation on
(A} April 1, 1944 (8) April 1, 1935
(C) April 1, 1931 |D) None of the above
42. identify the incorrect statement about
Supreme Court of India

(4} The decisions of the Supreme Court are
g" binding on all Courts
(B n not transfer Judges of High Courts.

(C) I
itself,

ove cases from any Court to

(D) It can transfer cases from ane High Court
ta another.

43. A B, C D, E and F are six members of a family.
One couple has parents and their children in the
family. A is the son of C and E is the daughter of A,
D is the daughter of F, wha is the mother of E.
Which of the following pairs is the parents of

37.

B
=

k

the couple ?

(a) cF {8) BC

(C) AF (D) AB
#4. Ringworms are caused by

(A) Bacteria (B) Fungi

(C) Protozoa (D) Virus

i 7

%

&

< CMMs - 51

siifreerdz $ T g =T fats
ava Fififa w0 s gfed 3% qad Faw w
R e e T o B
(A) ArETEE

(C) =T

12 3% 30 % dtet gurgeedt st o shas &

Hre FHIAA] 5 S PR (s
(A) 5:1 (B8) 2:1 { it
(€) 9:14 (D} 7:15 X
wfraren i fra Ford 2 aven snsm g oy frfieen
oy fagm Rafoem e b 7

(a) fiemm (8) i

(C) waTE (D) A

3z 1 ftx Frm o 8 vt d 7

(A] 1990 (8) 1989

(C) 1969 (D) 1998

Wt frard &% 3 s s e e e 7

(A) 13789, 1944 (B) 1310, 1935
(C) 137%&, 1931 (D) IwrEa d @ = 3

WA ¥ FaTed = i it d vem wes

TR |

() waT=a =rarera W fvk sl = w
Ao Ea §

(B) T8 T <A1 % ST W R T
EEAR |

(c) Te Tt oft =yraTerg & e w1 S O
AFEmE |

(D) TE HIE 1 U FoH @A H gAC R
T = ¢ |

A, B,C, D, E 3l fum ftam i 6 meeg €1 qiEwR i
u wrfy F wa-fm i a=t & | A, cmph,
EAFIE R IO F ARG FETAmME |

Fopeafirfram & 8 #a-m gm 2wafa & wi-fom 8 7

(8) =iy

o

(A) CF (8) 8¢

(C) AF (D) AB gﬂf
e (forad) e ¢
(A) (8) o

(©) mm () ey ‘3\%,7
t.- P

(0} g S
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&5. A dgitaly enabled platiorm developed by a5, IdtFreiy == afn of et iﬁiqm 53. Thereisno All-Women Police Station in 53. | AR 5 Efﬁl‘ﬂmr:qﬁ# |
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Eharat Heavy Electricals Limited for renewable
energy and power electronics sector is

A} SenRachna (B) SPARROW

() SPONGE (D} ASPIRE

What is the 11™ Fundamental Duty in Indian

Conssitution added in the year 2002 7

[A} o protect integrity of india

(B misthe duty of parents to provide education
o thesr chiliren between 65— 14 years of age

0 To dewelop the scientific temper and the
spirit of enquiry

(D) To s=feguard the public property

Ten pipes of the s=me type fill 2 tank in 24 minutes.

# two pipes g0 out of order, how long will the

remaining pipes take to fill the tank 7

1) 20 min (B) 45 min
© m%-m (D) 30 min
Friends of armers are

{A) Fishes {B) Cockroach
(© Earthworms {D) Dogs
Durand Cup beiongs to which sports ?
(A) Footbal {8) Cricket
(C) Basketball (D) Baseball

‘Which of the following i 2 sodia! soence theory of
the copornmites for each individual to improve
ther/his quaicy of il 7

(A) Survival {8) Ufe chances
{C) Opportunistic (D} Optimistic

from the bottom in a dass. How many students

~arethere in the class 7
AN ﬁ32
- @3 34

¥ st e oo fefim o fefiem
HE wE § )

(A) ST (8) =

c) =f= (D) VTR

a6 =4 2002 1 wrdte dfaam § =g mn 11 a9 e

wamFE

(A) T W S ) O

(8) wrar-Fom W we Wi & R 3 s A=l @
6— 14 3 3 =7 A% fran w2 =

(€) Amfas wra= i g
yra fatea w0

(D) arERF g ==

w20 TR Uk 8% W 24 Rz A A R

af2 2 greq =S & o E, A Ui 3F F W |

w7 .
(a) 40Tz (8) 4sfe2 O
( 193 e (o) 0z )
S i f /
(a) wafemt () foerap
(C) F50 (D) ¥

. SgE s R AN R FEE R 7
(A) FZ= (8) ==
(c) TRz (D) wmEE

. FofafEs 38 $F-m = qmies faa fag
b, Fosll W fd =) 90 M9 =0 F P
A AR & sEm e g 7
(&) SwifEm [B) == % w@wEAnd
(C) srEwEr (D) ST
Fu f i w4 A i A= A e d TR W
b, wond e Tl R 7

(a) (8) 32
(c) 33 (D) 33 ﬁ
52, % sifedte 7 9 v faim dwwe £

= # oftt 38 el = A wodm & el 39 9
e, e

(A) 3% T w1 AW

(8) Famrez e

() TR P WEwTE (A A )
(D) T ZEH SEETE (v A )

{A) Jammu and Kashmir (B] Manipur
{C) Daman and Diu (D) Meghalaya

‘NOTA’ option is available to voters in which of
the following electians ?
1. Rajya Sabha elections
2. Lok Sabha elections
3, State Assembly elections
(A) 2 and 3 only (B) 1only
{C) 2 only {D) 1and 3 only

55 Who was the first empress in the world 7

(A) Cleopatra (B) Hatshepsut

(€} Hammurabi (D) ShiHu Wang Ti
" 56, Which of the following sacial bonds connect

people to society 7

(A) Commitment {8} Attachmept

({C} Involvement (D} All of the above

In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

(1) &l horses are fishes.

{2) Some birds are fishes.

Conclusions :

/s;- I. Some fishes are bird.

Jl. Some birds are not horse.

1#Y0nly conclusion 1l follows
8 y conclusion | follows
() conclusion | nor Il follows

(D) Botheonclusions | and Il follow

58. The muscle fibres which taper at both ends

(fusifarm) and do not show striations are
(A) Smooth muscle  (B) Cardiac muscle
(C) Both {A) and (B) (D) None of these

59. United Nations Public Service Day is observed

EVEry year on
(A) June 23 {B) October 22
(C) November 11™ (D) None of the above

60. Who got the titie as ‘Admiral of the Indian

Ocean’ ?
(&) Bartholomew Diaz
(8) Ferdinand Magellan

(C) Amerigo Vespucci
(D) Vasco-da-Gama

(a) 7 st wmiic () Hforg
ic) == ¥ da (D) e

ﬁﬂfﬁﬁ'&lﬂﬁﬂfmﬁﬂqﬁﬁnﬂ#fm
‘Sz’ oy e B 7 '

1. FEEN
2. S
3 ﬂn&ﬂmm
(A) F==1 23 3 (8) ¥551
(C) === 2 (D) ¥am 13l 3
ﬁmﬁs:mmmﬁ?
{a) M (B) tzmgz
(c) =gt (D) frgamsh
- Frefafas § 8 #9-3 ewfas s Am s
mEaEEA 7
(&) shamza (8) He=m
(C) srmsifereen () U= =S
. myEiasmiumt, Eamateitn

me f | 3 i gy, 1 TfE= s d==mm g |
WA

(1) =ft o2, weferal £

(2} 7= v, mofeal £

e 22
L. 7= wofoal, wai B o
I B s, ST E |

{a) F== feed 1 FEm AT R
(8) ¥ e | sIEmm A R
(c) ==t Frmd 1 3 81 1 s A R

(D) Fd | i @ e wA §

ar rfm d@g = 29 W W
A o) 60 ot el iR §

(A) 55 F=1 (B) wem 51 =t
(€) (A) 3% (8) 3 (D) FRAFEIA

59. R HYT 0% i 4 e o o A h 7

(A) 393 (B) 223
(€) 1175 (D) ST A A FHEE

60, ‘UETRTE 3% 2 ¥iewm s 9 oy B
] i 7

4]

() fea=
®) m
(c) s Segest

(D) TFE-=-T
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The salaries of A B Careinthe ratio 2:3: 5 51, A C W2 s 8. Ordertoreleaseon probation of good conduct | gy sy syrer ) wirehan
i the increments of 15%, 10% and 20% are e 7 1w lsx‘io:mzm;:’éﬁﬁ ;Hgf;dmonltlﬂmscumrsunder mmlrmfmm:::;:?‘ o fm
allowes respectively in their salaries, then it X (A) Section 359 0f Cr. 7. € (a) e ot B am 356
what will be the new ano of their salaries ? J 0 ST W 7 (8) Section 360 of Cr. P. C. (8) #ham .=, £ wm 360
(A) 10:21:20 (B) 3:3:10 (A) 10:11:20 (B) 3:3:10 {c) Section 361 of Cr.P.C. (C) s+, & am 361
(0 3:33:80 (D) Cannot be determined (C) 23:33:60 (D) Frulfta aufl fae an v (D) Section 362 of Cr. P.C (o) Ham . 6 um 362
Who is the current Director General of WHO ? | 62 i it weeq w0l % weifaitre W # 7 69. Inflation reduces the &9 @0 #df B
(&) Redrose Adhanom (A) teita wam {A) Purchasing power of money : (A) tﬁ.f! Jng
L (B8] Tedros Adhanom (8} iz q‘h'?ll [B) Purchasing power of goods (8} q;;;;n £ 7u e
_C {C) Medros Adhanom ic} (C) Purchasing power of services (C) T 1 ww g
— (D) Mackros Adhanom (D) m'tﬁ“ (D) Purchasing power of property (D) &9 =i 71 vfE
(7)) Rabuil ke vinth : 70. The variability of insolation at the surface of fEwEw W 1 Faer Fems
@] wmumm:‘ﬂmm A mﬁtwwﬂ%m; #Ha N the earth is caused by /'-"D- mt 7 =
o) e e | WET 3! {A) Rotation of the earth on its axis (A) 3 ft ot 9ot =
ﬂ w = (8] 28 (A) SO (B) 46 - §E’% {E’ The angle of inclination of the Sun's farys {8) @ ﬁ m:lain
- @© = ) 48 (©) 52 (D) 48 R |16) Yo jengti; of the ony (C) R 1 e
C Cortsin number consists of two digits whose | 54 e v P s A 2 i § 3t 3 ) g e o (o] X0 ¥4
Q) sum 5 . i the order of digns is reversed, the =amol |aRk siwi = s End =, @ 71. What is the site of Vernalisation ? 71, TFEmETE E AT
| E\ new number i 3 less than the original number. 'S_L-‘ﬁmqamﬂawmtl 4 é (A) Apical bud (B) Laterz! bud =3 (A) Tfi== = (8) A=mwg
The origined mumber is S i 2 (€) Infected bud (D) Necrotic bud €) S=ind 9% TFEE
© A s ®) 36 =5l @ s (8) 36 Q. © ©) -
i Qs i) 63 h () 54 (o) €3 C Y P Corier the following statements sbout . 20 e & ik R el
- 5 atiorm -
Which s the oytoplasmic hybrid produced /.B: TrErene i AR & e | WA I It he!:s systematically assimilate “ﬁﬂ?: .
Q from the fusion of protoplast and cytoplast ? HIETT o B I R 7 /, technologies having commercial I T® R I e see 3 g
=) (&) Cyoris {8) Hybrid (a) wefir (8) TmfEE S potential and information reiated wrdm B EEim e auE s
10 [C) Hybridoma cells (D) Callus (C) wrfaEr e (D) ¥ew @ to Incubatad startups in our higher T A AR W e s S
et ) education institutions, nﬁanﬁﬁmt i
Luﬂuﬁ;nﬂ:nmm 6 LMNOPaMRmmsmwmafEior ,s,;l, ur:l an initiative by Ministry of Science I == EEe gmh
ona is 220 m to the North of # and Technology. ]
E P Lis 180 m to the North of M, which im: HULML%IM‘R the correct option from the following. Ii:rgagq P
s1Smtothe Wesiof NP5 40m to iﬂ"" 19 IPRF. (&Y Dinly the statement | is correct { ’m ! 3
(] the Morth of R and 30 m 1o the East .. smmEEA oM. gwk QL (8) he statement Il is correct (8) W
— of M. Qis 220 m to the South of L ig&qim:ﬂ qﬁqﬂ (] the statements | and 1l are correct < m"“"ﬂ“ =t
) Amit stars walking from R towards S p 8 TRE R SR T A 21 VR (e atiie (0) 3w 3 3 =
o West. After covering 21 m, he turns 74 %4 & wr 9p 7 e & ol 260 M. == 73, The price of one currency in terms of angther | 73. {ﬂﬁwmaﬁ‘jﬁﬂﬁi
()] right 2nd walks 260 m and then turns currency is RN
towsrds East. How far does Amit ‘*rﬁfﬁﬁnﬂﬁmmﬁoai (A) Interest rate (&) Py —
! ‘require to walk to reach O 7 W L : (B) Foreign exchange rate -k (&)
c {4) 25m (8) 19 (4) 2501 (B) 197, (C) Bank rate (€ ==
Ie) €) 30m (o) 21m (c) 30+, (o) 21%f, (D) None of the above (0) %0 3 A Wi 78
An organization that connects its subscribers’ _9‘ EL R ] alﬁmmii#@t w1 5t W 74. Inanon-leap year, the probahility of having 74, % e = 3 53 TR A 53 TEREA B
ﬂﬁuﬁum»mm is S i 52z @ et B 53 Tuesdays or 53 Wednesdays is - witem
) intes : : WwﬁzaﬂtM{ﬁwﬂl (a) 1 (8) 0 (a) 1 (8} 0
S l’lllﬂh I@Hi\%a)mmﬂ 7 7
) 3 2 3 2
(0) 3 7 e (8.2, © 3 © 3 Q3 © 7
““.‘ -11- 53
A

-
- )

@
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75. lZﬂz—lﬂ'll+5:134-1CIu,, -l (20°-107) +5x3+10 _, [ (::: :D! ,E’ ' [A] A (#) 8
Tstabazer i 7 % ac o1 0
l 3 - 1 2iW i‘w? u 5 1. :\:;a:::t'stmmpulmw s:bueﬁt ? & cmatmtnntl
A} 10 {B) 14— 2 1 sy {8) Physics (A) THAEA AT (8) shiaw mmes
3 3 ﬁ (A) 103 8) 143 _ (C) History (0} English (c) (0} 3end
e g B [ e e % 408 e o
r . " ——— - —
o5 ok Raodstor 75~ N, w1 vt ' {Arm-ﬂuia s:m Radia e, g, M
(&) Blended Carbon Copy < (a) ez aT o (A) g (8) Yem
::; Blendsd Copy Carbon (8) wizE WM FEA (C) Magenta (D) Crenatia (c) &&= (D) #3fzm
Blind Carbon Copy (C) =Ty w1 84. Sudhanshu invested Rs. 15,000 at int ’ Jrmad i faus
§/Blind Copy Carbon (D) ==vE w i W 10% p.a. for one year. I the interest s | Wq:“ m?h ﬁlro:é:;o::ﬂlg
77.  Which type of clouds look like cottan wool ? | _77." areeii & #3-3 ven wd & wum Rad B 7 i e ey vhat vk :1_“ amﬁmt.ﬁmﬂtmwm
Ao, Sratuus 1 Ambus (A) s (8) Fresm (A) Rs. 1653750 (B) Rs. 165,000 1 i
-16,537. 65, : . 16,537.50 8) %
(€) Girrus (D) Cumulus c) form (D) (C) Rs. 16,525.50 (D) Rs. 1,150 J‘:E‘; s 25.525.50 (tna 5 ;ﬁgm 20
78. Four runners started running simultaneousiy I8 = e AR 96 W mﬂgi e 85. Important source of Vitamin—A s _85. fefm -uw n‘;ﬁ\ﬂ ata b 155.5
from a paint on a circular track. They took T e | w2 ) () Lemon (B) Cauliflower (a) Fig (8
gmﬂ::a 300 seconds, 360 seconds and 300 #F=, 360 BT 3T 450 AET W @ {C) Carrot (D) Banana (C) =R (D) &=
hmmmhmh m:: m:s;ﬁ:mz:dmﬁ:; mmt“m“imﬁi% 86, ::[r:ai;:z:ls;:e;eo as the founder of Symbolic | 8 wm:mmmmﬂ
point for the first time ? 7 3 |
(A) 1800seconds (B) 3600 secands (A) 1800 % (8) 3600 % “@ (A) Ma TuanLin (A) 1 =R
(C) 2800 seconds (D) 4800 seconds (C) 2400 W% (D) 4800 #%% % f/@ :z: :““E'::d _ :g; ﬁ - {
. arr Smineau
79. Locust befongs 1o order 75, fefigat fow wanfa & sita s & 7 (D) George Herbert Mead (D) = wild e !
(A) Orthoptera (B} Coleoptern {A) sfat2n (8) =ifemEn > 710 21§ S E i b
(C) Diptera (D) Lepidoptera {c) fe=a (D) SfEem 87! I:lrhas;: service to exchange rnn'-sl-mm n| g AW e ferde Wi
i - r tween r mor ople over fafmm i
Direction (Q. No. 80- Q. No. 82) : Read the following | 30 (1. #. 80 -9, ®. 82) : 913 & nf g w1 = EE the mnmi:'“ 3 ,‘m*m“h i
carefully and answer the questions given | 3 ufan sf ol & s difag (A) Indht messaging (8) E-mall (A} ¥z Fafam (8) §-#a
m;‘ﬁmk& £ % and £ 10 3-5chool Wﬁg:;iﬁm! e £ (C) Browsing {D) All the above z!;fi wnfm D) mmﬂhﬂi
i - t=achers teaches two subjects, one HEATS: S Sy i st < SAFTA) B8, & v ST FOU (SAFTA)
SRSy Milvacand (e other optiana) subject B i v dwicen v § 1.0 w1 Ani P i loves ;T.:a::i:::mm E T EmEW? =
s y subject. £ and F have Pivecs |~ iy (A) 2000 (8) 2006 (A) 2000 (8) 2006
as one of their subjects. F's compulsory subject Is N o () 2010 (0} 2004 (62010 (o) 2008
e IE My e o o il 0 Dot g et dnfe B | o e e 0 ) o e e
: T L S bhut in | %= - B9, limit on the 3
et iy s e | D45 o 1o o e e s | AT ) e
it reveDse of U . ] il B) Selling price (A} F¥H
hﬂmﬂk of only one of them. The only female teacher | & ¥ 7w 1 S Fmm t | o t{g mﬁ::rns {{ai ssueh 1 A () =gea e dhwn (D) ean e B
mwmammmsuﬁm Eﬁ@_ﬁﬂﬂm_h 80. Inacertain code, ‘GROUP' is written as ‘TILFK o0 m“'“"?i'm‘uuwﬂ oiieiaml
BO. mmm&ucmm g0, fr=fefim # A fawd s o 4t faw " How is ‘COLUMN’ written in that code ? e ‘C&UM*“MWT
1 optional subjects as those of F's ? Faaama b i (A) XOLFNM (8) XLFONM (8) X@SLFNM (8] XLFONM
%% B) B {:i D (8) B (C) XLOFMN (D) XLOFNM (C) XLOFMN,_ (D] XLOFNM
£ A
( lﬂiﬁgﬁmﬂ P A
E H
"
—— . i
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English Language

Fill in the blank with appropriate word from
the alternatives given below it.
is a gift from my father.
(A) These (B) This
(C) Those (D) Which

92.- Write the words denoting sounds made by

the noun subjects from the alternatives given
below it.

Wings

(A) rumbles

(B) flutter

(C) clatter

(D) creak

93, - Give the meaning of the underlined idiomatic

expression from the alternatives given below
it. (Understanding the context from the
sentence).

His failure in life can be attributed

only to the black ox.
(A) to be at the highest point of glory and

fame
(B) becoming less powerful and acceptable
(C) strong determination
(D) misfortune

947 Choose the right meaning of the following

idiomatic expression from the alternatives
given below it.

With open arms.

(A) Protest strongly

(B) Pleased to welcome something

(C) Keep in safe distance

(D) Avoid being too friendly

35. Choose the right antonym of the given word.

CONCEITED
(A) Detailed
(B) Convex
(C) Modest
(D) Diverge

CMMS - 51

ot

96 fo vz o sy e g AT ST F

st faard 4 ferg, oft fay s & 7
(A) 98

(B) A9

© # %
(D) 38 & 1§ TEl

‘St @ qerat o a7 @
(A) o 7T

(B) T=1 e -

(C) 3@ 3ar 1

(D) ¥ | =hig el

}_aﬁ B st % a1 a1 @1 v R s 2,

38 FEd o

(A) T faa

(B) arevieh farar

(c) feerdan faman

(D) ¥ | r§ e

"W’ W1EE I Wes B
(A) 37T

(B) gl

(C) arm=r

(D) ¥ & =§ &

RERLCE R U
(A) ey a5t

(B) whefar=s =

(C) wraar=g =
(D) T & 1§ 7
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| t 2021 Morning (Set 3)
Haryana Police Constable Paper 31 Oc CMms _
oA;:;mding 10 Mary, the OWners of ¢,
foduction, | a éoci S Of the means 1 urd &
Z ; SR, T T ¥ Jeqrey
(A) Proletariay tr;)'e;a”ed 9 LU S ®
(C) Vassals (D Ourgeoisie (A) wfemr (B) Yeftufy
) None of these
2. Which of g . Sy Srfream 0) iy
1Ongest writta, a8 Constituion s the | ~ 2. fimifRem ¥ 3 iy
A en Consﬁtuﬁon in the world ? >, 8 : ¥R Eﬁm o
) American Constitution Wﬁlﬁiﬂﬂﬁmt ; =
(C) French Constitution Eﬁ (_B) T Ry
(D) None of the abgye a8 (C) reitet wifyur
3. m Is a very high SPeed, expensive Qﬂ ﬁ;j:f Ry
€mory, which js used to speeq : ﬁ,m___'"““ S5 o
the memorv-retrlev_al process. D Hﬁnﬂﬂ‘rﬂaﬂﬂllﬁ F&mﬁﬂﬁ%ﬂm
(A) Cache Memor ﬂmﬂgh[}
(B) Read Only Memo
] ry (ROM — 3=t S
. (C) Secondary Memory ) (8) 4= (ROM)
20 ; (D) Random Access Memary (RAM) (9 mﬂlﬁﬂ
e 4. Inaclass of 60, wh - £ "'y
_ 5 » Where girls are twice that of '
3 boys, Nitish ranked seventeenth from the top, [ ;": T HET ﬁ, gt TeH! ) a}g:n
@ . fthereare 9'gipe ahead of Nitish, how many : WWW#W% R e &
\& Doysare after him in the rank ? ¥ S wat g, TER 1 1 T
R u@ “°(A) 23 (8) 7 ey
(C) 3 (D) 12 k- () 7 &
5. If the female parent bears bj %ﬂ (D) 12
—— =L Dea | ua W 5. LI} OFH 3‘]!]’%1’1"
remova ers from the flower hud hef, Ryen) H 8, ﬂﬂ?
the anther deh; using a pair o ep r: ﬁﬁw# 3 g o
necessary, Thik g hﬁmﬂﬂﬂwﬁﬂm%maﬁmmé |5
\\) v (A) Emasculation (A) Wﬁ“‘"‘*m ST R |
~  (B) Bagging '
B (C) Artificial hybridisation ffg)} ;gqﬁr Ff'#ﬁsr{a‘*m
y’@ (D) Glycobasilisation (D) Wﬂﬂﬁmfhag@,r_,
6. Scheme s being efficient
=i 4 y 6. _ et Fif=a
Implemented and has succeeded in achieving CISIRER mtﬂ?ﬁ%{?:?a? Rrsg
7 its objective of stabilizing prices of pulses, F T2 W?ﬂ%ﬂw
(A) Bharat Stabilization E-‘Und (BSF) (A) 9TH :A—f'--f':mﬂﬁf_
(B) Nation Stabilization Fund (NSF) (B) 1z e fafdy (Nsf)
(C) Price Stabilization Fung (PSF) o (C) 7 Teirmm Al (psk) t
(D) None of the above (D) ST B & %7 72 J !
7. The State of Nagaland created jn ( 7. /ATTCIE T 1 i 7 23 5 i
(A) 1963 (B) 1987 ~AA) 1963 5 1987 'r
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B s

9 +2x27+9
18 +7.5x% 5 - 4
(A) 6.8 (B) 2.5
(C) 4.5 (D) 5.7
9, is the starting paint or a doorwav
“to the Web site
(A) Hyperlink (B) 'vaertext
(C) Web page (D) Home page
10. Complete the foilnwmg analogy :
Paw : Cat:: Hoof : ?
(A) Lion (B) Elephant
(C) Horse (D) Lamb
11. Who among the following is the Indian member
ofthe International Courtiof Justice!(ICJ) ?

(A). Harish Salve
(C) NiV:Ramana

(8) Dalveer-Bhandari
(D) None of the above

12. The Cyber Lawisa subject comes under
(A)"Residuary/Powers(B) : UnionList
(C). Concurrent List (D) State List

-

If: ‘how are‘you’ is written as ‘ne ki se’ and:
w’here are you' as ‘ne bl se’.and 'you were
hgre as ‘keme jo', then ‘you®is written as:
lA) Bl ~(B) ki ~ N\
lC) se (D) ne '}‘{'?‘ \5.5_ 3
Which of the:following States hasdlaunched |
Pran Vayu' Devta Penslon S’theme (PVDPS) ? ¢
(A) Sikkim™ - (B): Maharashtra PG |
(C) Haryana (D) None ofithe above' J

13.

14,

15. Aluminum phosphide is useq,as
(A) Solid mass

(B) Fumigants :
(C), Emulsifible concentrates: #'y,
(D) Water.soluble.cpncentmtes < B0

i
i

T

16. Five persons were playing card game sitting
in a circle all facing the centre. Mukund was
to the left of Rajesh, Vijay was to the right of
Anil and between'Anil.and Nagesh. Who was
to the right gf Nagesh ?

(A) Mukund

(8) Anil

L'égra Group%%ryan&l@bs.in"
SN

—— ',y,.- :

(C) Rajesh

(D). Vijay _
.P\

cmms:‘é's*ﬁ

41_

9+2x27+9
18+7.5x5+4
(A) 6.8 (B) 2.5
/uou.s (D571t 18
9. ¥a | ¥ frg i fog W T
e Al
(A) (8) TERREE T
AL (D) B A
10. ﬁﬂ%ﬁﬁwwiﬁﬁn
e : foreeft ;|
(M) (8) wmeht
(D) WY

11. ﬁﬂ%ﬁaﬁ%mm@uwm)ﬂ

S NTdEERE R Y
(A) & T Aﬁﬂtmﬂ
(C)-@A.a. T (D) I90 o & < T
12) TR A 1 fora foreh Sfeia AR
(A) srafire wfaml - (B) qu gt
ey amarti el (D) Tt

13. i‘ﬂﬁ ‘how aré vou ‘Hlne klse’ 3T ‘where are
.you! 1 ‘nebl’ se’ 3fiT ‘you were here/ @ ‘ke ne

jo’, ﬁmm% @ ‘you'’ Eﬁtﬁmm%
(8) ki

J

“\

& (A) bl
ﬁ' 5 (C) sey a,& 0 -
1'4""f-_ ""ﬁ'ﬂ %mmmﬁm
@80 m(PVDPS)maﬁn 2
ti&*ﬁﬂﬁ)ﬁ) ﬁ[ﬁg:[
Efe _,Mﬂaﬂﬁﬁaﬂéqﬁ
Wﬁ“’?tﬁm@mmﬂ E

Hifea I 2 |
(A) 3 5=

- (e (.

o =

—

o

(C) Tsin
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8 ) CMMS - 53
e &
17.  URL stands for { 17. qem'qa;ai it IE%E
(A} Uniform Resource Locator A qf”i_”i Pt
(B) Uniform Remote Locator (8) qHH ffle Frehex
(C) Unique Resource Loader (C) gfe fratd st
(D) Universe Resource Loader (D) g e wiren
18. The Article of the Indian Constitution which 18. T HRYR w1 FH-T1 gy e afn
protects the life and personal liberty ffea N H@g ?
(A) Article 20 (B) Article 19 (A) 3TT=0% 20 BT IR 19
(C) Article 14 (D) Article 21 (C) =BT 14, (D) =¥z 21
19, Index is used for Wﬁiwwﬁm%
measuring inflation in retail prices. 9 % A S B | %}?
(A) CPI-IW (B) wpI (A) CPI-IW (B) wprI (e
(C) WPI-Iw (D) None of these (C) WPI-IW (D) ‘sﬁﬂﬂ-ﬂ'{?ﬁ
20.  Which of the following is example for simple /2 Feafafea & @ FH-| W@ = Ll
p
umbel inflorescence ? FREOTR ?
(A) Onion (B) Fennel (A) @S (8) Hi®
(C) Coriander (D) Carrot (C) ufn (D) TSR
21. Which part contains the fractions in @ T & -3 fiym AR H § 7
ascending order ?
16 16 11 16 11 16 16 16 11 16 11 16
[A] e R B P - P R R Bt T, —
19°21' 14 RS TIETIETII( g 19°21'14 T ey 19
11 16 16 1 .
[c] __r___l-__ (D} -_61-1_1-11 (c’) H!-]._G_IEE (D} _1_6_:-1_];!E
14 19 21 19 14 51 14 19" 27 19 14" 21
T im0 |(5) kom0 carep,
the male member. p js the only son of C, who Ak Bmwﬁ |Ag TR | b,C
is;‘thg br?‘ther olf A. E is the sister of p. B is Wmﬂ"fﬁgﬁﬁAW s E,DH)
the daughter-in-law of F. whose husband h foay
passed away. ) . 0. has TR | B,F ﬁa—ﬁ% wﬁrwg&:ﬁ |
WhoisC to g ? CBFI®MY?
4 ot v AT
on-in-law . _/I-C) s (D) Tmre
23. A cu::;el is cut in s €Qual parts along a plane O 7 ) 3 g BT 3 363 o e 35 e
parallel to one of its faces, One Piece Is then ¥
coloured red on the two larger faces and green T I ST Iﬁtqa;g?ﬁ,}éaaa%
on the remaining, while the othey Is coloured T et st 9y TR Y o S |
green on two sr;a!:flrs att#:;eclt‘f?nies;nd red on T H D DR a1rem g o T 3R S e @
the remaining. Ea ©32 cubes of B &M e | R T 9 T sy 3 32
same size and mixed up. T a— SRR 3 i
How many cubes have only one coloreq face 5 Nty ”ﬁﬁ%ﬁ;l?ﬂ & s B fFA
each? B TSR
(C) 32 oys ¢ N, - (€32 (D) 8
r _‘L‘.
N < &
T\ e F ¢
i—ﬁ < @ \_
D )
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% CMMS = S1
24. domain type'is used by-US military | 24. o v L A1 | T
sites. ] _@_‘ng |
(A) ore () mil ~n. (A) org mil
(C) comp (D) net (C) com (D) net
25. The largest river in Peninsular India is 25, ST MR TR
., (A) yarmada_ ;' (B): Krishna S (A) THET (B)- &
(c) Godavari /1 (D) Cauvery, e e (D) Frad
26, Secretariat of BIMSTEC is located i @ ﬁ@ﬁﬁ(BIMSTEC]H?mﬁ‘:ﬁﬁW Aok
(A) Beiiirlgl"“ (B) New Delhi (A) iﬁfém (B) 74 fewedt
(C) Katmandu (D) Dhaka (C) HTEATS, (D) Tl
27. Jatin travelled from his, office. straight for 217. S ST gRR A HHT400 m=ears | Rl
400 m. He then turned. Ieft and ' travelled .. Ezq;{goom;ﬂmaamg,ﬁaﬂsmg:l:mi
500 m straight, after which he turned left again hieSd g!éﬂ.%-aﬂt 400 mET I e, fir gTd gl
and travelled 400 m straight. He then turned | %3600 mlﬂ*ﬂ?ﬁ?ﬂ% |ﬂmam
right and w?Iked for another 600 m ‘straight. ' w27
How far is! he from office ? " e
: B) 1.1k
) 18km i3 @) 11Ikm ‘ (A) 1.8 km ) m
(€) 1.0'km TFb| Ahe (D) 14I<rn C k o (€) 1.0km (D) 1.4km
28. Which of the following statements aretrue ? L zb frfeifaa & @ F1A-91 FI aae’ WWIEQ
1. LC:M.'of 10a’bc, 153bc ZOEibzt:2 is - 1. 10a’bc, 15abc, 20ab?c? 1 T TS
120 a’bc™ - s (a8 120?81 »
20 H.GFiof (x* -6x+9)andlx’ —97)is | V15 (x‘—sx,+9)aﬂt(x —27}31‘[113311 [\\ §
(x=3) i 3 0 P g (x - 3) ¥ | @
3. H.CF.of (6X = 7x 3) and (2x34 11X~ z:g is 3, (6x2 = 7x - 3) 3 (2 + 11X —znm Iﬁﬂﬂ
G ) e (2x-3) 1. Q
(A) 2,3 z (B)13 ' (A) 2,3 (8) 1,3 ¥
(C) 1,2, 35 (D) 1,2 ’A' 51,253 (D) 1,2
29, Several ribgsomes may’ attach to-a single 29. ﬁﬁtﬁmuﬂiw mRNAﬂW@Eﬂ
‘mRNAand form a chain. called oK =1 A & ford el St aE
§ (A) polyps ®) poIWestsq‘ (A) wﬂm (B)
{C) polysame - (D) polysacks R. e (p)
30, The lines connecting places of equal amount of @ ﬁ‘fh?l wﬁﬁ 3 g e & et 9 El
rainfall over given perlod of time is called as S F aﬁgﬁmaﬁ't@n FEAT
(A) TA) Isonephs (B, lsohels (A) (B) REIRd
(C) Isobars (D),tlsohyets (C) STTFEER (D), SEEETEH
31. Assimilationisa process of “4in which SATHEIG FLl . HTH Slﬁjﬂliﬁmﬁ
the groups:acquire the | memories, sentlments L e, aﬂ afl“( | m{gi =5 qﬁﬁm e
and attitudes of other groups. FH 20
terpretation and coordination, (A) RTTW Ty
( Interpretation and facl|itatian " (8) w aﬂtgﬁm
(C) Interpretation andfuslon . = wne (C) ~re 3fR e X
(D) Facllitation'and Integration 2 h*\] (D) g el TR
4. N
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32, Heli borne survey technology
— —

lay_rlcﬁﬁﬂ_y‘(.‘g_ntral Government for
(A) Groundwater management

(B) Post-harvest technology

(C) Disease management

(D) None of the above

The Standard Mer
the city of

(A} Calcutta _
(C) Ahemadabad

recently

33. idian of India passes through
(B) Chennai
(D) Mirzapur
34. A tradesman sold
If the selling pric
Rs. 100, there wo
The cost price of
(A) 400 §

(C) 100 ™

an article at a loss of 20%.
e had been increased by
uld have been 3 gain of 5%,
the article (in Rs.) was

(B) 500

(D) 200

35. Which nutritive tissue supplies food to_the

290 to_th
developing pollen grains ?

(A) Tapetum (B) Endodermis
(C) Trachieds (D} Pericycig’
European Atomic Energy Community is
(A) EUKASH (B) EUTOM

(C) EUREKATOM (D) EURATOM

At what time do the hour-hand afd the minute

hand of a clock coincide between 4.00 a.m,
and5.00 a.m. in a day?

36.

37.

O, 40
ﬁ%

7
A 4:222 s (g 4:22-Lam,
11 11

9
(C) 4:21Ham (D) None of these

38. In_thi guestion, two statements are given
_{--.;.olmm%a by two conclusions, Choose the

conclusion(s) which best fit(s) logically.
Statements

1. Some planets are sun.
2. Nosunis star.
Conclusions :
I. All planets is syp,
Il. No starissup,
(A) Both conclusions | and || folloy
(B) Neither conclusion | nor Il follows
lusion Il follows
C) Only conc of,
{(D}) only conclusion'hfollows

CMMS - 51
;.\%aﬁmaﬁwwﬁmmﬁﬁamﬁr{m
et RQAE A
Wi et YEuA
(B) T UvaTd daie
(C) T weem
(D) 390 # @ Fr T
33, mmmm@ﬁmﬂﬁ@ﬁw@?ﬁ
22
(A) e BT =13
(o i (D) Frsiq

38, AW T w St 20% 1 TR T 3y |
afe ma.ﬁomﬁmmaﬁ‘sﬁm

1 A T B | 36 G F 54 e (v o)
framar ?
(A) 400 (B) 500
(C). 100 __Ip¥ 200
#r-mm?mﬁmmhamuﬁaﬁtﬁm
£ Fare ?
(A)agftr (B) Usrefifg
(€) Sham (D) Wasfre
36, vmwﬁuqmq;mfagzrq%
~(A) EUKASH (B) EUTOM
(C) EUREKATOM (D) EURATOM
wf&ﬁwﬁﬁsaﬁ%a‘\aﬁmm@%ﬁﬂ
q‘%aﬂtfﬁqzam{étﬁ—@i%wﬁ?ﬁ%?
(A) 4:22-19—la.m. .(B} 4:22%a-m-
(C) 4:21%a.m. (D) ¥ A ¥ 7
38, "wmﬁ,awﬁw%ﬁrﬁmaﬁm
0L 8 1 3 Rt e 0 o, o
ak:ric ¥
R : ;@ﬁ
1. FBE |
2. T g A}
mﬁ@m |
I. wvft g |
. % TR
(A) Tt | affy )| 2t = §
(B)q?ﬁﬂﬁﬂ;“ﬁnm?%
Il AT
(D)ﬂaaﬁq&mmmm%
s
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1 examiners can examine a certain number of
swer books in 8 days by workirig S hours aday,
r how many hours a day would 2 examiners
e to work in order to examine twice the
umber.of answer books in 20 days ?

A) 9 hours (B) 8 hours
C) 6 hours (D) 7% hours -«
_ N %

 family consists of nine persons A, B, C, D, E,
. G, H and'l in three generations. There is a
eacher, a principal, a holse wife, B
1 doctor, a singer:and three. students. All the
students are.unmarri :

r ngm ried and,there are thro€"
married cd_us'\ siin the--fa'mlTV. Doctor is fhe |

i

father of astudent. A s the grandmothepof G. |
E, a'student, is the sister-in-law of.C; ahouse-
wife.'Doctoris the son of B, principak.There.is
great,bonding between H and his uncle Dql is
married-to-manager F. How s B related to.the)
e
nnot be determin i

(B) Father sty ?\g,p, o

(C) Husband B\ (het |

(D) Father-in-law e q}-@
ons Q, No,41243; Read thefolowingnforrion
werthe given questions.  ~ o«
irector of the Institute has announced that-
e gc’t;u&e;ﬁn different-areas like:keadership,
ion Making, Quality Circles, Motiygtj‘l_gn,__ ¢ "oyt
.sment Centre and G rdhp‘Di’s‘@ussi'i_:iﬁ are to'be
nised only one on e4ch day ffém Monday to
jay. - SR

SHIF

|. Motivation -sho'ulﬂflie'fdrgariibe&?

immediately afte‘r'A’ss’é'ﬁ’sni&nf‘f!ﬁntrgm% _

. Qualityy Circle should;be; organise g;,pn,

Wednesday and should not be followe

e |’

bylGroup DiscUssion.

i #Decision Making should be ‘organised on

" 'Friday and there should be a gap of two

" days petween™ Leadership and ‘Group
Discussion., . 3

IV. One day ther,g .gvﬂl be no ;Iet_:tureh-(Sat!.EHay

is not that 1|;l:_ai__\§r),""just before that day.Group

Discussion will be organised, :

organised ?. w18
(A) Tuesday (B) Friday.

| e AR Y

Which day willthe lecture on Leadership be:

roup "HaryanaJobs.in"
CMMS -S1

nﬁurﬂﬁﬁ:lﬁsti%mmsﬁﬁﬁ@
A dem 3 IO g # 9 I

t,m@wﬁﬁmdﬁnaﬂzoﬁﬁﬁm
FQ % fore 2 et A A & 12 T el

g ?

(A) 9% (B) 8% _
(GF'6 e (D) 7THER

e wiam ¥ i ifet 3 = =fi A, B, C, D, E. F,
G, H 3l 1 2% & | 3l o Riereh, O U,
o TR, T Ve, T S, T T
fichtoe gl o afiated & ot afEn i

I i faarfed | STt o o 1 AT R | A,
GH TR | E,ThHOH, c it 3 9 o et

Nisr o ) 5 Fifte 8 39 0,
e P, e 3, 0, e S
T SR SITEH WA A R T {87 T
v fof e |

l.' : . a’_ﬁ% r e ﬁﬂl
o gl TR R S SRR e
V57, ok e e % sl e e
e 3h e i ag e e el

i

A

. % R 8 e e (e € R
oy TR, S TR Wy = s
W el

o a1 T R A S frn s ?

(A) ATCTATE SN (B)/ YFaR

(€) WEdhesd"aj{

(GRS /wﬁﬁﬁaﬁ\hﬁ
A
FHom\a

B

oy g B, fiftoe o A | H 3R W S
i 'anjiiihﬂmaaﬂaﬁhtuﬁﬁg@ﬂﬂmp \3‘6
WRE" 3 w8 | B, 2 e /i R Y T (
(A) Frufea et foran s whdl
(a)'ijg )
- ©F =
| o (2
a1 43 A 4 7 e ) e & o 3
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42,

43.

45.

46.

47.

48,

49,

How many lectures are organised between @ Waﬂtﬂf
Motivation and Quality Circle ? e ST ¢
(A) Four (B) Three (A) 9T
(C) One (D) Two (C) T
Which of the two pairs of lectures was 43. EF‘FI Gl 3‘”@‘
organised on first and last day ? -
Quality Cirtle and Motivation_
(B) Group Discussion and Decision Making
(C) Group Discussion and Quality Circle C)
(D) None of these } E:I'Ef 1:’! &
I
Programs that multiply like viruses but spread 3 u‘mm Gﬁ 3
from computer to computer are called as
(A) Vi i p (B} Boot “E"é'g M
) Virus ) Boot (A) ATETE
(C) Worms (D) None of these
b \-
It refers to the denial of opportunity for living/|/ 45) ¥& TH et
a tolerable life Hefifq =t ¢
(A) Economic poverty WW
(B) Collective poverty 7 (B) Wmfe
(C) Income poverty ; (C) ¥ =
(D) Human poverty ’ . (D) HHE TLE
The Logo of Reserve Bank of India 46. R fed o
consists of which animal ? e i
(A) Tiger (B) .Dog ./f{)liﬂﬂ
(C) Lion (D} None of the above (c) fe
Corals have a skeleton composed of T T T
(A) calcium bicarbonate (A) FimEm
(B) calcium carbonate ﬁ-ﬁmm
(C) calcium sulphate (C) Hfcyram
(D) calcium hydroxide (D}_W
Train A crosses a stationary train B in | A AT R
35 seconds and a pole in 14 seconds with the A ‘
same speed. The length of the train A is 280 AL
meters. What is the length of the stationary -QSOIﬁ?{% |
train B ? / &
(A) 400 meters (B) Cannot be determined (A) 400 Hiex
(C) 480 meters (D) None of these (C) 480 Hi
No person accused of any offence orcrimecap | 49. Tt +ft amw:
be compelled to be a witness against himself/ MERILRICIEE
herself. This is termed as BRI
(A) Right against self-incrimination (A) HATeH-3T
(B) Right to remain silent (B) TY & 3
(C) Trem &

(C) Right to privacy
(D) Right to freedom of expression

H,,/}L/

e




B

50.

51.

52.

53.

54.

V4
£ /[ o’(-l\f

2,

56.

57.

58.

59.

\s ¥
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in which of the following interaction only one
of the species is benefited ?

(A) Competition {B) Mutualism

{C) Parasitism {D) None of these
India has become Second Largest Emerging
Green Bond Market after

(A) EU (B) UK

{C) China (D) USA

Those who are working in the formal sector
enjoy \
{A) Cultural benefits

(B) Social security benefits
(C) Economic benefits

(D) Educational benefits

The results of 21 matches {(WIN, LOSS, DRAW)
are to be predicted. The number of different
forecasts containing 18 correct results is

() M€,y (8) ' y-2°

(C) ¥C (3)? (D) 'None of these
when did Portuguese traveller Nuniz reach’
the Court of Vijayanagara 'S

(A) 1567 CE B) 1556 CE
(C) 1520 CE (D) 1535CE

55. From the given alternatives find the

correct relationship that holds the two
terms together.
FlULs,B0OQQ:
(A) HMEC: (8) HMEMYZ 1,
(C) HCMM,_A®T HMNC A ™"

Thick cuticle on their leaf surfaces and have
their stomata arranged in deep pits is a
characteristics of 3

(A) Mesophytes
(C) Desert plants

connection
to Tink two or more sites
Leased line

charge.

{A} Broad band !B;

(c) 1sDN p) Cable modem
Chaudhary Charan Singh Haryana Agricultural
University established in

(A) 1980 (B) 1975
(C) 1965 (D) 1970
A tax that the government Imposes per unit
sale of output Is
(A) Gift tax

(C) Direct tax

s LHRX:?

i, M

(B) Epiphytes
(D) Hydrophyte plants

is an affordable: way
for a fixed monthly

(B) Unittax
(D} G.5T»

\4{3,\1}‘\

3.

CMMS - 51

50, Pretferian i A fir smifen &
aomrent? S G

ui (B) s
(c) weahfemm (D) T & Y T
51, W@ __ % @’ gE wad @l WA
Eﬁ?lg%mnaqw’u &
(A), (8)
P (D) 7w
52, ﬁm%ﬂﬁmmﬁﬁ,% F
are e | oA
(A) QiEHfF T
Pl AT L& v
(c) fd= @,
R UCEIS I
g3, 21 &9 % oRom (WIN, LOSS, DRAW) H
qﬁrmwﬁﬁwﬁ%uaaﬁq&mq‘iaﬁﬁfw
qatgal A
ncm (8) ncm'za
(€)2C,, (3P _ (D) T A A
54, gﬁfﬂiﬁ%@mﬁﬁﬁﬁ?
(A) 1567 St /B‘)/lssa‘éﬁ‘l
(c) 1520 (D) 1535 §&ht
55. ﬁqmﬁaﬁﬁﬁﬁsﬂq’aaﬁgﬁsﬁaqﬁ%aﬁa
e Gey U 8 | ‘
FJUL:BOQQ :: LHRX :? %ﬁ
(A} HMCC (8) HMCM ®
(C) HCMM HMNC
56. of g W WA B sl v gu emEfeE W
£ e frsen 2 1
(A) THERE (B) 3tfraEg
.//'31 TEEgE el (D) STAg]eR e
57. aﬁam@ﬁﬁufﬁanmwﬁam
AW uﬁmwﬁﬁsﬁgﬂmaﬁumil
(A) STe ¥E (B) WErFA TEH
(€) TREAT. A e wien
58. a\uﬂamﬁsWuapﬁﬁnﬁamwﬁl
HEES !
(A) 1980 (B) 1975
(C) 1965 1970
59, 5 R R T 7ot forl o AT @
(A) FTBR T (B) YT
PRREER /ua) Hwmd.

N



e oi of R RUTRID PlaggIEIONS Tyt e

s (Nssr)aﬁ’rmcmaﬁ____ﬂwﬁ‘lgh
with effect from the year

B) 2019 YExm

(A) 1999 (B) 2019 (A) 1999 x (8) lo75 @

(C) 1969 (D) 1979 (€) 1969 Pl g
61. is an amphoteric oxide. . T Iy Aiqase 2 |

(A) ALO, (B) K,0 | (A) ALO, (8) k0

(C) cuo (D) Na,0 (C) cuo (D) Na,0 .
62. If the diameter of a cylinder is 28 ¢m and ﬂﬁ@ﬁﬁ'—]ﬂﬂmzs cm? WWW

its height is 20 cm, then total surface area 20 cm %,H’IWW LT (em2#d) 2

(in cm?) is

(A) 2229 (8) 2992 (A) 2229 (B) 2992

(C) 2993 (D) 2292 (C) 2993 (D) 2292
63.  The ‘Nord Stream 2 Pipeline (NS2P)’ recently -) T @ 8 ==t d m i =i o NERGIERS

seen in the news connects which of the (N52P¥ Fefefaa Ta E’I%&ﬁ‘q’ﬁ

following two countries ? et @ ?

(A) Germany - Russja (A) s - wH

(B) Germany - France ‘. (B) st - )

(C) Denmark — sweden (C) T - ey

(D) U.S. - Mexico (D) U - AfFgsy
64.  Whatisthe minimum number of cuts required {7 g4 TH T F) 324 ZHe w3 fore sifesa @z )

to cut a clibe into 324 pieces ? AITH TR 7

(A) 20 (B) 19 (A) 20 (B) 19

(C) 18 (D)- 17 (C)-18 (D) 17
65. The Tertiary Sector of Economic activities (g5, aﬁmﬁﬁhﬁa‘i%m a3 1 yifirer ¥

includes

(A) Transport (B) Banking (A) Tieeq (B) sifm

(C) Education (D)., All of the above (C) T . wft
66. ri

efers to the number of pixels in 66.

the horizonta| and vertical directions on the
screen.

(A) Color depth (B) Resolution (A) T Terpa AT e
(C) Refresh rate (D) Dot pitch -(C) Ty ¢ (D) ez iy
67. Kala-azar disease s caused by 67 - IR
. FUBER |
(A) Anor?heles (B) Elephantiasis - (A) Cifes (B) wferhfeufey
) Lo . °
(C) Leishmania (D) Malanar\ TR (D) waifar |
68. Select the correct mirror image of the given | ¢ A il
_ _ . 1 9 2d0 wRifig I S gqur )
figure when th
gure Ihe mirror is placed at line g, LGy ABWI@: TR |
A5ThRO>?P gﬁﬁ ASThRO>?p
NERE
B

(A) V2LPEO>Sb  (g) 9<CoSIHT? A

B
(A) V?-U-'KO:"L B) 9<SoSIHTZA
(C) I°<OAdTCA () VLHEO >, $ (B) 9<SoSIHT

/(a °<0s1dT2 5 (D) V2IHKO3>h
-10-
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(A) Madanlakg (‘3‘7

(C) Rasbihar QZH ( é gamm G
The final match of Durand Cup football was /
held at

(A} Bhuvaneshvar
(C) Kolkata

(B) Chennai
(D) Hyderabad

Consumgnon which is is independent of income
is called as

(A) Wasteful Consumption
(B) Past Consumption

(C} Induced Consumption

(D) Autonomous Consumption

Four-fifth of ‘a number is more than three-
fourth of the number by 4. The number is

(A) 84 (8) 80
(C) 64 (D) 72
|
73. i5-a input-device.
{A) Keyboard (B) CPU

(C) Motherboard (D} Moniter._

is the most successful and widely
used artificial sweetner which is roughly 100
times as sweet as cane sugar. .| " .-

(A) Alitame (B) Aspartarnelm ’q
(C) Saccharin _ .. - (D) Sucralose Qﬁ%
The emerging novel concept, is a zero -carbon
fuel made by electrolysis using renewable
power from wind and solar to split water into

hydrogen and oxygen
(A) White oxygen (B) Green oxygen

(C) Green hydrogen (D) White hydrogen

A meaningful word starting with A is made
from the 1%, 2™, 4", 5" and 6" |etters of the
word ‘CONTRACT". Which of the following is
the middle letter of the word ?

Foup “‘I—mgg'aJowsﬁhﬂ“

w wmmmwﬁuﬂa % e |
(A) W (8) ==
(C) Shersh (D) TG

71. 3 | WO G FEer &

' (A) =5 @um
(8) 9 @ya
(c) fa @

AD) EHIE G

72, UF G 1 IR-Yied Y HEd1 & - @
s R | dE R
(A) 84 /ﬁﬁo
(C) 64 (D) 72

73. & 3 2

LICIER (B) @ty %
(c) uaaaﬁ-s‘/‘f" (D) n‘r-ﬁq
gatfies gee i gga §9 8 W&

#1 5 e Ffm v 3, AR =
TR & 100 TN 31fire HiE § |
(A) Teim (B) wEmRn
(c) A * (o) gFTE,
IR T BT T Y FTEG I R Aferefio
¥ gt % Tou v o 5l @ Aol I
SR % I R T7He T O I FEA
e CiCI b .
TA) W Al (B) whe im0
(C) & T (D) Yo ETEgW

5 ‘CONTRACT' & T&dt, W, =, qfed 3l
BIHMAAY ﬂaﬁﬁmmmﬂmwm

T 8, T T WEq T &R F :
(A) T (B) R BAC o1 -
(€ c (D) O

A) T (8) R
{(C) C (D) O C,/<?'J\
4,12, 36, 108, 7 e 77. 4,12,36,108,7 _ P/
(A) 364 (B) 324 (A) 364 324
(C) 180 (D) 240 (C) 180 (D) 240
-11- N
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78, -

79.

80.

Join Telegram Group "HaryanadJobs.in"

81,

82,

83.

refers to the motherboard's gometry,
dimensions, arrangement and ~ electrical
requirements.

(A) Circuit Board

(B) Processor socket
(C) Form factor

(D) Chipset

A badge having two Stars and a Ribbon %" in
width, half red and half blue worn horizontally,
red colour facing the stars belongs to

(A) Head Constable

(B) Assistant Sub Inspector

(C) Inspector

(D) Sub Inspector

The efficiency of Carnot engine is 50% and
temperature of sink is 500 K, I temperature
of source is kept constant and its
efficiency raised to 60%, then the
required temperature of sink will be

(A) 500K (B) 400K

(C} 100 R=-. (D) 600K

The Labour Ministry has launched the National

Database for Unorganised Workers {NDUW).
Itis )

(A) e-Dhan bo&al

(B) Shramajeeviporta|
(C) e-Shram portal

(D} e-Ruju portal

Study the following number sequence ‘and
answer the question given below it.
51473985726315863852
243496

How many odd numbers are there in the

sequence which are immediately followed by
an odd number ?

{A) More than 4
(B) 3
(c) 1

ERiE
D) 2

The fourth term of the series whose n'"term is

In+2 is
5

(A)3

(B) 14/5
(c) 12/5

i (D) 13/5

The Woman leader Kanaklata Barua who

Participated in the Quit India Movement

belangs to A (8) Bih
(A) Bengal gar
(C) Odisha (D) Assam

CMMms ~91 .

1 g TS Eﬁ‘rm o
ey 3R sAfFge ST '
(A) T2 Wt (B) SR Wik
(C) i dae (D) ferde

o A forert Q) iR i % gl 1w oy
o 3 el fien AN S A I Em o
L el

C

FHIE 99 A e 0% 3 i w1 oan
500K & | 3fa Hi =1 a1 Frega wan smen 2 o sa)

& 60% a5 Tl 2 | e &7 Aifvd qrg g
(A) 500 K (B) 400K
(C)\100 K (D) 600K
81,9 el # ey s % R g
szeE Y& R d T d
(A) v Oidm (B) st 9idw
- i (D) 3w
82, ﬁﬂ%ﬁaﬁ@%mmmﬁ i A= fag
I I
%ﬁﬂﬂ@zs@sssaasz
243496
oaen 3 e & s g e o
o gem 2 7 T
4% stfirs ®
(€)1
(D) 2
mﬂﬁmwammmnai
! T2 3n+2
(A) 3 (8) 14/5
) 12/5 (0) 13/5
FHAN Ty i;mai'hm*ﬂ..____ﬁﬁ
(B) forgm
4/(3 St (D) 3r\y

12-
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85.

87.

P20

There are total of 41 “students in a class.
Each of the.students can play at least one of
‘the three games — Badminton, Football and
Hockey. The number of students who can
play only Badminton and Football is 12, only
Football and Hockey is 14 and only Badminto

and Hockey is 10. The number of studen

who can play Badminton is 25. If the numbér
of students who can play only one game is the
same for all the three games, then find the

number of students who can play all the three
games,

(A) 10 (B) 4
(€)1 (D) 2
SDRAM stands for

(A) Standby Dynamic Random Access
Memory *

(B) Systematic Dynamic Rando
Memory
{C) Static Dynamic Random Access Memary

{D) Synchronous Dynamic Random Access
Memory
*

Under this Section of CrPC, a person who

is avoiding execution of a warrant may be
proclaimed absconder

m Access

-13.

(&

w41 3 Tt 41 O § | 39 @ yAF oW,
%ﬁ,ﬁ?ﬂwm,ﬁm@ﬁﬁﬁm
3§ T A A g § | daet peater oM
Aefier A ol B dEn 12 3, 9w
GeaTe i BT eram 14 ¥ ol e Fefiie
3 7 @t 10 ¥ | Asfie deEe ol
EAEH wEw 25 1 Hae T AW Ao ont A
ﬁ%mammh%mﬁm

TN TR m S w7
(A) 10 (B) 4

(©)1 (D) 2

86. WH.q.AM.U.H. F Hawa
(A) Teams s Yo wdE
(8) Rmifeas errifirs Yeu wairg duv
/fmmmmmﬁﬂ
(D) Rsata srarfiver Yew v Ay

(A) 84 (B) 83 - --.[(8) 84 (B) 83
(C) 81 (D) 82 {C) 81 (D) 82
Amrita Devi Bishnoi National Award is instit ted 88, T Tl 1
by Government of India for e e m%g WMMW
(A) Energy Conservation (A) s Tegmo ’
(B) Water Conservation - (B) vt wtemy
. (C) Wildlife Conservation I S gy
(D) Lake Conservation (D) #a wrany
The focal length of a convex mirro Cﬁ'lﬁa a‘ar§ ﬁ‘rm-aﬁ EFI ﬁan
radius of curvature js 32cm " Whose 1;?::_‘; .
(A) 16 cm (B) 30em (A) 16 ¢m
(C) 64 cm (D) 32¢m (C) 64 t8) 30cm
| tm (D) 32¢m
———— IS an expansion carq that all;:w t 90 ﬁ“?ﬂ'm FE 3 y
computers to ¢Gmmgn; o R
phone lines, ~ —— -3t OVer ordinary F B T % maﬁ z’t%
(A) Video carg m l o
(8) PC card (A} i g .
lC§ Network Interface Card (8) .4, b
Modem m'ﬂﬂg
(D) Wiy

L\

\"

N\
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CMMS -s1
y English Language - m\ < AT
% F:' UP the blank in the following sentence using | —— et & a7t “aif ey R
t " N L B
T: noun forms _o_fﬁrd Biven in bracket, ﬁrﬁw__u]__mj |
& accused had nothing to say in his own T
~—__ (defend). (A) "y
(A) defendable (B) defensive (B) shHaETE
(C) defeng defence s
o 1 (C) srprierain g, o
*Inthe following question, there js 3 statement "
- Fon, D) s 3
Lnllowed by three starters which are denoteg Pl
Y a, b and ¢, Each starter is a group of the ) \
first few words of a sentence which, on proper W% Fr e & 7
completion, is supposed to convey the same (A) &9
meaning as the original statement. Find out
Which starter(s) can form Brammatically correct (8) IR
sg_nggng{;)_to convey the same meaning as the © @
original statement. -
Neither of her sisters s as beautiful as she is, (DI %7 @ 7 e
a. Either has sisters
b. Both hersisters.., * 98 ‘=1’ 1 vatgare v 2
c. Sheis more ... sifivem
(A} Onlya (B) Onlyc ’,,m‘
(C) Only b /,(.D-) ‘None of these (8) Tgg
93.  Fill in the blank with appropriatelgod (c) frmn
the alternatives given below them, (D) T § FI¢ 7
It rain tonight.
(A} shall may 99. A V= R vy e S 8, 39
(C) can (D) could TEEAE |
94.  Choose the right meanifig of the AR Ty
idiomatic expressions from the :
alternatives given below it, (8) ¥
Have an axe to grind (C) rfoermy
(A) Having great problems ™ (D) T &
(B) in a difficult position + s
(C) Having private reasons for being involved . .
insomathing 100. ‘TR ——— TG AT @R
/LD)rDeIiberatelv avold something/someane AT
95. Choose the right synonym of the given word. [;J% (B) 3w
WAL
AupAcious (! . EXEE (C) wwu
TAvA ) abble
aring (D) 8 ¥ i
A/[‘:])'?s:ound (D) frag]le.

-14-
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1. Section 66(E) of IT Act deals with
(A) Punishment for violation of Privacy
(B) Phishing
(C) Cyber sllafking
(D) Spamming

2. Find the number of straight lines in this figure.
-
I

. There are two numbers such that the sum
of twice the first and thrice the second is 18,
while the sum of thrice the first and twice
the second is 17. The larger of the two is
(A) 12 (B) 4
(C) 6 (D) 8

L.  AGP Stands for

(A} Accelerated Graphic Pen

{B) Advanced Graphics Pen

(C) Accelerated Graphic Port

(D) Advanced Graphics Port

{A) 10 (B) 15
(C) 13 (D) 12

5. When did Treaty of Versailles was signed 2
(A) 1918 (B) 1935
(C) 1920 (D) 1919

6. |If the radius of the base of a rlgih't circular
cylinder is halved, keeping the height same,
what is the ratio of the volume of the reduced
cylinder to that of the original one ?

(A) 1:4 (B) 8:1
(C) 1:2 (D) 1:8

7. ‘SVEEP’ stands for
(A) Systematic Voters Enrolment and
Electoral Participation
(B) Systematic Voters Education and
Electoral Participation

(C) Systematic Voters Engage and Electoral
Participation

(D) Systematic Voters Enrolment and
Education Programme

ryana Police Constable Paper 31 Oct 2021 Morning (Set 4)

cMMS — 51

ST A, fafrrm ) vy 66 () Pl it & 7
(A) mMrrfrren 3 e & fero won
(B) forfdm ;

(C) Hrgan Eﬁ-iin'-/
(D) #fi
7 a1 oy ﬂmﬂ‘r ) T g #i |
N
= /
(A) 10 (B} 1
(C) 13 (D) 12

Tt 21 vt § o weefl % 2 ol 2wl F A
TR &1 40T 18 R, S vae F A9 3 ol gat
F A FAM 17 B | 21 A § 9 v
(A) 12 (8) 4

(C) 6 (B)/8

AGP 3 Wqra ¢

(A fFrEte itk 1

(8) w=aTwE mitkwg 91

(C) ufaeites mitss 9 ®

(D) w=aTHE Ui T2/ gﬁ
Fata $i dfym = sem fegm 7

(A) 1918V (B) 1935

(c) 1920 (D) 1919

afz e o S # B T 5
mﬁ?ﬁﬁqﬁmmﬁmmﬁlﬂ%@
A F ST 1 Y Ao AT & I
FE ¢

(A) 1:4 (B) 8:1

(C) 1:2 (DL 8

‘SVEER’ &1 Haed 8

{h(@mﬁzﬁq@aﬁa@m
e :

(B) ferAfees ded G U8 TR

(©) méﬁﬁ'ﬂiﬂﬁzﬁ@q@m

(D) ﬁ(@ﬁﬂﬁmwﬁz“wm




10.

21:

In 'this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

1. Some apples are banana.

2. All bananas are fruits,
Conclusions :

I. Some fruits are apple.

Il. Some bananas are frults.
(A) Only Conclusion Il follows
(8) Both Conclusions | and Il follow
(C) Neither Conclusion | nor Il follows
(D) Only Conclusion | follows

If the word PATCH Is written as QBUDI whereas
BATCH is written as

(A) CBUDI
(C) BCEGH

(B8) ACDFH
(D) CEGIKH

Consider the following statements about
minimum education gualification to contest
election of Lok Sabha and Vidhana Sabha,
I. There Is no educational qualification for
candidates for being an MP or an MLA,
Il. Putting an educational qualification will
deprive a majority of the citizens right
to contest election in India,
Choaose the right option given below :
(A} The statement | |s correct
(B} Both the statements | and |l are
Incorrect
(C) Both the statements | and |l are currecs?
(D) The statement Il is correct $ .

In anclent times the term Urvara used
to Indicate

(A) Fertile soil (8) Sandy Soll

(€) Waste soll (D) Sterlle soil

If (x=1) is the H.C.F, of (x’ - 1) and
pf}-;q.(_x + 1), then
Wpadq

!ﬁﬁa‘-ﬂg _

(8) 2p=3q
(D) q=2p

10.

11.

12,

13,

CMMS - 51

1 § fork a R el

i, 8w RUITCE B i
kit S anfife & gaem

fa e | 2 Fored T
giwm At |
weA ]
1. %0 oW e B |
2w Ferwa |
forerd :
I, o wel wa |
Il o et e R
(A) e Fed || SETET W i
() Frsd | afho 1) A e w8
() 7 Freed | 3 € )1 ST SRR ?
(D) ey fiad | TN ST R
aft PATCH wrse #) QBUDI févan s R, M
BATCH ) #ry R s
(A) CBUDK (B) ACDFH
(C) BCEGH (D) CEGIKH
e st R w1 g el & R
e (R st 3 Wit W Fvaffm Al I
forent i | -
|, s freen €19 ferg avfirad &
fap ?ﬁ%"ﬂmﬁn-l. Ayt el E‘ | i
11y e e T 8 e 3 e e *
\ﬁlﬁw.u 2 arfvr i i @ s |

Q@ﬂlﬁﬂi‘m iR wet Ree W s

>
£

(A) e |l R

(8) == | afr e ae ad §
(€) W w1 afv 1) wedng
(D) e | B

sl e el e i o e W
# fere 3w g wren w7

i

(A) 3t fird)  (B) Wheh frh
(C) g el (D) W foh
afg (= 1) M pe - g (x4 1) W HEww
wwTaden (x - 1) 8, @

(A) p=2q.~ (B) 2p=3q

(C) 3p=2q (D) q=2p
el s ¢ v ek el % g s e
9 =10t - 50t + 250 R, # Yew
t=3sw }

(A) =10V B -

(G 180y (8) ~190v

(D) 10v
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14,

15.

16.

17.

18.

19:

20.

Mohan bought a watch with 25% discount
an the selling price. If the watch cost him
Rs, 1,545, what Is the original selling price
of the watch 7

(A] Cannot be determined

(B) Rs. 2,050

{C) Rs. 2,040

(D) None of these

Amnesty International is an Institution which
promotes

(A) Fundamental Rights of the citizens @
(B) It promotes peace in the world

(C) Fights against ineguality in the soclety
(D] Human Rights all over the world

Which number will come in the place of
question mark 7
5, 6,15, 50, 207, ?
(A} 1000

{C) 1050

(B) 1544
(D) 1044

1 : are used for connecting
communication devices like mouse

and modem,

(A) Serial ports

(B] Integrated Digital Electronics (IDE) ports
(€) Universal Serial Bus (USB) ports

(D) Parallel parts

In an exam conducted for 38 students of
class Xil 15 passed in Biology and 25 passed in
Chemistry. If at least 1 student failed in bath
the subjects, find the maximum number-of
students who passed in only Biology. (),

(A) 5 (B) 15

{c) 12 (D) 10

From a point B Samir started walking
towards South and walked™a0 m. He then
turned towards his left andWalked 30 m and
reached a point Q. The point Q is at what
minimum distance and at what direction
from the paint P ?

(A) 50 m South West (B} 35 m South East
(C) 50 m South East (D) 45 m South East

A region with a large number of deep gullies
or ravines is called a

(A) Valley topography

(B) Badland topography
(C) Bordaned topography
(D) Coastal topography

14,

15.

16.

17.

18

19,

20.

CMMs - 5,

ate 3 fagn gra 25%@%:_“:;1:5%
aitd) | aft 38 ot & Fm s, 1,545 s
w3}, At w1 e foa g by

{A) Frffea = Bk

(B) %. 2,050

{€) . 2,040

(D) 3 @ v ot

A ETE T R
g e # ) o
(A) i & dfers sfin ﬁ?
(B) e i 3 wnifes ) a2y o0
(C) Turst & spaurren % fiaems erem &
(D) T gfn & i

w7 P % v o F e - e s 0
5, 6, 15, 50, 207, ?
(A) 1000

(C) 1050

(B) 1544
{D) 1044
H e F fore g den 2
(A) G G
{B)- RueE fefves yemgifram (10g) v
NGy gfaeda whfaet 7w (Use) w2
(D) wmraw uré

U mxlj%asw%ﬁuw&ﬁamwﬂmﬁ,

15 Sftafamm # umw § 3% 25 wrEET § T
¥ 13R 1 7 2 ot e B, 7 e <t
T g g BTl it srftrwam e yA |
(A) 5 (B) 15

() 12 (D) 10

' fiig P& wl afin #1 i we amw
mta-ﬁunn‘l.iam%a;hﬁw%;
and g 30 ft, e & o

Q % ygwm # | fiig q, fig p & et
mam{nmtaﬂkﬁgf/#ﬁmﬁmﬁt?'
(A) 50, =fior ufyery (8) 35 . Zfem

(c) so#t. zfdmagd (D) 45, afm g
=t e 1 et rfer A aTiedl () e 61
FEmamE?




21, Kantilal mixes BO kg of sugar worth of

Rs. 6.75 per kg with 120 kg worth of Rs. B
per kg. At what rate shall he sell the mixture

to gain 20% 7
(A) Rs.7.50 (B) Rs. B.85
(C) Rs. 8.20 (D) Rs. 9

22. A person making false documents with the
intention of causing damage or injury to the
public or any person is called
(A) Cheating (B} Fraud
(C) Forgery (D} None of these

23. Whois the current Cabinet Secretary of India ¢
(A} Rajiv Gauba (B) Ajit Seth
(C) P.K.Sinha (D} None of the above
24. In Youngs double slit experiment, the
distance between the two slits is 0.1 mm
and wavelength of light used is 4 x 1077 m.

If the width of fringe on screen is 4 mm, the
distance between screen and slits is

(A) 0.1 mm (B) 1m
(C) 0.1cm (D) 1cm
25. The value of
(0.0347)" +(0.9653)°
(0.0347) —0.0347 < 0.9653 + (0.9653)"
2% (A) 0 (8) 30 ¢
(€) 10 (D) 1 \2\((}
26. popularly known @

all-in-one printer, is a device tha
consolidates the capabilities o
devices in one machine.

(A) Laser printer (B) Inkjet printer
(C) Hydra printer {D) Drum printer

27. Read the data given below and based on it
answer the following question :
A B CDEFand (gare 7 houses in a rnad
which are facing east, C is sitting to the righ
of D. B is one of the corners and E is
nelghbuur Gisin hetwean EandF and D is
third from south end.

tiple

Ea%sl neighbour of whi:h of the following
CE !s G

21.

22,

23.

24,

25.

26.

27,
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P x Q means P is the sister of Q; P+ Qmei;;us
P is the father of Q ; P — Q means P is the
mother of Q. Which of the following means

Sistheauntof T ? %ﬁ
(B) S+TxM

(A) TxM+5
(€} SxM+T (D) SxM+R-T

hold the information that the CPU
s currently working on,
|A) Control Unit
[C) Output Unit

Inited Nations was established in the year

(B} Input Unit
(D) Registers

'A) 1965 (B) 1945

(C) 1942 (D) None of the above
hronic liver damage is called

[A) Cirrhosis (B) Lambaosis

[C} Poikalosis (D) Lardosis

L man rides at the rate of 18 km/hr, but
tops for 6 mins to change horses at the end
fevery 7" km. The time that he will take to
aver a distance of 90 km is

i) 6 hrs 18 min. (B) & hrs 12 min.
2) 6hrs (D) 6 hrs 24 min.

Haryana the First Krishi Vigyan Kendra
as established in

\) 1970 (B) 1983

i) 1980 (D) 1976 '

4. 120 men had provisions for 200-ddys.

After 5 days, 30 men died due to an
epidemic. The remaining food will now
last for

(A) 150 days
(C) 245 days

(B) 260 davs
(D) 146 days

he leaders who were behind the
stablishment of UNO are

A) Franklin D. Roosevelt, Joseph Stali
Winston Churchill =l

B) Wudro Wilson, Winston Churchill,
JuseEh Stalin

C) Fran :m D. Roosevelt, Winston Churchill,

D) Franklln D. Roosevelt,
Winston Churengic ™ tenin,

dow much angle does a minute hand cover
in 20 minutes ?

(A) 120°

(C) 8o [E).e00

(D) 18p°

28.

30.

31,

32,

34.

35.
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37. Incase of an ore containing ZnS and PbS, the

depressant used is
(A) ZnCN (B) NaSCN
(C) NaCN (D) PbSCN

Vision "SAGAR’ (Security and Growth for All
in the Region) is related to

(A) Indo-Pacific (B) Indo-Bangla
(C) India-Caribbean (D) Indo-China
Where did Napoleon Bonaparte die ?
(A) St. Helena (B) Nile

(C) Corsica (D) St. Elba

38.

39,

A train 270 meter long is running at a speed

of 36 km per hour, then it will cross a bridge
of length 180 metres in

(A) 50 sec. (B) 45 sec.
(C) 40 sec. (D} 35 sec.

Which of the following pyramid is always
upright ?

(A) Energy

(B) Biomass of aguatic ecosystem

(C) Number

(D) Biomass

i1,

42, also known as the system board,

is a large multilayered printed circuit board
inside a computer.

(A) Motherboard
(B) Basic Input/Output Systems (BIOS) \2‘

(C) Control Unit

(D} None of the above §
Mason : ?

{B) Film

Teacher : Education : :
(D) wall

(A) Shoes
(C) Book
-44. Carbohydrate, protein and fat
- metabolism in the body is regulated
FSH

by the hormone .
{ g Oxytocin

A) Adrenaline
€) Thyroxin
The state of World Population Report is an
'Qmﬂéll‘tpcrt‘pubﬁshed by
nal Labour Organization (ILO)
men (WHO)
United ulation Fund (UNFPA)

37.

38.

RN
I.:]I .:'3’.‘

L O]
39.

40.

41.

43.

45‘
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46. Net National product

£t (GNP) = — _
rm:ve:tmcm (p) Deduction

(C} Depreciation {D) None of the above

ConsiderrrmruiruwingstalemenFE,
§ about Reserve Bank of India

1. +
rnfﬂ rJt s the Central Bank of India which controls

the monetary policy of the country.
1. It supervises the activities of both the

formal and informal sectors and keep
the track of their activities.
Choose the right option given below :
(A) The statement | is correct
(B) Both the statements | and |l are incorrect
(C) Both the statements | and Il are correct
(D) The statement Il is correct

(NNP) = Gross Mational

The purposeful, organized groups that strive
to work toward a common social goal are
(A) Flash movements

(B) Conventional movements

(C) Political movements

(D) Social movements

Which of the following is not a impact printer ?
(A) dot matrix printer (B) laser printer

(C) drum printer
Complete the series :
7,26, 63, 124, 215, 342, ?

(A) 481 (8) 421
(C) 391 (D) 511
Litmus solution is a dye,
(A) Orange (B) Lilac
(C) Purple (D) Yellow

Which of the following Acts provides the
Statutory Status to functioning of Reserve
Bank of India ?

(A) The Reserve Bank of India Act, 1954
(1 of 1954)

(B) The Reserve Bank of India Act, 1934
(Il of 1934)

(C) The Reserve Bank of India Act, 1944
(I of 1944)

(D) None of the above

(D) daisy wheel printer/ |

16.

47.

48.

49

50.

51.

52.
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53

54.

55.

57.

Section B2 of
that nothing is
a child under

(A) 15

(c) 12

Indian Penal Code provides
an offence which is done by
years of age,

(B) 7
_ (D) 8
— 15 provided by the Internet
Service Provider (ISP) to instruct the modem
to dial th‘e telephone number and to identify
the user's machine to the access provider's
system for access to the network.
(A) Dialler software
(B) TCP/IP
(C) Browser

(D} None of the above

Inflation in an economy may arise from the

overall increase in the cost of production. It
is called

(A) Cost-push inflation

(B} Deficit-induced inflation

(C) Demand-pull inflation

(D) Mo inflation

56. Aruna ranks twelfth in a class of forty-six.
What will be her rank from the last 7
(A) 37 (B) 3a*
{C)25% (D) 33¢

Who was called as the Father of Anatomy ?
{A) Aristotle (B) Ptolemy
{C) Herophilus

What is the number of pieces into
a cube can be cut by three cu

\lnzhjch

one

direction, six cuts in the secon ction
and seven cuts in the third dire 7

(A) 126 (B) 278 ®
{C) 312 (D) 224

e

Find out the incorrect matching related to
Atomic Power Stations and the States in

which they located.

(D) Hippaocrates \ \

(A) Narora ~  Uttar Pradesh

(B) Kalpakkam -  Andhra Pradesh
(C) Kaiga -  Karnataka

(D) Kakarapara -  Gujarat
Permanent Court of Arbitration (PCA)
?fidmﬂiﬁt'el‘-isl scate ?;l e~

54,

55.

4'.

57

58.

59.
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62.

b3.

fers to formal guidelines to conduct
it '.E}ngcaf research —consisting of principles
'w;'oe;hrcﬂf standards to be used in the
an

discipline _
(A) Participant ethics
(B) Code of ethics

{€) Code of behaviour
(D) Code of conduct

Which number wil|
question mark ?

216 343 ?
2. |6 2
g1 3

(A) 125 (B) 218

(C) 112 (D) 228
Homo sapiens belongs to the family
(A) Hissidae (B) Hominidae
(C) Holinidae (D) None of the above
Presently Haryana Railway Police is Headed by
(A) A.S. Chawla

(B) Surinder Singh Bhoria

(C) Satender Kumar Gupta
(D) Rajinder Kumar

come in the place of

From the given answer figures, select the one in
which the question figure is hidden/embedded,

(a) (8)
(c) (0)

ﬂmﬂ-’etthmdsCmfarenceherdinmewar

(A) 1945 (B) 1991
(C) 1944 (D) 1956
Who has the o

n
Reserve Bank ofnﬁ:dsitat‘:'! iy GWer
(A) I. G. Patel
(B) Sir Benegal Rama Rau
(C) Manmohan Singh

67.

(D) None of the above
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T

 Notochord present in

(A) Both (B) and (C)
(C) Chordates

(B) Non-chordates
(D) Noneof these

ga, If everysecond Saturday and all Sundays are
holidays in a 30 days month beginning on
saturday, then how many working days are
there in that last month ?

(A) 20 (B) 23
(c) 22 (D) 21

70. Which of the following is example for
Lomentum (Schizocarpic fruit) ?

(&) Mango (B) Euphorbia
(C] Mimosa (D) Peach

71. In a photograph Shyam is to the left of
Madan, Mary is to the right of George.
Karim is in between Shyam and Mary. Who
s at the corner ?
(&) Shyam
IC) George

(B} Karim
(D) Mary
72. Select the correct mirror image of the given
figure when the mirror is placed at line AB.
A

B
R
B 1 £
I:(a A gT A N
A AM B) o
(A) O { %n
gT A 5:_{}! A
€| A2 M (D) 2 M
A O T

T3 The lengest National Highway in India NH-7
connects
(A} New Delhi — Mumbai — Bangalore
{B) Shillong — Kanya Kumari
(C) Kashmir— Kanya Kumari
(D) Varanasi - Kanya Kumari

Which State Gevernment Is the sponsor for
Indian Hockey team ?
(4) Telangana

{C} odisha

74,

(B) Punjab
(D) Karnataka

11-

68.

69.

70.

71

T2,

73,

74,
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75. Oneofthe mostinfluential modern scientists

to put forth a theory about how people
develop a sense of self

(A) Erik Erikson (B) Robert K, Merton
(C) Jean Piaget (D) Sigmund Freud

76. Choose the correct order.

(1) Yarn (2) Silkworm  (3) Saree
{4) Silk (5) Cloth

(A) (3), (4), (1), (2), (5)

(B) (2), (4), (5), (1), (3)

(C) (2), (4), (3), (5), (1)

(D) (2), (4), (1), (5),13)

77. InMicrosoft Excel, the is defined
as the vertical space from top to the bottom
of the window.

(A) Row (B} Insert
(C) Column (D) Tab
78. Apogamy iscommon in
(A} Cycas (B) Tomato
(C) Ferns (D) Gnetum
79. If in a certain code, 'OTRIVIN' is written

as ‘NIWROTR', then how will ‘RISKING' be
written in that code ?
(B) GNIPRIS

(A) GINPRIS

(C) GNPIRIS (D) GNIKRIS "&
80. The First Chemical Examiner’s Laboratooy was
established in 1853 by the Gover nt of
(A) Delhi (B} Bengal
jarat

{C) Hyderabad D

g1. India’s first Pan-India helpline for
senior citizens is
(A) Elder line, 14647
(B) Elder line, 14567
(C) Elder line, 14765
(D) None of the above

82. The average age of 3 friends is 32 _
the age of a fourth friend |s adl:le\:-:a ;e::
average age becomes 31 years, What is the
age of the fourth friend 7

|A) 24 years

(©) 32 years bl

(D) 26 years
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(C) (2), (), (3). (5). (1)
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{A) GINPRIS
(C) GNPIRIS

(B) GNIPR
(D) GNIKRIS
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is a World Wide Web interface
thgt allows users to read and write e-mails
using a web browser,

(A) Outlook express
(C) Webmail

(B) E-mail
(D) None of these

Recently, the State which has come up with
a “Happiness Index” department is
(A) Kerala (B} Karnataka
(C) Haryana (D) None of these
Aguatic mammals in polar seas have a thick
layer of fat known as
(A) Blubber (B) Fur

(C) Rubber (D) Scrubber

Maost of the economies are
(A) Mixed economies
(B) Communist economies
(C) Capitalist economies
(D) Socialist economies
refers to the policies undertaken
by Governments (national and subnational
levels) to reduce their deficits and
accumulation of debt stock.
(A) Fiscal consolidation
(B) Fiscal debt
{C) Repo management
(D} Fiscal borrowing

Which one of the following is a outer planet ?
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% (C) Aaivet (D) i @ ik 71

ga. wme A 4, “waeran geewE (R0fAH §2+)
ey e aren 1 2
(A) FiE
() wftamm

yeft w1 srefta st § v A £ 9
o Bl #, for FE1 AL |

(A) ST (B) %1

(C) = (D) wFa

sifirtn srdegarard gt #

(a) fafam srderaeand

(B) GreaTE srefeEremd

(C) dafrardh srdepaeami

(D) HATETE ATt

LN .

g (e it I =n)
ZH0 T TR HIINE ¥ T F 2H F
ferw, ype e et & i 8 1
(A) T3 A

Waﬂrﬁﬁ
(bﬁ ) T

. Pefefam i adR-m AR e R 7

85,

8b.

87.

W\ A (B) WA !
(A) Mercury (B) Mars N (A} 99
{C) Jupiter {D) Venus $$ (c) Fewafa (D) &
are international discussion groups 89 s ==t L |

that focus on a particular topic and helps in
gathering information about the topic.

(A} File Transfer Protocol (FTP)

(B) Newsgroup

(C) Telnet

ID} None of the above

. UNEP announced the eradication of a
pollutant from the world as Algeria — the last
country to use exhausted its supplies. It s
(A) Un-leaded petrol (B) Coal tar

(©) Coal (D) Leaded petrol

«13-

fem A mam dEn TR sl
g s A g A A R |

(A) HTEE ZFEH SRR (FTP)

(B) =1 4

(€)

(D) 3w # | w7l

UNEP 3 e & 0 e % 3je &t viron )
# Wi st - e Wi wE 3@ aifm

a1 3 sweft Syl o e o v TR
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1. What would you use for immediate,
real- time communication with a friend ?
(A) E-mail
(B) Internet Relay Chat (IRC)
(C) Usenet
(D) Mailing list
2. The code name of the operation launched by
United States of America to attack on Al-Qaeda
and Taliban regime in Afghanistan
(A) Operation Blue Star
(B) Operation Enduring Freedom
(C) Operation Neptune spear
(D) Operation All clear

Directions Q. No. 3-5: Study the following
information carefully to answer the
questions.
Eight friends P, M, R, T, Q, U, V and W are sitting
in two opposite rows, facing each other. Each row
has 4 persons. P is between U and V and is facing
North. W is opposite to Q who is to the immediate
left of M. R is between T and M. W is to immediate
right of V. EI Ry
3. Who is to the immediate right of R ?
(A) M (B) U
(C) P (D) None of these

4. Which of the following pairs has the\person
sitting opposite each other ?
(A) MV
(B) RV
(C) TV
(D) UR

5. Four of the following five are alike in a
certain way on the basis of their positions
and so form a group. Which is the one that
does not belong to the group ?

(A) TP
(B) RV
(C) QP
(D) QV

6. In India, disguised unemployment can be
seen more in
(A) Agricultural sector
(B) Industrial sector
(C) Service sector
(D) Educational sector

.., Haryana Police Constable Paper 31 Oct 2021 Evening (Set 1)
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1. & fim & @y afE deams wlvor ¥ R s 9o
HEAT B 7
(A) igiﬁa-az »
(B) (ots.am )
(C) T
(D) fem fere
2. JAFMEEE # afeEm &1 e 3R 3e-FEa

TS & fore wgaa Usa emfE 0 IE fRe g
SRIH 1 g AT9 =41 91 7

(A) AT & TR '

(B) SITater qughaT wiew

(C) SITRI AT= TR

(D) TR a7fe faer

Fdww.d. 3-5 : g &1 I A % forg Fefofaa ggn &
o A 9fey |

SR P, M, R T, Q U, Val w2 favta et
G- f Mg R RE | e iR T4 ARE NP, U
avFdfad § oitsm singad | w, Q F mta <
M¥Fg@aid IR, ToMFHaR | W, vHFEade |

3. FHARF Q@R ?
(A) M (B) U
(C) P (D) T & =18 T

4. Pl § @ -2 7w TE-ga 3 R 33
=fFE ?
(A) MV
(B) RV
(C) TV
(D) UR

5. Pefafa ofa # @ =w 39 ke &
FTUT 9T T THN & TAH € IR T 998
TRE | T A PA-w IR § T e R 7
(A) TP
(B) RV
(C) QP
(D) QV

6. WG d, eI TR ____
T $ |
(A) P &7
(B)

(C) ¥ &
(D) frem &=




10.

11.

12,

13.

14,

Join Telegram Group "HaryanadJobs.in"

The H.CF. and LCM mials
; M. of two i
are (x + y) and (3x5 + Sxy + zpe;alyri%x?ya
- i‘?.xy“ » 2y.5] Tespectively. If one of the
Polynomials is (x2 - ¥®), the other one is

(A) 3x* - 8x%y — 1Qx2y2
y + 7 3 2 4
(B) 3x* - 8x3y + 10x3y2 + 72:3 = 23;4
(C) 3x* + 8x%y + 10x%y2 + 7xy3 + 2y*
(D) 3x* + 8x3%y — 10x%y? + 7xy® + 2y4
is anew digital pPaymentapplication
launcht?d by the Department of Posts and
the India Post Payments Bank (IPPB).

(A) DakPay (B) PostPay
(C) JustPay (D) BHIM
Find the missing letters.

__aba__ba_ab
(A) abbab

(B) baabb
(C) abbaa (D) bbaba
According to a recent study,

warming ocean waters have led to
a drop in Earth’s brightness. The
study was published in which of
the following ?

(A) Nature Geoscience

(B) Geophysical Research Letters
(C) Climate Dynamics
(D) Environmental Science

The Reserve Bank of India was set up on the
basis of the recommendations of which of
the following Commission ?

(A) The Hilton Young Commission

(B) The Hartog Commission

(C) The Sadler Commission

(D) None of the above

Haryana State stands at position if’
the average annual fish production per unit

area in India.
{A] lst
(C) 3+

SCSI stands for

(A) Small Coding System Intcrfaci:

(B) Small Coding System Interaction
(C) Small Computer System lntcrfac?
(D) Small Computer System Interaction

receives request from the
clients, processes this ;‘cquest, and sends
the result back to the client.
(A) Web browser (B) WcE pages
(C) Web server (D) Web sites

(B) 41!:
(D) 2nd

8.

11.

12.

13.

14,
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%) SgUal S HETH FHIIEdeh i e T
T (x + y) 3T (3x5 + Sxiy + 2xy? - 3x2y
- 5xy* — 2y°) B 41 T 9gw (x2 - y7) B, @ g@yw
R

(A) 3x* - 8x%y — 10x%? + 7Txy® - 2y*

(B) 3x* - 8x%y + 10x%y? + 7xy? - 2y*

(C) 3x* + 8x% + 10x%y? + Txy® + 2y

(D) 3x* + 8x%y — 10x%y? + Txy? + 2y*

_ re fovm ok sfea g Tl o

(3rrg .t =l ) 5 3 o) 7S o A fefrea e
TEARF § |

(A) T (B) [

(C) SRl (D) ™

T He I J1d AL |
_._aba_.ba_ab

(A) abbab (B) baabb

(C) abbaa (D) bbaba

BT €1 3 T 340 % STIEI, R O 6 €N
% I geeft i T § e o @ | 9wt
freforRae & @ forel werfara gamon ?

(A A= Savasa

(B) Frafrfoera fard Sed

(C) FATEHL TIFAITEE

(D) ATICS TR

I fiad e it v Freferfiaa § @ g smam
& famrfen el 7 off ?

(A) feeea I amm

(B) AT A

(C) Tsem =

(D) ST § & = e

wRd § wft 318 @3 o s arfes weeh
EQICER R TTIv RU s Rt =i c e
(A) T&eT (B) =hem
(C) drer (D) s&u

. o, . 3. 1 aee 2

(A) T =ifST e ecr
(B) W hifen fien setawm
(C) & FR Rem Jeha
(D) T #ege foreem st

TITEh! & ST ST el &, FHH
T B 3 ATy 3% oy e |
(A) 39 TR EERE
(C) 3wt (D) ¥ WL
1
qakb G

ba_a.!:i
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The pre-monsoon shower in Kerala

is called as
(A) Mango shower (B) Blossom shower

(C) Kalbaisakhi (D) Loo
The Banking Regulation Act was enacted in
which year ?

(A) 1947 (B) 1948
(C) 1949 (D) 1950

Packing efficiency in simple cubic lattice is
(A) 68% (B) 52.4%

(C) 54.2% (D) 64%

When offspringis produced by a single parent
with or without the invelvement of gamete
formation, the reproduction is called

(B) Sexual

(D) Transexual

(A) Asexual

(C) Parasexual

Who is the Current Secretary General of
United Nations ?

(A) Anténio Guterres
(C) Kofi Annan

30% of Canadian families have a dog, 30%
of Canadian families have a cat, and 50% of
Canadian families have neither a dog nora
cat. What percent of Canadian families have

(B) Ban Ki Moon
(D) None of the above

both a cat and a dog ? El:zf%
(A) 10 (B) 20 o]
(C) 30 (D) 50

There are 10 points in a planejout of there 6
are collinear. The number of triangles formed
by joining these points is

(A) 100

(B) 120

(C) 150

(D) None of these

Which of the following is produced from
fermentable sugar by yeast and bacterium ?
(A) Cellulose (B) Lactose

(C) Starch (D) Ethanol

are types of browsers,
(A) Graphical Browsers
(B) Text Browsers
(C) Both (A) and (B)
(D) None of the above

Aruna ranks twelfth in a class of forty-six.
What will be her rank from the last ?

(A) 33 (B) 34

(C) 35 (D) 37
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et o AHgA d 9t & FE1 A g
(A) HTT ¥ITET (B) =A™ WIIaT
(C) FreraaTE (D) 9,
em Ry arfrfam frg ad srfufafie Prnmn
q7 ?
(A) 1947 (B) 1948 _
(C) 1949 (D) 1950 %’gﬁ
T gt sfere o o e 2 e
(A) 68% (B) 52.4%
(C) 54.2% (D) 64%
W9 §qE & IO Th ThA THAH
e Fafor & g a1 o et 2, S
F__ wEde
(A) 3T (B) wifish
(C) TATTH (D) wferft
w g % qdAT e P g 7
(A) TG TTE (B) o &
(C) X6 3F=H (D) I7a 8 @ FIE T
30% Fafea gfiEw F T" F1 8, 30% FAred

qfar 3 g faeeht & 3 50% HAfer TRER &
g = ) g & 7 freett | fpe wfoera FAfe afEm

% Ty e I foreeft ST & 7

(A) 10 (B) 20

(C) 30 (D) 50

us Taae i 10 fig ¥, el @ 6 v § | 3 fagad

! fre™ & w94 At et f T @

(A) 100

(B) 120

(C) 150

(D) T | I T

T W FA-TT GRS PR F N AR fEw gh

IqIea s ?

(A) (B) W=

(C) (D) TTe

I & TR E |

(A) iR JTIST

(B) éfﬂz ]

() a’ﬁ'ilgm 31’!1(3] E

(D) T i

m%ﬂlﬁﬁﬂﬁﬁaﬁlmﬁmﬁwﬁm%laﬁaﬂ F

T T 41 8T ¢ i

(A) 33 (B) 34 !

(C) 35 (D) 37 i
H
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One day John Ileft home and cycled
10 km southwards, turned right and cycled
5 km and turned right and cycled 10 km and
turned' left and cycled 10 km. How many
ti:.]asj;}ﬁl?he have to cycle to reach his home
(A) 10 km
(C) 20 km

(B) 25 km
(D) 15 km

Consider the following statements about
SVAMITVA Scheme,

I. SVAMITVA is a Central Sector Scheme
of the Ministry of Panchayati Raj that
aims to provide property rights to the
residents of rural inhabited areas.

IL. It aims to demarcate inhabited lands in
rural areas through the latest surveying
drone technology.

(A} Only the statement I is correct

(B) Only the statement Il is correct

(C) Both the statements I and II are correct

(D) None of the above

A : is a small hand held pointing

device with a rubber ball embedded at its

lower side and buttons on the top.

(A) Mouse (B) Lightpen

(C) Trackpad (D) Joystick

Which one of the following statement is not
true about Coriolis force ?

(A) The Coriolis force is directly
proportional to the angle of latitude

(B) The Coriolis force acts parallel to the
pressure gradient force

miFe(C) At the equator, the Coriolis force is zero

29.

30,

4~5, 820
D) It is maximum at the poles

Computer A takes 3 minutes to process
an Input while computer B takes
S minutes. If computers A, B and C can
process an average of 14 inputs in one hour,
how many minutes does Computer C alone
take to process one input ?

(A) 10 (B) 4

(C) 6 (D) 8

For aquatic organisms of water
becomes more important.,

(A) Quantity (B) Quality

(C) Turbidity (D) Colour

25.

26.

27,

28.

29,

CMES - S2

w A W oW @ fwen 3k sfdwm A ook
10 forrdt wméferer =amd | ard g1 i 5 fond) wrdferm
=T 3 and geet 10 fft wméfere =rad off amd
Tet 10 Fort arifena =ems | 38 He at s & fag

e foreht wrdferer 5t gift 7
(A) 10 fFel (B) 25 ft
(©) 20 (D) 15 fet

wified e & gay # Fefafes sy w fT=r
F |

1. i gt U 53T 6 U o A
i & forgerr gy Ty syrard &5 %
Tt =t gufa srftrFr TR |

I1. 381 A& a0 Hav] I a1 o ATeH
& ety &= o yrenfira sfy <t Hifra
FATR |

(A) Fae e [ 9 2

(B) Sact e 11 9T §

(C). & 1 31T g1 6 ©

(D) 39 § & =1 T

& ____ e oae m g g wF @ #i 7R 3
FR E I T2 Tt TF B T T @ aredt uigfén

ama i

(A) TR (B) ST

(C) wis (D) Srafes

Fiafrm wo ¥ o # Fefafaa § @ Sn-a 52w

TAE R ?

(A) SiftaTfera e st & v & e o

(B) NG a1 2o 21et aa § GuEa 1
TR

(C) A= Y R Fiftefom sy 2

(D) u® &l T 3tfirspey &

FYR A Tt afafe =i om0 5 3 fime o

R “afsh Ft B 5 fime a1 @ | 3 Ege

A, B 3 C T w2 ¥ siwad 14 v =i

T FEHA 8, TF W F orkel TG F0 3

FIR C F e e @it ?
(A) 10 (B) 4
(C) 6 (D) 8
sl st & fg s & Hitw
HEAl & ST R |
(D) T
1
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was divided among

Each boy gets 90
paise. The number of

A sum Of RS. 4]
50 boys and girls.
paise and a girl 65

bovs 18
[:]yiﬁ (B) 34
(¢} 14 (D) 36

National Human Rights Commission

established in the year

(A) 2005 (B) 1993

(C) 1996 (D) None of the above
Manoj and Sachin are ranked seventh and
eleventh respectively from the top in a class
of 31 students. What will be their respective
ranks from the bottom in the class ?

(A) 20 and 24 (B) 24" and 20%

(C) 26" and 22™ (D) 25% and 21*

Suppose, in December 2019, the consumer
price index was 193.6 and in December
2020, it was 223.8, then what was the
inflation rate during the last one year ?

(A) 14.55

(B) 15.6

(C) 16.6

(D) 17.6

BIOS stands for

(A) Bus Input Output System
(B) Bus Input Output Stream
(C) Basic Input Output System
(D) Basic Input Output Streafm

International Centre for Automotive

Technology has developed a technology

innovation platform called

(A) Knowledge Integration for Technology
Enrichment (KITE)

(B) SPARROW

(C) Automotive Solutions Portal for
Industry Research and Education
(ASPIRE)

(D) None of these

In a certain code “HATCH” is written as
‘54325’ and “TRAP” is written as ‘38#%’.
How is “PATCH?” written in that code ?

(A) %5#23 (B) %5#33
(C) #5%32 (D) %#325

-6-
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413@@@#506@%@6@%% T

: . =

™ o |wﬁmmﬁ90ﬂﬁaﬂt@ﬁsﬁﬁ2
2

(B) 3
(C) 14 (D]] 32
Wﬂmﬁwmaﬁwﬁmaﬁﬁ?
(A) 2005 (B) 1993
(C) 1996 (D) Fue # & 1S e

31 Frenfdt & vk e 3 s A Wi 3k whE
FHI: A1 3R =ZEd € | e H AR | 3 e
SREYL: T8I 7

(A) 20 aT 3T 24 af
(C) 26 3 3 22 &

A% ofiftg, Rger 2019 # ITdET I GEEE
103.6 o1 afit figer 2020 & 223.8 o1, 91 figs

T i & A e < ot 7
(A) 14.55
(B) 15.6
(C) 16.6
(D) 17.6

&, oné. oft, TH. % qadd §

(A) wwwgﬁﬂ
(B) @ FIYE 13LYE

(C) =fih Fge anseye fisen
(D) & TR APy &

airemifea eaTetiel) o foTe STeRTE &7 1 Weh qehiehl

T Sew i R 2, 38w s e

(A) TR AT it 2T T (F.375.8.3.)

(B) a4 3R. TR M. 55,

(€) Fifea WreEre des 6t efg e T
T (TuE e e e )

(D) ¥ @ o T

T 2 3§ “HATCH” 9 ‘54325’ 3 “TRAP”
389’ feran < & | 39 % § “PATCH” Fd
feran smem 7
(A) %5#23
(C) #5%32

(B) 2497 3 204l
(D) 25 af 3t 21 &

(B) %5#33
(D) %#325

-;5:1}: 39\5’-
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48, The term Sociology was first coined

by __ in an unpublished manuy
(o) Emmanuel-Joseph Sieyeés

(B) Robert Morrison Maclver

(C) Herbert Spencer

(D) George Simmel

in 1780
script,

India signed MoUs to develg
port with

(A) UK

(C) Myanmar

39. P Trincomalee

(B) Sri Lanka
(D) Maldives

A and B are brothers, C and D are sisters
A’s son is D’s brother. How is B related to C 2
(A) Father (B) Brother

(C) Grandfather (D) Uncle

40.

41, Whichoneofthe following types of agriculture
was introduced by European colonies ?

(A) Kolkoz (B) Mixed farming
(C) Viticulture (D) Plantation
Which work is considered as the “First
Encyclopaedia in Sanskrit” ?

(A) Kavyavaloka

(B) Manasollasa

(C) Bhasha Bhushana

(D) Abhidhanavastukosha

It is a micro-level theory that focuses on the
relationships among individuals within a
society. ;

(A) Social exchange theory

(B) Differential association theory

(C) Control theory

(D) Symbolic interactionism

Which number will come in the place of
question mark ?

8,12, 21,37,62,7

(A) 97 (B) 98

(C) 108 (D) 124

Total number of medals grabbed by India in
Tokyo Paralympics 2020-21 are

(A) 21 (B) 20

€) 19 (D) 18

After independence, India envisaged an

economic system which combines the best

features of

(A) Socialism and Capitalism

(B) Capitalism and Communism
C) Socialism and Communism
(D) None of the above
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(B) TTaré mTfaa Heprgat
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any planc passing through
of the body divides the
dentical halves, it is called

In animals, when

the central axis .
pism into two 1

orga
imelry

(A) Radial syn
(B) Bilateral symmetry
(C) Lateral symmetry

(D) Trigonal symmetry

processes input and converts it

into meaningful information.

(A) Arithmetic Logic Unit (ALU)
(B) Memory .

(C) Central Processing Unit (CPU)

(D) Keyboard

The famous theory related to origin of Universe,
the ‘Big Bang Theory’ is associated with

(A) Edwin Hubble

(B) Immanuel Kant

(C) Carl Weizascar

(D) Laplace

If we make a meaningful word with the
I, 4 Ot and 14" letters of the word
‘ADMINISTRATION’ which of the following
will be the 3% letter of that word frdm the
right end of that word ?

(A) R (B) 1

(C) N (D) A

Some of the most fundamental features that
an E-mail client provides are

(A) Offline mode of operation

(B) Filtering E-mails

(C) Managing Received E-mails

(D) All the above

The common Indian earthworms are

(A) Pheretima (B) Lumbricus ,
(C) Both (A) and (B) (D) None of these

The onset of turbulence in a liquid is
determined by

(A) Pascal’s law

(B) Torricelli’s law

(C} Bernoulli’s principle
(D) Reynold’s number

: is an interface on a computer,
w‘hmh supports transmission of multiple
bits of data at the same time.

(A) Serial port
(B) Parallel port
(C) SCsI port
(D) DS/2 port
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(A) feuer gre

(B) uefiy wmeg

(C) urvd g

(D) Frvofa wrega
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(0 ¥, g (it g,)
sranie i Icata | watea v frgra
(A) TEfeH e

(B) THTYUCT sl
(C) et STSITER
(D) ST

¥ ‘ADMINISTRATION’ % UgRl, 919, 73 aix
143 &R & U Adql w3 ST ST B @ VR ®

afd & 3¢ Y e ST& 1 g

(A) R (B) 1

(C) N (D) A

T $-Bl TEF g ITereY HS T AT
Taifoen ey feivard §

(A) qﬂamwawﬁmmaﬁw Qgés
B) freeftns-aet E
(C) Tt 3-0a I waiftra e '
(D) 3%a o+t

W TS T 3

(A) Hem (B) giEiwd

(C) (a) 3 (B) T (D) ¥ & HE T
us g9 § fagny ey 1 = fafon EL
EIEIGIES

(A) urEshat =l faw

(B) <ifdeht @1 fram

(C) =Tt 1 Frm

(D) Fieg it g&ar

_ e W E EEt, M wd
A T ATHE! % o T 1 TR ) ) TR
FTE |

() fifee

(B) ¥eter ard

(C) . §t.um. o7, urd

(D) .TH./2 TR
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: 0 numbers is 38, if two
Eﬁ;gzgar%gmocr]}'sﬁ aqd_55 arc discarded,
the average of the remaining numbers is
(A) 36 5 =9
(©) 32.5 (D) 37.5
p. 0, R, S and T are sitting in a row. Q is
between P and T. To find out who among
them is in the middlc, which of the following
information given in the statements I and I
is/are sufficient ?

I. Pis left of Q and right of S.
II. Ris at the right end.
(A) Only 1l is sufficient
(B) Only I is sufficient
(C) Both T and II together are needed
(D) None of the above

The Sociologist who coined the term culture
lag

(A) Talcot Parsons
(C) Bruno Latour

(B) Gunnar Mrydal
(D) William F. Ogburn
Four different positions of the same dice are
shown, select the letter that will be on the
face opposite to the one showing ‘X’.

X /B X X
v 14 |z [Y)|a [C c Y
(A) Y (B) B
€) A (D) C

Sunita leaves her house at 20 mins to'seven
in the morming, reaches Vineeta’s house in 25
minutes, they finish their breakfast in another
15 mins and leave for their office which takes
another 35 mins. At what time do they leave
Vineeta’s house to reach their office ?
(A) 7:40 AM (B) 7:45 AM
(C) 7:20 AM (D) 8:15 AM

The population of a town is 126800.
It increases by 15% in the 1* year
and decreases by 20% in the 2™
year, What is the population of the

town at the end of 2 years ?
(A) 174984 (B) 135996
(C) 145820 (D) 116656

A cube is coloured black on all faces. It is
cut into 64 smaller cubes of equal sizes.
How many cubes are not coloured on any of
its faces ?
(A) 3
© 1

(B) 2
(D) 8
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57.
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50 Tt # 3faa 38 ® | 3l & wemsTi w1k,
45 31 55 = B2 e =, @ 79 Tene w sied

forerm & ?
(A) 36 (B) 35
(C) 32.5 (D) 37.5

P,Q,R S TTRIFHAZE |1 Q, P TH
M I Y T e R, 7e Im w7 F Ay
form o e 1 3 11 3 @ Frefefaa | 5 - g
i g ?

I P,Q#FH = AN SHIMWE |

I, Ram 3fdme |

(A) Fad 11 71 B
(B) *Herel | T @
(C) B 1 3T 1T Uk @1el AT &
(D) I ° & =K T
Fea & V5% T Eieatel G 4

(A) iz THH (B) AR T

(C) 3w (D) faferm T, e
e € Ui < 9 fafim ferfat anid i € | X i
I T & gul 3 e aren e g |

X B X X 7] E7E
v |8 |z |Ylal9|c|¥ Gz
(A) Y (B) B

©) A (D) C

%@3%7@@[2{)&%%&@?&%
2 afi farfrar 3w 25 fire 1 wia ot B, 3
TSt 15 fire 3 379 Arven et & 3 3 e
¥ foru Frere STt § ol 378 35 fire =1 993w
2, A e vge o forg 3 fafe & R fora
o e B 7

(A) 7:40 AM (B) 7:45 AM

(C) 7:20 AM (D) 8:15 AM

T YIEt  SHEE 126800 ® | B 94 48 15%
¢ STl & 3G T8 20% Fi i 1 e B | 2

¥ 37a # yrex i sae T el ?
(A) 174984 (B) 135996
(C) 145820 (D) 116656

% FF Tt Ferhl WFD T H 8 | 58 gaH AR
% 64 BIe T | T a1 § | Ry g waes
et T M T € 7
(A) 3
(C) 1

(B) 2
(D) 8
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62.

63.

64.

65.

67.

68.

69.

| that appears
e source when
ource.

refers to Emal o
igi from
n omgmated
y sent from another S

(B) Email spoofing
{D) None of these

have bee
it was actuaﬂ

() Email spamming

who cancelled all mortgages of land ?

(A) Draco

(B) Solon

(C) Cleisthenes
(D) Pericles

mirror image of the given

orrect
Select the c ed at line AB,

figure, when the mirror is plac
A

BENZENE E

B
(A) ANAZVEd (B) INIINIL
(C) INISHL (D) BEVMESHE

is a pen-based output device
that is attached to a computer for making
vector graphics, that is, images created by a
series of many straight lines.
(A) Scanner (B) Projector
(C) Printer (D} Plotter

Which number will come in the-place of
question mark ?

0.863 x 0.637 + 0.863 x 0,363 =?

(A) 1 (B) 0.863

(€) 8.63 (D) 1.226

The ovule is a small structure attached to
the placenta by means of a stalk called

(A) Chalaza (B) Integument

(C) Kate (D) Funicle

Article 35A of the Indian Constitution .

recently seen in news is related to

(A) Jammu and Kashmir Legislature to define
permanent residents of the State

(B) Impeachment of President

(C) Special status to Hyderabad Karnataka

(D) None of the above

Which number will come in the place of
question mark ?

7:343::5:7 !‘-'15’:&:;
(A) 25 (B) 125 AN
(C) 625 (D) 1025

.]_o.

62.

63.
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P e AT
Sl ) AT # et
| o T B | ekl

(A) ﬁa'ﬂﬁ'ﬂ (B) @T’!

(C) 3 <ififm (D) sﬁ&ﬁ;ﬁ
vt i st @t R T ff 7

(A) gt ahAc)
(B) i e
(C) Fefreg

(D) Ufered

A8 S 7 W < s g, A
W AB W@ s 2 |

BENZENE

B
(A) INIZNES (B) EMIsSVEd
(C) ANIRIL (D) BEVESVE

% ¥ enutha Frfa Rame t S @
O ¥ Jax mikaw St o6 < wheft YTl A o
S EIT S T SR §, ® T % o i
Eicik g
(A) T (B) WREX
(C) fi= (D) &

WY Toreg & T qU s - T s 7
0.863 x 0.637 + 0.863 x 0.363 = ?
(A) 1 (B) 0.863
(C) 8.63 ! (D) 1.226

TS T B T & 9 £330 & 7y @ aisvere

SERAGIR .

(A) ST (B) 3T

(C) % (D) FfEa

TR |iem 1 og=es 35A T & |

AT A T T R, e w7

(A) T o TRl Fenfeai =6t afonfye
H & forg sy ofR i ferenfram

(B) Tregafer =1 wETferEm

(C) TG FAte i faey &=l

(D) ST & A = T

W fom % v W R -Th we s ?
71343:: 6.7

(A) 25 (B) 125
(C) 625 (D) 1025
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The total number of memberg in Constituent
Assembly who appended their signature It-1
the Constitution as finally Passed on 24‘0"
January 1950
(A) 389

C) 243 (B) 299

(D) 284
Who among the followin
police hierarchy ?

(A) Inspector

(B) Sub-inspector

(C) Assistant Sub-inspector

(D) Deputy Superintendent of Police

Unemployment rate in India released by

(A) Moody

(B) Centre for Monitoring Indian Eco
(CMIE) e

(C) TradeX

(D) Employers Association

g ranks lower in the

What is the main objective of World Trade
Organization (WTQO) ?

(A) Liberalize International Trade

(B) Liberalize Domestic Trade

(C) Reduce Global Poverty

(D) None of the above

The Article of Indian Constitution which
says that India, that is Bharat, shall be a
Union of States’ is

(A) Article 4 (B) Article 2

(C) Article 3 (D) Article 1

How many odd days are there in 123 days ?

(A) Two (B) Three

(C) Four (D) Five

The Indian Evidence Act was enacted in

(A) 1870 (B) 1871

(C) 1873 (D) 1872 cin
The owner of an electronics shop {'%-:i,-,
charges his customer 22% more Lt
than the cost price. If a customer

paid Rs. 10,980 for a DVD player,

then what was the cost price of the

DVD player ?

(A) Rs. 8,800 (B) Rs. 8,000

(C) Rs. 9,500 (D) Rs. 9,000

Twisted aestivation is seen in which plants ?
(A) Mustard (B) Annona

(C) Cassia (D) Cotton

70,

71,
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fyar wm & wewdt 1 For we T o fre
04 S 1950 F ifem w9 | UTiE wfeu™ ¥
A wemer fre ?

(A) 389 (B) 299

(C) 243 (D) 284
g%uqawﬁﬁnﬁ—rﬁﬁﬁﬁ%ﬁﬁmm%?
(A) Fie=

(B) SUFRIETH

(C) wew Iufdies

(D) SeferE e

e A ARl @ g S o Sl R
(A) T

(B) W sferaeen frreet 3 (dw.a <)

(D) Friea TaiftTE™

Ry =g WA (T30, ) TS REA A ?
(A) LT SR 1 IS ST

(B) FT T, AR

(C)- afiren iie 8 HT

(D) 370 & & =18 T

T G & SE-a Tgees Feal & i e
37T, W U1 &1 T4 B ?

(A) ITF=D% 4 (B) ¥T=a 2
(C) 3733 3 (D) =R 1
123 i d frA femm fea 8 7

(A) 2 (B) @

(C) =W (D) g

e mey sfufEm = T srfufiafia e
T T |

(A) 1870 (B) 1871

(C) 1873 (D) 1872

T g e g o Hifereh 319 TTesh W ard Ged
U 22% AHE AR | IR IRF S A, S

*fUE. 10,980 T 1AW Fel ¥, A AD. SR A
STl T R T 7

(A) ¥. 8,800 (B) %. 8,000
(C) ¥. 9,500 (D) %. 9,000
fore yorantformma fiem i e e 7
(A) = (B) ST
(C) i (D) FATE
1
L‘;g

TN
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i of
Which number will come 111 the place
question marlk ?
1

422 B) 13—
(A) 1 To 21
18 D) 17>
©) 1355 7

The dimensions of the quantity

2 -y
Ho 8 , is (where [, — permeability

namely

of free spacic, C - velocity of light, € —
electronic charge and ;= h , h being
Planck’s constant} 2x

(A) [MOLT] (B) [M°L°T]
(C) [M° LT (D) (M2L" T

Consider the following statements about
Vidyanjali Portal of Central Government.

1. Itisan initiative of the Ministry of Human
Resource Development, Department of
School Education and Literacy.

1I. The portal will enable community/
volunteers to contribute by connecting
directly with the government and
government-aided schools of their
choice. [ETLE

(A) Only the statement | is correct [::Itikﬂil

(B) Only the statement II is correct '

(C) Both the statements I and ll'are correct

(D) None of the above

What is the rank of India in the World
Happiness Report 2021 released by United
Nation Sustainable Development Solutions
Network (UNSDSN) ?

(A) 1320 (B) 139®h

(C) 108t (D) None of the above

Which is the right statement of “Natality” ?

(A) The number of births during a given
period in the population that are added
to the initial density.

(B) The number of deaths in the population
during a given period.

(C) The number of individuals of the same
species that have come into the habiat
from elsewhere during the time period
under consideration,

(D) The number of individua]s of the
population who left the habitat and
gone elsewhere during the time period
under consideration.

79.

80.

81.
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W‘%‘E%Pﬂﬂ“ﬁ:i—ﬁ‘émm,n?

4:—3-x5154-=6-v-§ 53_2.5:
W 4 (B) 13%%
(© 132 o) 178
e STl L CTC p——

2h
Y qraTeEdt, C — W AT, e_m%

3T h=—2E h i 1 Fadie)

(A) M LT] (B) [MCLeT)
(C) [M°L°T°] (D) [M2L1T

g TR o ferarisielt Widet & s H Fraftaftes won
W forem FRT |

1. g& frarer faan ok wara foum, arm
o REeE e FI H Usa © |

11. Ot auem /e il a7 wEn
Heradl W AT IEE & e ¥ W b
o g ST |

(A) FaaFET [ H ?

(B) Fad HU I] T 8

(C) e I 3 11 S Ta @

(D) 39U o F1E T

TAEEE ATH FHAT LTI WIegyH 1205
(3,08 9.0 . ) g R o gl e
2021 HA F A TR 7

(A) 132aT (B) 1394

(C) 108t (D) 3o H A

‘ST 1 e Y 1 R 7

(A) ST T § SR e e § AW
rafes % dv il o e |

(B) e i 8 a1y % S s i e i €|

(C) forem =t = Tt ovafy & S foret
ﬁtwﬁﬁ?ﬂaﬂimwmqtm
WA wTfert o Sftat o | |

(D) T <t < et svafiy 3 A o ©1
e e 2fr s et <hat 7w |
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A vertical demand curve is
(A) Perfectly elastic

(B) Perfectly inelastic

(C) Unitary elastic

(D) Unitary inelasticity

In the coagulation of positive sol, the
flocculating power is in the order

(A) [Fe(CN)g]* > PO* > SO,* > CI
(B) CI'>S0,> >PO,* >[Fe(CN),J*

(C) [Fe(CN)]*> Cl-> SO,* > PO%
(D) CI'> SO,* > [Fe(CN) ]+ > PO

How many meters of cloth of 2.5 m wide will
be required to make a conical tent, whose
base radius is 7 m and height is 24 m ?

(A) 120 m (B) 180 m

(C) 220 m (B) 550 m

When did Sir Thomas Roe visited the court
of Jahangir ?

(A) 1608 (B) 1609

(C) 1618 (D) 1615

In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

1. No lemon is crange

2. Some orange are apple
Conclusions :

1. No orange is lemon

II. Some lemon are apple

(A) Only conclusion II follow

[; (B) Only conclusion I follow

(C) Neither conclusion I nor II follows
(D) Both conclusion I and II follows

First phase of Green Revolution achieved
approximately in

(A) 1950-1960 ‘

(B) Mid. 1960-1970

(C) Mid. 1970-1980

(D) None of these

Vegetable waste and sewage are decomposed
in the absence of oxygen to give

(A) Bio-gas (B) CNG

(C) LPG (D) Coal

84.

B6.

87.

88.
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U IEET I T B

(A) 3 7=
(B) g a1
(C) BfFer 71

(D) Ufereh 3rTRraT

FHEAHF sol H&heA o, (v HFA
H gt =nfen |

(A) [Fe(CN)]* > PO,* > SO,* > CI

(B) CI-> SO,* >PO,* >[Fe(CN),J*

(C) [Fe(CN)J*> CI-> SO,> > PO,*

(D) CI-> SO,* > [Fe(CN)]* > PO,*

e YiERTehTL A S o ferg 2.5 et =it fore et
FUL i IEvEar ent, farge smar Bren 7 Wi
afrt 3 24 iz d 7

(A) 120 HiX (B) 180 Hi&

(C) 220 HiX (D) 550 HX

T AT T Fehfit S ST o e o7 a1 7

(A) 2608 (B) 1609

[€) 1618 (D) 1615

01 s 1, 3y e f e R Forrn e & fored R e ® |
3 forerd g i e & & aod wdie ¥ed € |

Hgq

1. Y g Fau 7 8

2, Wﬁﬁa%
Freand @ _

1. 1S T g TE 8

1. F g 8

(A) et T 11 ST &hidT &

(B) haret e 1 a7geo &t @

(C) it fremd [ 78 11 ey it 8

(D) <t fssd 19 11 srgeo e &

FRT Shifcl T SR O T foRn T |
(A) 1950-1960

(B) 1960-1970 T q&

(C) 1970-1980 1 HEF

(D) §7H & Ig TE

FAefd TR SR Herere o AT ot sgafefd
7 AEe @R |

(A) STRI-Tr (B) ...

(C) TS, (D) e
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English Languags. ¥
i n a sentence has
¢ speech. Out
lect the one
ntence in

yWing question
Direct/ Indirec
alternatives 5€
the sameg S€

In the foll¢ v
peen given 11
of the four given :
which besl cx;l:lrvs:‘v{t:;h
direct/Direct SPEEcit: \
{:.:.f here do you live 2" gaid the school
maslcr.
(A) The school m
lLived.
(B) The school m
lived.
(C) The schoo
had been living.
(D) The schoal master enquires where 1
have been living.

Rill in the blank with appropriate adjective
from the alternatives given below them !

aster enguired where |
aster enquires where [

| master enquired where

This is the ____news.
(A) later (B) latter
(C) latest (D) last

Thefollowingsentence contains grammatically
error or idiomatic error in it, You have to find
out that part of the sentence and choose the
alphabet of that part as your answer.

After having written the letter, [ began
to look for an envelope,

(A) After having written

(B} the letter, I began

(C) to look for

(D} an envelope.

Choose the right antonym of the. ward given

in capital letter from the alternatives given
below it

DEFIANCE
(A) Praise (B) Obedience
(C) Extravagance (D) Advanced

tl.n“thi? question, there are four alternatives
otlowing a word or phrase given as the ke;(
alternatives hest explaing

the meaning of that
word or
correct alternative, phrase, spot the

ANIMADVERT
(A) Need
(C) Criticise

(B) Hospitalise
(D) Notify

96.

97.
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Tt s

S T et a6 farvier e v B, T e
BRI} T Bl R |

(A) fergimort

(B) wa=mHT

(C) aamait

(D) & & 7 7

M =Rl _HrH EEm |
(a) <

(B) =

(C) fowrf

(D) T & ¥
IS E A Y %
(A) feah

(B}, FeTd

(C) 4

(D) =8 & #ré 7

Tl are () IomAEr s s
(A) e

(B) 37uTE

(C) fafy

(D) ¥ & 1S

A’ U o R B, 0 T
e R |

(A) wef

o (B)

(C) =5t
(D) T & % =

\

Csc Siswala

l
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13

It T her them: o8 wiilten as de ne ke

o him why as e Ik i amd S they do

il T O, then Yo @ wrilien ns
A} T 13}
1) 1k i

Whch one of the Todlowing |
of Cabinet Mission =
|.\_I Lod Patnieck Lawrerirs

ot o mamber

(B0 MSar "':'..Ll.:'lll'l I“||':|.|-
) Ay
(D) Mount Batien

Aloxnnaer

With respect Lo armed poliee, an | s e gctior
Sub-inapector commands a
JIA)] Secthon (B

(C) Battahon

F'!,.il-'.-:||.
[®]] Company

From the given answer figures, select the
ane in which the guestion figure is hidden/

embedded
8

1) R (1]
v
' |
D
4 % .
m o
(A) d | = .
c) b

i e

The HDI romking of Indin mgﬁmg to 2020
UNDP HIY report (s
(A) 136

(€ 131

Out of 6 boys and 4 girls, a group of 7 Is 1o be
formed. In how mény ways can this be done

if the group is 10 have o majority of baoys
(A) 120 (B 90
{c) 100 iy 80

(@ 130
(Do) 182

Whichof the following is a certification

mark employed on  agricultural
products in India by the directorsite

of Marketng and Inspection ?

|A) AGRMARK (3] AGMARK

(€ AGPMARK {3 None of the above

-2-
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Haryana Police Constable Paper 31 Oct 2021 Evening (Set 2)
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i~ 4R Him her them' W ‘de T o . JP:‘
do him why &1 ‘e I Er . g i I.'.-'-_ do" ¥ "ald
fu 1k° rEn A R M ] Ll ww k)
(Al i (B fuw
i) ) ar
4 o & i o Mg B w w0 A0 0
(&) witd 'f.‘-:'-l- S i)
(B s a3k T
(C) o &t T
[La) mvEx &
3. vowen e & we, ww Bl /TR0
T v
(A) S )
|[_'| i'n'-",..s-'_-"_.il..'-l (jull iﬂ:“
Ak 3 sosfd 4 @, ap smpf gfv fed o

-

wpfa g b mfen k|

(A) d
i€l b

[H} a
Ly e

5. 2020 QU E . e s i 5 ween v
(B} 130

7 v ek, m
D) 182 '

(A} 138
{C) 131
6. 6 trgk i 4 sl 8 9 7 W ww g e by

S mivR e a e naen R o d s @

S
(A) 120 (8) 90
{€). 100 1D} 80

Tyﬁﬂﬁlﬁhﬂﬂﬂwmﬁﬁmmm:ﬂt
fafiem farymem g fomfom wamfem fag 7

Al AGRMARK
) AGPMARK

(B) AGMARK
(D) 350 & arad =
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Lonsider the following
I*:I_-:N{'_‘ll. portal of Mm:ﬁnr;q::}rr:{::mm and
Employment of Central Government e
. It is an online platform fhy |'||.r|1.-| at
engaying the Central Governmieni. State
overnment, District, Civil Society anid the
Public in ersdicating child Eabowr i achieve
the target of child lnbour free soci=R, ]
This portal enables the citizens 1o rmise
a complaint and report incidenis of
child labour through effective tracking
and monitoring mechaniam,
(A} Only the statement | is correct
(B} Only the statement 2 is correct
(C|] Both the stutements | nnd 2 are correct
(D] None of the above

1in  aboul

2]

A typlcal angiosperm embryo sae, at muatiirity,
though S-nucleate is
(A) G-celled
{C) B-celled

B} T-celled
D 9-eelled

The powers of the Panchayat are listed (n
(A} 12" Schedule By 11" Schedule
(C] 4* Schedule (0} 9* Schedule

Mame the State which succeeded in the efficient
implementation of milk co-operatives.

(Al Karnataka (B Gujarat

(C) West Bengal () Maharasira

I you atart your journey on 22* June 2003,

what will be the day of the week after 7 diys > mwr:ﬂa FHATA B 7 ] O W e R - W
of your departure 7 y .
{A) Saturday (B) Monday $\<‘ A 1) “;:’ f._]r?t%‘
IC] Friday B} Sunday IC) Ipham (D)
In which year did Napoleon Bonapat rown @%ﬁﬂwﬂhﬁmﬁmwm
himself as the Emperor of France ? i it Fm
(A) 1799 {B) 1802 Ay 1759 (B) 1802
(C) 1815 (D) 1804 () 1815 (D] 1804
United Nations High Commissioner for [ 14, ot fem st o ssaain (g w0 va .o, )
Refugees (UNHCR) headquarters at T R
(A) Geneva, Switzerland (B) Delhi, Incin w) fem, Bgwee (B feeel, v
Rome: Nane of the above () W, e (D) 3w & 9 w1
fl-'-': 1 hula; 3 3 15, siustuplesdes
5'54-5:51351'5;"? a 4 5 5
1
1 1 I 1
W 215 B 185 3
© 193 (D) None of these € 193 \
-3- %’\f _}/é
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O T s L lﬂ{‘ﬂ'l
FENCIL et i & frefefinn et o famn |
1. O % sifeeres s f P e e
HIFR, 7 W, T, Jfre wE s
AT = W S e e
T A T s A e A R

2. e titda iRt 1 el e A
forrrelt womeft & wregy @ are am @ wE ST
) fopergm it ooyt o & g W= Ri

(A) et A | wea

(B) A& FHA 2 H 2

(C) S | sz @

(D) T7ved & & &

9. wetE ghgwm o 8- vn A

ufsratemt oy B
gy (A) 6T A (B) 7w W
:E[ﬁ (C) B-=wifive aren (D) 9-wifimm a=n
10, ayme ¥ wrfwat f apdea ® 7
(A) 12 #f s o) 11 9w
ic) 4 ot ; 0y 0 o sepEE
11, g aeiGn % i A fam e 3 weem wies
=, =T |
(B} T
i e (D HEme

1§(ba¢nr ¥ 22 9 2003 ® wE T gE A E @
X

=
- 900 ]
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17.

1B.

al1.

A projectile con hove the same range B [or twa
angles af projection. 17, and t be the time of
HAipghts in the b Chses, then the Pl"fll'|lll'1 faf
the two time of fights @m proportionsl o

A} = {B) R

| H j

l- Hu I'\ i
< o] o

The extended observation of the social
perspective and cultuml values of an entire
scibial wetting is termed ns

(H] Ethnography

(D) Norrative

Al Interpretive
(£ Phenomenology

In a row of girla, Rita and Monikn ocoupy
the ninth place from the right end and tenth
place from the lefl end, respectively, If they
interchange their places, Rita and Monikn
sccupy seventoenth place from the right and
eighteenth place from the lelt, respectively
How mary girls are there in the cow. ?

A} 35 By 26

{C)-27F (B Dats insdegquate

A cube al volume 64 cm® (n cul into two
emiller and identical cuboids. The faces
af dimensions 4 = 2 of one of the cuboid
are pamted with black color and the rest
its Inces are painted with yellow color.
pair of sdjacedt (aees that do l]lltE[

poy foce of dimensions 4 = 4 of o
cuboid sre painted with yellsweNor and
the rest of its faces are paint
color. Now each of the two g
into 32 smuller and iden
How many of the smaller en
three colored fuces 2

Al B (B 16

14 12 10

Whit are the parts of each single Carpel ?

(Al Stigmn, Pedicel

(B] Stigma, Petal, Tepal

(€] Stigma. Style and Ovary

(D) Stigma, Style

MICR stands for

[A] Mechanical Ink Charucter Reader

(B Mechanical Ink Code Reader

€] Magnetic Ink Charucter Reager

(D) Magnetic Ink Code Reader
To which country did’

a Mm,
1€) England D) Greek

o

];ﬁ;

17.

s

(C) femn, weme st sigrm
) e, vee
21, um. 0 W . W wrew
s

CMEs . 8

o T 5 T A WA I e W B g
#1af, 3t ¢ @ AT S I5E Sy
& ol e % wwEan e

(Al l: {H R .
) R (¥ R'-'. 'ﬂr:"':.

v WS WA § AT ey,

m‘{ﬂﬂmiﬂﬁﬂﬂ £

o A

|A) SETERTFER (B) Tan i

(C) 77 we-fawa (D)

argfied e ofe |, O o ot o o

gl s ad A vt £ of s jge - O

wee ot &, 71 e i wfRe e e e o

wrgal s wrd & srames! © W b e
g7

’ B 26

D) 3teE s

B4 cm® ST TE 9T W S OB e e o

L AT R ORI A0 T

hﬁhmlﬂtmmwﬂ':'--wq

WA GHGINE G x4 w0

hiluiait EUTE & EOE EEERREER

NS R R At am | g= 0

B8 5 W 32 0 v e e

B2 3 & Pl & el g g e

"8 ®) 16
iC1 14 Dy 10
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B A car teavels & distanoe of 75 ki '

" 23, % wn 9% W i fers ol wik @ fash & =h

the speod ol 25 km/hr. 1 covers the .t

(L |
25 K of its journey ot e npced of 8 km /b
and the lnst 50 km of its jourm Vit e g

oW k| ar mod g & wns o= S o
b it s o) orf o o e Wt gt ek it

of 25 km/br. Whal is e avernge speed of 50 Tt wh 28 faah o ot i @ e s B |
the car 7 ) ahers rfa wagy B ol
) 12 km/hr N 128 kmy ke IGY 15 Tl e 3 12.5 Mt peimy S /
4.  Which of the fallwing is mol g e
VPR SN ] P "Ii'_.-rf- L
A} Completmentory micts) wihid ey ?‘-{_ Tt :"H'I_:! AP UW TR %k 3 B
nernbconicluo g (M) L Al WiENEr g dremes afEs e e
B) Personal Compuier [I'0) g0 HLuG . T, ) .
Il Modem (B Ss= weg () ) wrd
Y Video card ) wiEm
) difea wré
28, Sheol oromion lakes ploce g ;
on which type L] < — — e Era
of lands aftei o lienvy shower and the gail Jn. i & e e el e hﬂ‘- "
removil 18 it caslly notieeshle bui it is :_;;H""- r"”’ "l ‘G.“"'E"_”T'""ﬁ_""”-";rf*;a-.'
R b wiiE oy ol ol wfins s Tl S

harmiful since it removes 1he finer and mmore

lertile top sl 2 EILE R g if
[A) Hilly lands 8 Coastal lung (Al et it (H) wge i uin
[C) Level lands (13 Al of the abovwe 1) weEma (o) 7 el
26, Creation of new individuals in unleely g 25.. mﬁ@ﬂ& Ty #at = g 7
organisms is by 7 O ' ] -
Al Fission (Bl Fusion (Al (3] weRE
IC) Sexual reproduction D) Phylogamy @:ﬂq THAH (D) fagm
'b? i sr§fE Wk o ol i

"@T. Sclect the correct mirror imsge of the given :1'*

figure when the mirror is placed at line AR, x@ eSS AR T Y
A

£ N
S
k 12WEdgD0O8 E § 13WEd 08 E

B $ E
(A} ROOHAREMT ] (B) B{MmbIWE] A) BODAPEME] B BOOsbawe]
€ 13mEYEO0R (D] BOORbLAWEL (C] 13mEIROOH D) B00ghAWS]
The first ratlway steamed off in India from 28. v iw.-.:ﬁ'tﬁ'l'g 1853 8 E‘i # U $
Mumbai to Thane in 1853 covering o tolal ¢ f"ﬂa.ﬂ oy oy 7

distance of

[A} 34 kms (B) 75 kms (A) 34 T (B8 75 fah

[C) 78 kms (1} 53 kms (C) 78 fh D) 53 fah
29. T WA W el |

.llhﬂ.tﬂy the missing numbern
13 L g

13
17 5 7
; B
m L
13

7
(B) 14, 18 n (A) 22, B) 14, 18
(D) 18, 15 (€) 12, ID: 18, 15




21,

g travels 7 km. He then turns left again and
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If 40 persons consume 240 kg ol rioe
mo 15 days, 1 how many days will
30 peErsuna consume 48 kg of rice ?

3
LE]] 3: dayn
iC 9 days () 9 days

As per Reserve Bank of India (RBI), Account
Agsregator is o

(A] Nor-banking finsncial company
() Bankang tnancial company

€] Insurance compuny

(D) Cresit borrower company

Al B l duvs
E

Most important ecologically relevant
environmental factor is
(A) Temperature

(C) Water

(B Light
0} Seil

\

CHEE_SE
4uwﬁr15ﬁﬁiﬁ ﬂﬂﬁiﬂ'{:’ﬁ:' M .
> ::ﬂﬁaq.gﬁmmhiﬁmq@m
3
1 B) 3= fe
(Al szﬁﬂ B 3~
iy 4 f= () ofa

i, mj’f.:ﬂﬁ.)i’-ﬂ'—.’#‘*, o R
alL /mmﬂihﬁm _'-'EWE : -

(C) ¥ () 7=

In pre-independent Indin who was the first | 33, waewm-{d WAa ® 7O t@1 61 =91 779 7
to discuss the concept of & poverty line ? - ‘Qm?
{A) Dadabhai Naoroji A T et
{B) Gopalakrishna Gokale 60 (B) Tiviverge T
(C) Viriobha Bhave ,._,> (c) o wd
(D) Vinoda Bai ,bQ (D) forar amé
 is a special saftware that cqbjes | 34, v i e B s e = 5w v
users to read/view web pages ump ﬁm%!*whwﬁﬁ“' 7 o b

Irom one web page to another,
Al Web server B) w, r
(€) Web xite (D) B page

The sum of the first m'&ﬂ of the serien

500413417+, . in
A} 800 (B) 850
1) 860 () &70

A man walks from his house towards north
and covers 15.5 km anel then turma left and

1A) 3R t{B) #& =TI
[€) ¥ argz (D) &
35. - HEE 549413+ 1T+ S TE 20 v
wramy
(A) BOO (B) 850
IC) 860 (D) 870

36. UF W AW W R W e e P
s 15.5 Rl @ gt w8, o
g5 7 ol wem R | aw o and men P T
31 Fiaft wer & wre fo and sy # o 7 0 o
bhiha LLIE R ek
W sesfet :
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8. Two poinlcharges exerl on ench other g foree
F, when they i placed r dintance apart |
air. When they are placed R distance n 1-;111
i medium of dielectric conntgn K, tlllh'

exert the same foree. The distance R eq

Winls
r r
W = (8)
'HI"; K
i) K D) nk

The tectonic plote MWaeca® s sty ed betwreen
(A} Central America and Pacific Plate

(B} Bouth America and Pacific Plype

(C) Asiaric nnd Pacific Plate

(D) Neorth American and Souih American Plate

The tmffic lights &t  three different
road crossings change after 24 seconcds,
36 seconds and 54 seconds respectively,
If they all change simultaneously at
10:15:00 AM, then at what time will they
again change simultaneously ? :
(A} 10:17:02 AM (B] 10:18:36 AM

1] 10 16:54 AM (O} 10:22:13 AM

{.'.'haqu the night answer, based on the
relationship given in the question,

Clasp : Bracelet
[A) Wrist { Walch (B) Cuff : Trousers
1€} Hoak ; Coat (D) Buckle: Belt

N

[15]] Alllipuﬂili@m’
(D) Relotivism

According to Camite the traditional
- method of Saciology is

i Consider the following statements about
‘United Nations General Assembly (UNGA),
1. The United Nations General Assembly
 {UNGA) is the main policy making organ
- of the Organization.
;#- Each of the 193 member States of the
~ United Nations has an equal vote,
|A] The statement 1 is correct
The statement 2 is correct
he statements | and 2 arc correct

of the above
ed after selling an article for
Ehﬁ same as loss incurred after
urticle for Rs, 1,492, What is the

CMES - 82

afiE s vk s wm p g & Fad g d
0w i A § 1w o aofage frme K e
R gl ur e e B, @ off 3 s e e F 2l
R e #

L]
L]
ﬁm E]

r

r
A} —p= B

JK

() K JK

(B r

T i wremr #ofra faémb

(A) weg st afte w2

(B} =it st 3w S

(C) witmand it worra

(D) ot artfrafy afr aflgm smifody e

W sem-sen de wiftm T iew ez W
24 %, s s T e i vfe A
B TS FTW 10:15:00 AM W wzeR § @ el W

e w3 v g et 7

a39.

(A) 10: %Bﬁm (B] 10:18:36 AM
(C). WING:54 AM (D) 10:22:12 AM
4% 1w St & sam e At o
: PR
O o ota () W% : e
o (C) T w12 () === . dwz
> 42, FH TR iyt vafi
¥t
(A} TR B TR
(C) TR (D) BrEEm

43.  HgE O WE (9,09 310, ) & Wt § R
Frdl w1 Fran it | :I
o o
2. 6RO F 193 wow 2 A A
it UHE F R

(A) F9 | R
(R) 94 2 7 B
(C) % 1 sht 2 941w B
(D) T A & @
44, U TR E 1,754 % %91 % 1 wfdn =y
/' TR T, l.miiﬁ%mgmtﬁ:
1 0 o T g '
(A ¥, 1,589 (B) ¥. 1.593
(€1 3. 1,689 o i
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The denominator of & rational number is
4 more than its numeratonr If the nqm:mtqr
is increased by 7 and the denominator is
decrensed by 2, we obtain 2. The rational

number 18
5
1 =
™ 5 B 3
T B
==l B —
= 10 l 11

61. What is viability of seeds
4] Presence of temperature
{B) Excretion in seeds
(C) Respiration of seeds
(D] Presence of life in seeds

63. Under the Criminal Procedure Code, 1973,

the ciln pass any order to prevent

any miscarriage of justice or abuse of the

process in the Indian courts.

{A) District Court (B} Civil Court

(€] High Court D) Supreme Court
63. How many culs arc required to cut a cube

into 512 pieces ?

(A) 511

=) 70

Ic) 21

(D) Cannot be determined

Directions (Q. No. 64-66) : Study en
information carefully and answer tHons
that follow
I. Six friends P, Q, R, 8, Tand U are members af
a club and play a different game of Football,
Cnicket, Tennis, Basketball, Badminton and
Volleyball.
IL T who is taller than P and § plays Tennis.
Il The tallest among them plays Basketball.
W'Thtﬂmrmtimﬂngﬂm;ﬂm?uuqrbnﬂ
V. Q and S neither play Volleyball nor Basketball.
VL. R plays Volleyball
VIL T in between Q who plays Football and P in
order of height.

64. Who

thar poy T them is taller than R but shorter
N (D} None of these

¥

CMES - S2

w;fqﬁqﬁﬁwﬁWﬂﬂmﬁ;aiﬂﬂ!wﬁH; 2
mﬁ?mﬁmmmﬂﬁnﬂvr;-.,_
2 e g B | i W R

5

B z 5.0
] s eni
e ‘*! :Jl
? H’ --!:_ : IE
T D 1] oy |
© 10 i 11

1
[A) e

61 il o srmpdan (sfie ) F0 R 7
< (A) amaEr o Fafeef
(B) Wit & e
(C) Wt g
(D) Wt & aftem ot Ffefa
62. _anmuftes ox ¥k s, 1973 § 707,
A v e # & fe o mive @ s

% @ e R F R e i
wE R
(A} Foren wrd (B) frfre vt
(@), ¥ e (D) Ffm %

63, ql}inqiﬁ"! 512 g%s1 ° FeA % fom s =2 &a
&ﬁmt?

&f (A) 511

(B) 70
(C) 21
(D) Fratfea =@ e o g
Pln (9. 4. 64-66) : 12 & 1d g w0 e @ ofew o
Wt & 3w #fau |
L@ fmp QR S T U v 5@ 5 aza § ol
geate, firine, 3, avebzata, defies ol afefaia
WA P
IL T pa s a b, Hamdam g |
11, 398 8 wad oW wredkzate dea b
IV, 338 & Wi B2 aiefiaie ae f
V. Q 3 s 7 ot afefrale 3 ¥ andate dad §
V1. R afefrafe dem d
VI, T, Q 3 et devm & af p = & darf s b

64 VHRARR-mRATHsmpRTl?
A Q B) T
Ic) U (D) Wit & wf 2

-10-
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84. Consider the following statements about
‘Socialism,

1. Socialism refers to a ser of Politicul
ideas that emerged as a response to the
inequalities present in, and reproduced
by, the industrial capitalist economy.

2. The main concern of Socialism is how
to minimise existing inequality  and
distribute resources justly.

(A) l::m.lyﬂm statement 1 is correct

Iﬂl Only the statement 2 is correct

(©) Both the statements 1 and 2 are correct
(D} None of the above

85. If with the 3%, 4, 5, 7™ and 10™ letters of
the word PERSONALITY” & meaningful word
med, then first letter of the word is
B) T
lDl R

HHTaaTE & W § Faffan e o et |
1. wrsrEre T frad % v e W g
w1 & A v qefard) srdermen 8 g
it 0 g wean s iR
w=En Iy R |
2. weraAr ) e A ae e
WEOEM %A w5y fEn A s
) w1 3 Fam 48 fem = |
A) Fu ) wd R
[B) "= 2 6f b
(C) Fiwu ) o 2wl B

) IR A |
,/:;m \LITY' % 3, 4, 5 3 7 741 10

Fai A T
(A) O B) T 0 .kf?
(© s O} R 5
. e HIEE: w yoel!
T2z @ % 1ed ) fafa @ wahla ® 1
(A sifeire. (B) s
D) wE
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1. Which number will come in the place of
question mark ?

7, 13, 24, 45, ?
(A) 74
(B) 86
(C) 90
(D) 96

-~
-

2. From the given answer figures, select the

one in which the question figure is hidden/
embedded.

Lz Q%
0 \ /
K A% _ /
(A) dal " (B{; b
(C) a (D) ¢

3. Which of the following are three factors of
production ?
(A) Land, Labour and Water (3
(B) Land, Labour and Capital %
(C) Labour, Capital and Water B3
(D) None of the above

4. has launched the US-India Allighce
for Women'’s Economic Empowerment.

(A) US-India Working Group on Human
Rights

(B) US-India Peace Agency
(C) US Agency for International Development
(D) None of these

Directions (Q. No. 5 - 7) : Six persons
A, B, C, D, E and F sitting forming a circle
and facing each other. B is between A and
C, Eis between F and D. F is sitting straight
opposite to A and right to E.

S. D is between which of the following

pairs ?
A) EF B) AE
@ At i CF
6. Who is at the immediate left of D ?
(A) E (B) F
(C) B (D) A

7. If the positions of B and E are interchanged
and also that of C and D, A will be in between
which of the following pairs ?

(A) CB (B) ED
(C) FD (D) CE
19
FED C R 4

"7/ /-l/ "{ Lr"/ lkt_ \"
Haryana Police ConstaBlgP%g%’r% '

~C

5 CMES - §2
t 2021 E\/?h_ing (Set 3)
1, ST R 3 e TR e SR 7

7, 13, 24, 45, ?

(A¥ 747 3,
_By’8e

(C) 90

(D) 96

2. @ e angfral # @, 7 sHfa i Rt g
a2 ) wafEa ® |

A 7
l K
a b d
—Ad (B) b
(CLa (D) ¢

3. . frfefad §f @ S-w searer & T T E 2

2 (¢
AT, o 3l st l:ﬂ‘* -
(B) , o ot it P\mN )
(©) o, doft st s (Y CQ‘ |
(D) Iutew T & i e '
4. %ﬂﬁnﬁmaﬁ%aﬁﬁmﬂﬁw%m

4. e s yr R 7
) AR g ., -3 afdm g
(B) 8. -3fean fa wsieih
_Aeysiatieda e % R g0, v
(D) 378 @ rE 7

:ﬁ:a:rﬁ-f‘aA,B,c.D,Eaﬂwqaa

EARECEE 8 R %mﬁ%lB.Aa?r{c%Eﬁaﬁ,

E,_gmp%ﬁaﬁ%lF.A%ﬁﬁmﬁﬂa%aﬁzE%

T | B

5. Dffefaafidfragmdayr UG
(A) EF —BJ~AE OARG)
(C) AB (D) CF

6. FHH D F qia and gny 7
(A) E

©) B B) F

e ~—DT A
T B Emmmﬁmﬁmmw
C 3 D %7 oft T 3mq & sy 2
et a4 s g g o A
S (B) ED
(D) CE

\(ﬁ'“ |— —— \

Foet—,
L\ B / /j'
& —— X 12




10.

11.

12.

13.
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> X
The ratio between the speed of a train and a
car is 18 : 13. Also, a bus covered a distance
of 480 kms in 12 hours. The speed of the bus
is five-ninth the speed of the train. How much

distance will the car cover in 5 hours ?
(A) 280 km

(B) 250 km
(C) 260 km
(D) Cannot be determined

Which of the following is not a keyboard style ?
(A) QWERTY

(B |

CMES - 82

8. WH 3 3 wh Hu A ufd F W w s
18138 1709 8, v ww | 480 frft i gh 10 02
i o el & | A AR A AR A E 59 2 | 3w
5 w2 1 ferat gh i o

Ay 280

(B) 250 frt
(C) 260
(D) Fautfea =t far s wapen

9. fy=ferftaa o 4 @ - v Frand fefr 4412 7
| ﬂbx
(A) b’thRrY

e i § B2
(B) AZERTY B I—C !:*‘%EF %
(C) DVORAK 3w !""g 1 (C) DV('JR%K
. . i
(D) QDZERT B ’bfa’z 7

I travelled 35 km from central point towards
South and then turned left and travelled 17 km
and finally turned left again and travelled
35 km. How far was I from the starting point ?
(A) 17 km (B) 18 km

(C) 35 km (D) 70 km

Acquittal or conviction comes under

(A) Section 247 of Criminal Procedure
Code, 1973

(B) Section 248 of Criminal Procedure Cadeg;
1973

(C) Section 249 of Criminal Procedure Code,
1973

(D) Section 250 of Criminal Procédure
Code, 1973

Two vessels A and B contain milk
and water mixed in the ratio 5 : 3
and 2 : 3. When these mixtures
are mixed to form a new mixture
containing half milk and half water,
they must be taken in the ratio

(A) 2:5 (B) 7:3
(C)4:5 (D) 3:5

BCCI announced the following mentor of the
team India for the tournament, which will
be played in UAE and Oman in October and

November 2021 m LJ

({g{ ]:da;i ?)l]:asl'ftn S 3
5. oni

(C) Sachin Tendulkar Lw—i.

(D) Saure:_'.;)?znguly __ﬁ 3>r.'0
Srf:} )3 7 -3-
2,3

1219

10. # i faig @ fém i w35 Fft e
g amd e 17 forlt = 3l siaa: =
qea 35 ferrft =rem, & aarifir fag & P
AR

—TA] 17 ot (B) 18 st
(©) 35 faret (D) 70 et
Ayl a1 dfafe foress sfaia amar 2 7

(A) STToTies 8 wishar afgar, 1973 it 910 247
(B) amquferes g wferan wfgar, 1073 i amr 248
ey smquive: T8 wfshn wiedr, 1973 &1 °m 249
(D) 3morteer g ufskar Gfgar, 1973 1 9w 250

12. ATHAMBHg i w fEms: 332 3
& g A ¥ | 5 A fsror s gy ok s wrEh
aTeT Tk T Hsror s 3 fer fyemn s 2, | 3

~ fafTaa w1 & f=t arguma § fern s anfie
(A) 2:5 (B) 7
C)4:5 _ABY3:5

13. BCCI A Wity #in & frfufas aeesr swgm
IR FaeR 2021 H g ug. ofk 3iwm # A srE
At & fore wfva foma R
(A) e st
(B) WU, HiHf
(D) Hra et

19



14,

15.

16.

17.

18.

19,

19
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/
Seleet the correct mirror image of the given 14. AT ﬂ'@ﬁ’ﬁﬁiﬂ'ﬁ g&mgﬁlﬁqgﬁqwmaﬁ
figure whc;m the mirror is placed at line AB, @1 AB T W@ SE R |
A
" R . som
| e i
- Y 108
B T
I . 8
(A) B) |® - 4 R L
¥ % v @ {5 - (B) :
1
1
(©) 2 2 o) | 3 /}6 ; 5 s
) /(Bj J
v 7 T
1
T 5 i T
?};te“;l;atl tigu; betwi;n 3 and 4 1?’ clock is 15. | 3 3R 4 79 F o9 & % 9 & W oin e At
gle between the minute hand and the °
hour hand of a clock 75° ? Efaiﬁ'ﬁ"ﬁﬂﬁwla?s o 7
(A) 3 hours : Q%minutes Msw: Qi_lﬁqz 87 3
(B) 3 hours : 30 minutes B (B) 3 s=i= : 30T Ka’/
2 80)(3 - 3 ey 5
(C) 3 hours : 35 = minutes =7PF o 3T 35 fe . X,
—
(D) Both (A) and (B) e~ (D) 1Ay 3T (B) eI 3
The price at which equilibrium is 16. %mﬁumn@aﬁwﬁm%
reached is called as FEATTE |
(A) Equilibrium price (A) qﬂ?ﬂ T /Y\ C Y
(B) Equilibrium quantity (B) Hﬂ?’l—-ﬂﬂ'ﬂ'! NO
(C) Normal price
(D) Skimming price (D) fé;mmq’rqg.z;
‘Shivering’ during cold is beneficial for 17. ﬂaﬁm E Rt %ﬁﬁ'ﬂ ‘T ATEE B
mammals. It helps to BiiE  HuEma e |
(A) Decrease the body temperature %I;] [A) mﬂtﬁimzﬁfqﬂﬁ
(B) Increase the body temperature IR & T Y @
(C) No change in body temperature (C) YR & a1 | =h1d qiteda T8
(D) Increase in the heart beat (D) ¥&T % WA I wGH
The headquarter of South Western Railway 18. =fgm qigqiﬁamwﬁﬁa% 7
[i;]l{;:i:iiﬁ?);t (B) Chennai /M (B) =%
(C) Secunderabad (D) Hubli (C) forehatrama (D) gt
Liberty, Equality and Fraternity are main 19.  forweh drom T, aarar ofR sy ¥ g
principles followed during et ab1 e fobat o ?
(A) Russian Revolution (A) lﬁ‘éﬁwﬁf @
(B) French Revolution a;rf?( .
(C) American War of Independence (C) =mfteh wd=ar Ty
(D) Indian Freedom Struggle (D) WReTa Tdsrar T 56
X Py
4. - ‘S:DW\S‘\J 5
® i 5 | POy
X @& = -
v T —

1_

If9 n
finish
days
6 hou
¥ given
much
same
(A) 12
(C) 9
21. 10%
suCCH

EEEK () 1
EEEIC) 2

22.

20.

In
left
inte
bec:
con:
Bee
(A)
(€

23. Thal

N E
{le C
(D) €

Coc!
(A) A
(C} L

ARP
(A) ¢
(B) £
() /

)

Py
Iy
Eac!
Socis
Engl
spea
resic
Ther
Hind
Engl
San:
can

(A) <
(C) €

25.

26.

P T
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go. I 9 men working 7% hours a day can

finish a work in 20 days, then how many
days will be taken by 12 men working
6 hours a day to finish the work, it being
given that 3 men of latter type work as
much as 2 men of the former type in the
same time ?

(A) 12% (B) 13
(C) 9% (D) 11

21. 10% discount and then 20% discount in
succession is equivalent to total discount of

giE(A) 15% (B) 30%

ic) 24% (D) 28%

22. In a row of children, Sheena is fifth from
left and Beena is sixth from right. If they
interchanged their places, then Sheena
becomes thirteenth from left. In this
condition, what place will be occupied by
Beena from right ?

(A) Fourth (B) Fourteenth
(C) Fifteenth (D) Eighteenth
23. Thalinomics is related to

4
&)

24

25.

26,

Cost of a telephone call
(C) Cost of a marriage ceremony
(D) Cost of a basket of vegetables

' [15,1 Cost of a plate of food
B

. Cockroaches are

(A) Monoecious
(C) Dicecious

ARPANET stands for

(A) All Record Projects Agency Network

(B) Asynchronous Records Agency Network

(C) Advanced Research Projects Agency
Network

Asynchronous Research Projects Agency
Network

(B) Monoplatus
(D) Dendrous

/

Each of the 144 residents in a Housing
Society, Tata Steel can speak either Hindi,
English or Sanskrit. Some residents can
speak more than one language, but 75%
residents cannot speak all three languages.
Tr}ere are 43 residents who cannot speak
Hindi, 68 residents who cannot speak
English and 32 residents who cannot speak
Sanskrit. Find the number of residents who
“an speak exactly two of these languages.

(C) 65 D) 73
3 -5-
(43 V1%
pran o b ]
q =" 1y

20.

21,

22.

23.

24.

25.

FE |
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ST 9 3TeHt U e # 7, 92 I o U I
20 fedi d qu s waa 8, 1 12 e 233 6 192
F F e et d v m g o w3, 7 R
< 181 & % o1 et w3 3 et 3o € wm
A & e 0 v & 2 st FR E 2

12' (B) 13
(C) 9'2 11
10% 1 e 3 i w0 & f 20% 72 7 fvet
T2 H A E 7
(A) 15% (B) 30%
(C) 24% /('DTQS”n
o 3l U ufe |, v and & qieel offt aftr and
B3 2 | 3 3 o Ty a7 A wew o E, @
i1 &l & deeet @ ot @ | 3w el o A g
& & F-7 T fera s 7
(%) =hen By
(C) UsEa (Y 3FBrEdi
RURENEE: S k- 0k
(A) WISt i} T e A e
(BIU fAwR Fia A A
(C) T forame TR i wmre
(D) wfevra i T 2t A T

AR 0w 3 A, e R

(A) 3iTet TrarTg Wistaem weie eas
(B) ufbi fraré et Jeadh

(C) e frgd romeE vsH Feadk

/ﬁj’qﬁﬁﬂﬁﬂéﬁmqﬁlﬂ?@éz
26.

711 Tl 3 T wrfam A o verd 144 Fard @
1 foi, i o g A v € | 39 el o
& syl T de T B, wferA 75% e wd
wﬁqﬁﬁam%msﬁaﬁﬁwﬁﬁmm%,
esﬁa@ﬁﬁﬁiﬁa\am%aﬁmzﬁmw
qﬁa‘mm’étzﬁﬁmﬁtﬁﬁmw%ﬁhﬁ
st @ 2 e e ' E

"36 (B) 40

(D) 73

19
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27. A 175 meters long train crosses a 35 meters 27, TH175 tﬁzqu”rzq SSW%.@Z‘F' Lk 12 t}%
p}atfmm in 12 sc;:m]d& What is the speed e |aq-ql§’| qﬁﬁtﬂ/t{aﬁw% ?
of the train in km/hr ? o
(A) 42 (B) 59 (A) 42 Af 50
(C) 63 (D) 64 () 63 (D) 64
[§]: 54 [x]
28. - ___is spending within budget.%ﬁ 28. ______._Wa; mm% l
(A) Fiscal debt el (A) TrSreRIeF 0T
(B) Fiscal prudence (B) TSI Er
(C) Fiscal consolidation Aefmmm
(D) None of the above (D) It EREEL
29. Consider the following statements about 29, f—w%ﬁﬁﬂﬁﬁﬁ%@ﬁmq{ o & |
?-Sﬁqac:{n initiative of ministry of al . R
. Itis iative of minis extern RpRfmt 7
affairs, e 11. T8 37 g T, é;ﬁ—mm%{fga,
I, It ajmsat prorvidmgaccntralized platform for Bic] ew, T e A FTe P T
contactless, faceless, cashless and paperless HiiereT /qeaTes /e dan IueEy W W
document verification/attestation /apostille 3 / / Rr=hy o TEs
service for Indian citizens, foreigners who e w B %’ i
have obtaineddocuments from document STttt SRt & gt e fore & |
o et n
Statement I is correct
(B) Only the statement 1 is correct (B) FHIwY t‘\ [
(C) Both the statements I and II are correct /‘(ﬁ]_’?ﬂ’laiiﬁ 13fR i we y O > t
(D) None of the above (D) v o @ IS 7
30. Indian Council of Agricultural Reseafoh 30. sfem wiftrer atie arfiierean e (o t.w.am. )

(ICAR)-National Research Centre on Equines

- e fd e i s (wam )
(NRCE) located in ____ of Harydiel )~ glo  sftaron s v Rt 8 R & 7
(C) Karnal (D)Bhiwani VR (E _(oyeTE (D) T
31. In which of the following ways, a browser 31. fraferfies o 2 fra 7% ¥ & seen wedifear
supports multimedia data ? TR T TR ?
(A) Native Support (B) Plug-ins _ Ay E (B) <H-3)
(C) Helper Programs (D) All of these (C) HErTs WHmE (D) A aft
32. The Great Leap Forward Campaign was 32. e T e st ad sy ga |
initiated in the year (A) 1948 972
8y Lods e (C) 1980 ":gﬁgss
(C) 1980 (D) 1958
33. Telecommunications Business Act, called 33. HER FRAR 341%11?12:11' . gfg T 7 Feardl
the “Anti-Google law” is related to j__ duafm
B2 (A) South Korea (B) North Korea (A) e it (B) ﬁaﬁﬁm
H9E () Russia (D) China (D)
34. How many terms of the AP 80, 75,70, ... are | 34, TR 43! 80, 75, 70, .... ¥ fed 73l F S W
required to make their sum equal to zero ? ﬁﬂwa?mﬁ ?
(A) 25 (B) 30 (A) 25 (B) 30
() 32 (D) 33 —fers2 (D) 33

19 / %O/ 1 5
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35. is used to regulate the Dearncss - | CONSERSIR, . AT mgﬁﬁ 3 mﬁ
Allowance (DA) of government staff and HTHITIL fﬁgg'nﬁ Cull (P’ T.)* frafer
industrial workers. feru gy
oroft g -
)’VCOT‘['-}-\LM‘I"IL{ILI;‘I ice Index for Industrial %I (A) ﬁmﬂsﬁwﬁ?mm( AT,
Workers I-1W) oAl g5,
(B) Consumer Price Index (CPI) JE B) Hem dE g (.. "Wg
(C) Wholesale Price Index (WPI) [C] iﬁ“l'aﬂ ﬂq%@ﬁm (gii‘:;gr
(D) Wholesale Price Index for Industrial {D] m( =4
Workers (WPI-IW) a7, - 3Tr§ 35.)
36. How many 6’s are there in the following 36. fa=fafaa 3 A@en 4 a fora 6 2 ﬁ‘ﬂ%gﬁ
BEiEl number sequence which are immediately a1z 4 &1 7 ?
%[; preceded by 9 but not immediately e 92 q'{'g w 214
— followed by 4 ? 56432963164964215967
56432963164964215967214 749642
749642 ,
B) &
(A) One (B) Three (A) © (B)
(C) Two (D) Four —TCTR (D) ¥R
A magbleg tue is being carved by a 37. T gfi®r g HTHOR T qfd A IR S Tﬂ
/T! ultor. Th the first week 35% is cut away, 2 | UEA 98 b5} 35%3?1?.'%\‘:!131%, E‘“@ﬁm 1
O ln the second week 20% of the remalilder A 1 20% e Fa o a7 fret g F 9
§ cut away and in the third week 25% of :
/‘the remainder is cut away and polished F1.26% =1 fear srar ® ok sifem T{ﬁf‘ﬂﬁf % fer
:_.jl to produce the final statue. The weight of Gifeter forar stran 2 | SFfcm gfd 1 991 48.75 1bs B,
the final statue is 48.75 lbs. What was the > f P
weight of the original piece of marble ? - a;u@g Al o
(A) 100 Ib (B) 110 Ib (A) 100 Ib (B) 110 1b
(C) 1151b (D) 1251b —t€ris (D) 125 1b
38. (7)°x(3)° =(6)*= 342 38. (7)°x(3)’+(6)’=
(A) 12348 Pl iR\> N (A) 12348 3% - 36
(B) 85.75 29 o (B) 85.75
(C) 1543.5 LB L = (C) 1543.5
(D) 257.25 3 2-C ) /(DT257.25
39. Which letter will be the fifth frorp the right 39. HH-GT & ar | gi==m 2 af wse
if the first and the second, the third and the ‘COMPANIONATE’ § ugel 3R g6, digl 3fit <9
fourth and so on are interchanged in the
word ‘COMPANIONATE” ? o ST ) 7] 1 et B 4 e e 2
(A) A B 1 OcfMuA (A) A (B) I
©) N (D) O A N (D) O
40. Who gave the statement as, “a single shelf 40. fopua s faom ar s “uh Wm RISEASD
of a good European library was worth the EFT'Q%ﬁFEF WA 3 3T & 113 aft ot & s
whole native literature of India and Arabia” ? qr’’ 7
(A) Charles Wood -5 red g8
(B) Macaulay J ? Lé/ /&ﬁm@
(C) Rajaram Mohan Roy (C) TSR HYe Wy
(D) Swami Vivekananda 20 ¢ /H:')/ it fFaEme
) & o
o Ryl s ¢
3¢ = _;' Y 7 19
f 252
.57 e

qﬁ-
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43.

44,

45.

46.

47,
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74 X 1§—38= "t~ g L ¢ =
e L] i o AL G
United Nations Organisation came into 41, wyF TS
force on g4 Al 1945
(A) 24™ January 1945 B) o4 fedat 1945
B) 24" December 1945
:c; 24 October 1945 (C) 24 TR 1945
: e 1945
(D) 24™ April 1945 (D) 24 e
Fgadrs At Feah ad T
_isan example for covalent or 2. _ ——
network solid, e 2 | ZnS
: 7 0
.= o e A
i aF, W=
oy mif B B 1 HE W
j _is a high spced memory 43. -—*W)?wq% 7N Yren wEEE HaTd
available inside Central Processing e iy A 3 X 3t ﬁquﬁﬂaﬁﬁ
Unit (CPU) to speed up access of data () CEEU N
and instructions stored in Random i
Access Memory (RAM). (A) ot
(A) Registers o1 DA
(B) Cache memory (B) Ayt A ‘-a-q) /O
(C) Read Only Memory (ROM) o 3
(D) Random Access Memory (RAM) (D) trsw @)
The batting average for 30 innings of a 44, (T e flgardl 1 30 g = e
cricket player is 40 runs. His highest score 40 W 2 | I I @I, FTAH R
exceeds his lowest score by 100 runs. If these 100 @ aiftr= B 9k A 3 3fm I 7 Wi
two innings are not included, the average W, @ 3§ 28 3FM F R Imew g 38 1
of the remaining 28 innings is 38 runs. The : Ragerrt = i
lowest score of the player is e I vl TH] Tyt
(A) 15 (B) 20 (A) 15 (B) 20
(C) 18 (D) 12 (‘10)718 (D) 12
Rivers Alakananda and Bhagirathi join to 45. IAFH 3K arfieft afegt o Tat Y
make river Ganga near ‘ T % foe ¥ qrg et 2 | E]
(A) Devprayag (B) Vishnuprayag AT SasEm @) faspmam @G
(C) Nandprayag (D) Rudraprayag (&) TEsam TR
Unauthorized use of trademark is 46. TEUHF m[ﬁ'ﬁr:mhnaﬁ Fwq
known as ST ST 2
(A) Cyber haking (g} ﬁyber s;qiatting AT W?ﬁm (B) Egat-Taafan
(C) Cyber spacing (D) None of these (C) wr3e wfEm (D) 57 & =13 7
United Nations High Commissioner [or 47. R -
Refugees (UNHCR), second time won . :h;:({ .H S IweIgF (4,09, va. .31
the Nobel Peace Prize in the year & wifa TR forg ad sfan »
(A) 2021 (B) 2020 (A) 2021 2020
(C) 2019 (D) None of the above (C) 2019 (D) I @ 78
Yeast commonly reproduce by 48. @it sk gLz
: frm s | " m
(A) Budding (B) Fragmentation
(A) gFeH :
(C) Spore formation (D) Acids © "("Br T (FrTHeym)
L (D) 7 (ufre)
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ALU stands for
(A) Algebraic Logic Unit
‘Arithmetic Logic Unit
(C) Algebraic Logarithmic Unit
(D) Arithmetic Logarithmic Unit
Tradeable instrument issued by the Central
Government or the State Governments is

(A) Government Security (G-Sec)
(B) Share bonds

(C) Salary bills

(D) Demand drafts

Fertilization in reptiles is

(A) Absent (B) External
(C) Very rare (D) Internal
To create new e-mail is used.

{4) Compose mail /[Bf ‘Forward mail
C) Attach i

[7; ach mail ([;\] Reply

Three positions of a cube are shown below.
What will come opposite to face containing $?
%

/n +
s [l + |®]] & |*]. BN
Xg+ A
(A) Y% (B) &,
(C) ~ (D).

The famous Harappan Sites Lothal and
Dholavira are in the state of

(A) Gujarat (B) Rajasthan
(C) Haryana (D) Bihar

In a certain code, ‘RAINBOW' is written as
‘BOWNRAI'. How is ‘GERMANY’ written 1n

that code ? 0|
(A) ANYMGER (B) AMNYGER% £
(C) ANYMEGR (D) AYNMGER &

Elections to the Constituent Assembly were
held in

(A) August 1940

(B) July 1946

(C) September 1951

(D) None of the above

CMES - S2

49. U.UH .7, FFACH &
(A) UGS it e
W@ﬁ%aﬁ%ﬂﬁz
(C) Teaifareh @i gfe
(D) ufedfeer wifafies 7fTe

50. hmmmwﬁmmmwmﬁ

sTE e
[A;na#ﬁzm%ﬁﬁ-ﬂm
Mﬂtaﬁ%
epam fe
(D) ferre g
51, Y A Sl i e
(A) At ABY
(C) 3rcdd fated (D) APl
52. % 3-Hd M & o1y férea o1 AT
foan s 2 |
(A) =TS T e wel
(€) 3= B (D) frama
53/ o A e R S A i R | T8
¥ forodia @/ e -
. e o
$ " + & |*
(A) % ot Bk
C) ~ (D) + + N 5
54. uftg TeoTE Tue divw iR A & 4
I - -
(Af oI /{‘E}(’ITGT@IF{
(Cxl\‘a'ﬁ'ﬂT"H {E)(}Fqgr(
55. TF %2 ‘RAINBOW’ %! ‘BOWNRAL ferar s

¥ 139 F2 § ‘GERMANY’ =1 ¥4 foran som 2

A ANYMGER (B) AMNYGER

Q) ANYMEGR (D) AYNMGER
56. TfauM w1 ¥ forg T = gan A ?

(A) 3FTE 1940

(B) Y 1946

/{ef' et 1951

(D) vyl d & =1 T
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Two wires A and B have the same length ang
area of cross-section. But Young's modulus of
A is two times the Young’s modulus of B, Then

the ratio of force constant of A to that of Bis

(A) 1 B) %
C) 2 (D) J2

is the electronie version of an output,
which usually resides in computer memory,
(A) Soft copy (B) Hard copy

(C) Print out (D) None of the above

It is defined from the
that is living standarg
€conomic standards of
in surroundings.

(A) Case poverty

(C) Absolute poverty

The batch of consists of State
Emblem and Two Stars.

(A) Director General of Police

(B) Inspector General of Police

(C) Deputy Inspector General of Police

(D) Senior Superintendent of Police

Which of the following cconomy also called
as laissez faire ?

(A) Mixed economy

(B) Capitalist economy

(C) Socialist economy

(D) None of the above

Which ovary is said to be Inferior ?

(A) Ectogyny (B) Perigyny

(C) Epigyny (D) Hypogyny

To link the documents on the internet we use

social perspective

(B) Asset poverty
(D) Relative poverty

(A) Hyper media (B) Hyper text

(C) Hyper link (D) None of the above

Doha declaration is related to

(A) TRIPS agreement

(B) UNCLOS agreement

(C) BIMSTEK agreement

(D) TRANSS agreement

The L.C.M. of gaa +b3) and (a* -b*) is
® (2 +1%) (a? +b?)(a - b)

B) (a3 *b”)(a+b)(a +b?)
(©) (a+b)(a® +ap+p2)(a? + b2
D) (a° +b%) (2 _ 2 )(2-b)

0
[&]

-10-

57.

o Z':.Ez = e frj

9p = 28 -

s

CMES - g,

ﬁaﬁAaﬂtBaﬁéﬂTﬁmaﬂ. ¢ 'WWW
| g A T T T B A K T
3 A ¥ aret P 1 B % ot PRI & argam 3

i 1o
HENCER.
58 wF Forfd <h SetagTie Tkt @ it
[ ——— N Rt 15 ]
g e
A) Hi® :
o S (D) vwdwa & &
. T wwnfo g & R frn g s g
> %ﬁ@wm%mﬁfmmﬂmﬁm
e s ‘
(A) Tt (B) wafer wlish
(C) ot et ABY7WTE et
60. mﬁatmﬁaamﬁﬁﬁrﬁwwﬁm%r
(A) I meifRyes
ABT I weiftrers _
(©) Yfera sumeririers ;K*#f—
(D) RS g arefterss
61 W%%aﬁﬁ%ama@naﬁaﬁﬂﬁmﬁﬂ
TN TR P /\)
U 37 J
RN
(C) wHTSTaTdt Sasteraee ?O -
(D) STFF & %S 7t 7
62, %ﬂm‘ﬁ o
e WWETT%?
: S (D) T3
63. TR M $otke ey 3
W gy a2
(A) B3R Hifey (B) TEw 3z
STER feres (D) 3% & & s e
64. 271 Hiyuy A wifg 2 |
(A) TRIPS wwghq;
(B) UNCLOg
) BIMSTEK
(D) TRANSS Tz
i (ﬁa+b3)aﬂf(a‘~b‘)wwmqaaf%
W (8045%) (a2 )y,
B) (a® +b3)(ﬂ+b)(a2+b2)
—CI{a+b)(a? +ap 41,2

o
2 6 +7) o)y
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What is the minimum number of cuts
required to cut a cube into 343 pieces ?
(A) 19 (B) 24
(C) 18 (D) 21
Which of the following is not a type of RAM ?
(A) Dynamic Random Access Memory
(DRAM)
(B) Static Random Access Memory (SRAM)
(C) Synchronous Dynamic Random Access
Memory (SDRAM)
(D) Parameter Random Access Memory
(PRAM)

Which metal has lowest melting point ?

(A) Tungsten (B) Gallium
(C) Germanium (D) Zirconium

Auguste Comte named the scientific study
of social patterns as

(A) Determinism

(B) Positivism

(C) Behaviourism

(D) Relativism

Which of the following is not a symptoms of
altitude sickness ?

(B) Heart palpitations

(D) Diarrhea

(A) Nausea
(C) Fatigue

White Label ATMs or WLAs, are the- BTMs
set up, owned and operated by

_AA) Scheduled Commercial Banks

T2.

73.

(B) Non-Banks
(C) Reserve Bank of India (RBI)
(D) None of the above

£
I:q-—.l‘

AL

A dice is numbered from 1 to 6 in different
ways. If 1 is adjacent to 2, 4 and 6, then which
of the following statements is necessarily
true ?

(A) 1 is adjacent to 3

(B) 2 is opposite to 6

(C) 3 is adjacent to 5

(D) 3 is opposite to 5

A 30-pin Single In-Line Memory Modulus
(SIMM) used in older system boards, which

deliver byte of data.
(A) 1 (B) 2
€3 D) 4

11

;35

"H
P aﬁaH?Jobs in" res s

66. U F 343 2 A e % fer aifea =g

12 TE 8 ,
9 4
f[rg]f;B (DY 21
67. Tt & FH-a1 tren TR AH ()
U JEHL R 8 °

(A) SR e T AE (€1.4)
(B) R tren T AR (TH.1)
{cgﬁmgmﬁfﬁmhﬂwﬂﬁmﬂmﬁﬁm
Mwﬂmmﬁﬁ@?ﬂ)
68. i g 1 T 2T € 7 -
] ST (B)
() wriffam (D) SRif
6o. sifme Fi2 3w R 3 A s
am fea g |
4y Fradeaame
(B GEHTCHFATETS
At TERTET
(DyFTIEER
7o\ Fiffaa # & #-a smafes Riebtd F1 T
e e @ 7
— Ay et

(C) oM

(B) &34 il 9SFA
(D) srafaEn

71. =R OEA A W, WA TAL, A . E R
F T a7 gefera foman wiman & |
A gl afufsas S5
(B) Mo
(C) frord s s Sfeam (aame ot o7id.)
(D) ITlad # @ 1 T

72. U Y@ H q@t ol & gewn 1 9 6 forft e @ afe
A1 1, €& 2, 4 3N 6 % HEE g, At F=fafiaa
i 8 e-d1 FoH e sy @ g e 7

(A) 1, 3 % & B )_H

(B) 2, 6 % fata Brm 2\«.\%‘7
_IC}3, 5% Irad & Ao T

(D) 3, 5 % fagdia g N

73. T firen W & v 30-fA fime g Al
Yeqer (@, 3., ) FAW A S R, S st
H_ wme g e |

(B) 2
(D) 4

(A) 1
1€ 3
19
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It deals with the inte
ancient literature of
texts

(A) Archaeology

(C) Anthropology

rpretation of classical
ancient Indian society

(B) Indology
(D) Demography

If n identical drops of mercury are combined
to form a bigger drop, then the capacity
of bigger drop, if capacity of each drop of
mercury is C, is

(A) n*C (B) nC

(C) n*C (D) n*C

Who was the first President of U.S.A. ?
(A) George Bush

(B) George Washington

(C) Thomas Jefferson
(D) John Kennedy

The theme of International Youth Day 2021 is

(A) Transforming Education

(B) Youth Engagement for Global Action

(C) Transforming Food Systems : Youth
Innovation for Human and Planetary
Health

(D) None of the above

Polymorphism arises due to
(A) Mutations (B) Evolution

(C) Recombination (D) Transformation
Which of the following is the principal form
of carbohydrate which can' translocate

throughout the plant by Phloem ?
(A) Cellulose (B) Sucrose

(C) Maltose (D) Lactose

A scientific study of the nature, extent, cause
and control of criminal behavior is called as

(A) Criminology (B) Indian Penal Code
(C) Penology (D) None of the above

The exchange rate is determined by the market
forces of demand and supply is called as

(A) Fixed exchange rate

(B) Foreign exchange rate

(C) Flexible exchange rate

(D) None of these

Animals possessing coelom are called
(A) Coelomates (B) Acoelomates

(C) Pseudocoelomates (D) None of these

-12.

.
-

¢ N CMES - g,
wa. wr R e Tul % T I wfi
= =rEaT @ et @
(B) et foren

ferm
(©) T (D) SFaTfeTeR!

afx uit A1 n T T oS HAR T 7 g gy

i %,ﬁqﬁ@gjiqgfﬁur&mc_aﬁwmieﬁ
erTiean &
(a) n*C /tBl’n%
(C) n*C (D) n”*C
76. wgFd Usg IMARERT (F,0H.T.) F qu4q Tafy
9 7
(C) siferE e
(D) ST S
77. FaU gar fiaw 2021 w1 fRmg wn d ?
(A) FIgerdt fanam
HB) 9% EsTie B e e -
(C) g T fiven : gu e wk o G
wHed oy
(D) 3R & & 1 7E - KI
78. WEEIA___ &R At B '(O
79, R & i e o
TG w92 ?
—A AN (B)
(C) ATes (D) |
8O- ST Saere 1 wepf, <o, o i i
HTIT =) wE SR |
(A}a'?,‘“fip'e'u‘““ e S
¥ (D) 39iiaa 3§ & #ré 78
81. fafm 2t Frefoor wiy i % -
LGRS ;ﬁ’?ﬁ;ﬁ%?m
WPt fafim =
ABr-faaeht fafnry = -
(D) 7 & % =g &
82. oMY TEY ATt vy e &
(8] Seffie BT sz
S (D) i & wd
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N 86. hich of the following ministrics of Central
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84.

87.

88,

89.
@
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B @

[n the question, two statements are given
followed by two conclusions. Choose the
Conclusion (s) which best fit (s) logically.
Statements :

1. Some A are B

9. Some B are not C

Conclusions :
. NoBisC
11. Some A are C
(A) Only conclusion II follows
(B) Only conclusion I follows
(©) Both conclusion I and II follows
(D) None of the conclusion follows

Find the missing term.

2,4,16,128,?
(A) 2041 (B) 2045
(C) 2046 (D) 2048

Indian standard time is
(A) 5.30 hrs ahead of Greenwich Mean Time

MT)
(By 5.30 hrs behind of Q:Cenwich Mean
Time (GMT

jei< s’ﬁa-r}ieg of r:wlfMEAn Time

behind o’f<£Z vich Mean Time (GMT)
Government has launched the Scheme for
Good Samaritans ? '
(A) Ministry of Road Transport and Highways
(B) Ministry of Home Affairs

(C) Ministry of Railways
(D) None of the above

1.6 expressed as a fraction is

16

W 2 B) —

10 09
(C) 2 (D) None of these

3
Chef : Kitchen :: Artist ?
(X) Cabin (BY Factory
(Cy’'Theatre (DX Casino
The Dose of Malathion is
(A) 0.75 % (B) 0.25 %
(C) 0.50 % (D) 0.1 %

The Delimitation Commission is appointed

by the President for the purpose of

(A) Drawing up the boundaries of
constituencies all over the country

(B} Drawing up the boundaries of states

all over the country ) .
(C) Drawing up the boundaries of union

territories all over the country
(D) None of the above

13-
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83. gqgaaﬁ,aﬁaﬁmﬁqm%ﬁtﬁmaﬁﬁ&ﬁq
: wéléﬁmﬁgﬁqsﬂmﬁﬁmﬁaﬁmm

‘E;]*“,'Eﬂt |
o E FwmeA ¢ o
L FBA,
é.gBthﬁ%
e ¢
I.ﬁB.C;ﬁ% —
{gi Aﬁ%ﬁlﬁqmmi
Foreepe | ST I 8
(C) @t o 1 3 wd )2
(D) T Fred STTET @l 7,
84, &l I F | - /8
z’,’a’f'lé',’?lzs,/? S
(A) 2041 (B) 2045
(C) 2046 /{gf 2048 o
2l
g5, ST W T @ -
LA}mwaan‘\nasn(an.@.a.)&ss.aotfim A x

By A (dh.an ) ¥ 5.30 RS ———

(YR i 2 (AT AL) F 5 o 1 8

) e e 7 () % 5 7
g6 ﬁqﬁ%ﬂﬂﬁaﬁ:—ﬁﬁam%ﬁmﬁw
Yoo Al 36 for AT R AT R 7
(B) 7@ FATHA
(C) Yera HATerd
# & g T
87. 1.6 i fm ¥ w7 3 ¥ e e smem ? /6
16 6 e —
(A) — ol Lo
10 09

(D) il & w7 /<

—

7

© 2

go, e i GUF
(A) 0.75 % (B) 0.25 %
_1ey0.50 % (D) 0.1 %
o0, i smam i FrgfR wegafa g fra e &
AR 7
(A) T 21§ fater & < dire @
FI-1@1 TR FAT

(B]rﬁ‘aﬂﬁuﬁfﬁrﬂmaﬁmm—%mmm

ot & 8 37 wfe e b e
1 TY-1@T TG FAT
(D) 390 g FE T
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% CMES - 82
English Language fe=elt ama
91. Till in the blank with appropriate modals 96. ‘T T HETEt & ek R
from the alternatives given below it. )
You have a holiday tomorrow, {A) TEar
—Myneed (B) shall (B) =i
Q) dare {Q none of these 3 e
A
92. Fill in the blank in the following N ST AT g
sentence using the verb forms of the .
word given in the bracket from the (LY T @ IS 7
alternatives given below it :
[,11;: _is tr:ying to (Lg}x/s-tice}.fhis claims. 97. oty 3=t Bt 2wt o ¥ =7 et A
\) justice justify '
(C] justification “{D) jusidic TR A T T HA: ;Féémﬁ Sl & e 31;
> ferdt YT ShATT:
93. Fill in the blank with appropriate concord A =71 7 EA SR
from the alternatives given below it, SR |
The accused together with his associates AT T
arrested.
X4) are (%T were .'[_B} e
—{€}was (D) has (C) @rfe
(D) 7 & 1§ 71
94. In the following question, there is a
Statement followed by three starters which
are denoted by a, b and c. Each starter g 98, ‘Mer’ ACT®Y HHTH <l ISTE00T § |
a group of the first few words of a sentence
. ol : (A) Stferaror
which, on pProper completion, is supposed )
to convey the same meaning as the original (B) ¥HeT
statement. Find out which startér(s) can (C) "ay
form grammatically correct seéntence(s) to
convey the same meaning a8 the original (D) ?ﬁ@ﬂ?ﬁq@ﬁ
statement.
No sooner did the band start to play than 99. ‘Fwy’, ‘¥ us’, F 3=, ‘Fa aqfe
the lights went off. N T F sjartq AR E
ag As soon as the band ............ :
b. The lights went off ............ A Y S
Se The band started to play ............ (B) 99~ sy
T,-l-"’r)"O_nly b (B) Al.l the three (©) ﬁmw
(C) Either a or ¢ (D) Either b or ¢ (D) i & ‘ﬁﬁqﬁf
q
95. Givethe meaning of the underlined idiomatic
cxpression from‘the alternatives given below 100, = % Iy ‘E' F one T & qur e
it. (understanding the context from the A9 .
sentence), = et 3 = & e e 2 |
Dull and long speeches tax the patience of (A) &=
the audience. E2 :
(AT to spend time usefully ‘-‘--ﬁ,i.;iy(gfw
to test one’s patience =4 (C) et
(33 major part .
(D). to seek to fight (D) ¥4 & = 7
—'_—————_______________._ﬁ__________________
19
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India has target of h
renewable energy by
(A) 2025
(C) 2040

aving 450 GW of

(B) 2045
(D) 2030
\ccording to Bourdi
nusic, interest in a
(A) Social capital

B) Cultural capital
C) Human capital

eu Knowledge of classical
rt are an €xample of

D) Psychological capital

ue to lanthanoig contraction

chibit similar radii.
A) Cd and Ay (B) Nb and Os
°) Rh and Re (D) Zr and Hf

ho wrote a book, ‘s

ecrets of the Faithfu]
usader’ ?

BT
) Francesco Balducei f;jg%
) Marino Sanudo
) Nicolo Polo
) Marco Polo

lich of the following state has launched
llet Mission’ with the objective of making
“state a millet hub of Indja ?
Karnataka (B) Haryana
Chhattisgarh (D) None of the above

ludent goes to school at the rate of

km/h and reaches 6 minutes late. If

travels at the speed of 3 km/h. He is

minutes early. The distance (in km)
veen the school and his house is

5 (B) 1
3 (D) 4

President of India can impoge
onal Emergency under Article
that is caused by

War

nternal disturbance
External aggression

All the above

ontinent which has highest Browth rate
pulation ?

\sia »
Iorth Am§nca

(B) Europe
(D) Africa

CMES ~82
L. w3450 qua‘iwnquﬂmmmmq
T
A) 2025 b (B) 2045
(C) 2040 (D) 2030
2. ﬁ%mﬂm‘hﬁmﬁmmﬁﬁnﬁa&
T T Iae @ |
(A) BTl ot
(B)
(C) wra ¢sh
(D) qﬂ‘r?}mﬁa;‘isﬁ_ -
3. HHige g ¥ T T gy
TR |
(A) Cd 3k Ay (B) Nb 3fk Os
(C) Rh 3t Re (D) Zr 3R Hf
4. ;ﬂi;{aaﬁq;a%agﬂ@"éa’m%é@m
?
(A) i Tergah
(B) et wrger
(C) Pt ey
(D) =T gte
5. ﬁm%fﬁaﬁ%aﬁw—%uwﬁ‘ﬁézﬁm'waaﬁ
Frcte w1 23 % st 35 e s fon 2 7
(A), Ffiew (B) sferom
(Q) BfrrTg (D) 390 # } F1¢ 7df

6. TH B 2% %.m.jtiaaﬁm%ﬁqaam%

(A) 5 (B) 1
©) 3 (D) 4
T % Ty 3= 352 ¥ ded T AT
g §, *F FROFar e | ;
. o
(B) aTTafER s
() aﬁﬂ‘m
(p) FTHP - \
WW E!'Ha"aai
B, wWm (B) T
(a) TR s
s @
() 3l

M 6 e 2 A wgww 2 | som ww am
3%ﬁ/ﬁaﬁwﬁﬁmé,ﬁraﬂoﬁqﬂ3&

TG § | T 3wk e o gt (Rl ) 2

s

9.  Powers to €
under

(A) Section

“h Code, 1

(B) Section

Code, 1t

(C) Section :

Code, 16

(D) Section :

Code, 19

Read the foljc

question that

L A,B,C,T
friends

10.

II. B earns m
tallas C

II. C earns Je:
taller to D

IV. Ais taller t

V. D earns mc
shortest in

Who among the
(A) A

(B) B

(C) D

(D) Cannot be di

11. Samir started fr
Inspection duty.
for a distance of 4
market and travell
now turned left ag;
for 200 m and t
straight for 600 m
Police station ?
(A) 4.4 km
(C) 3.4 km

L]
12. M ise
[0,5) +(0.4]
(A) 0.9
(€9
Frogs can respire i

(A) Lungs
(C) Sensations

13.

14. Srinagar is located
(A) Chenab
(C) Ravi
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9. Powers to examine th

ceiilat € aceuseq Comeg o
(A) Section 313 of Cri
Al Code, 1973
(B) Section 314 of Crim
Code, 1973
(C) Section 315 of Crimin
Code, 1973
(D) Section 316 of Crimin
Code, 1973

Minal prOCCdurc
inal Procedyre
al Procedyre
al Procedure

10. Read the following carefu]
question that follow :
. A,B,C,DandE are five
friends
II. B earns more than E, but is as
tall as C
IIl. C earns less than A, but is
taller to D and E

IV. Ais taller than D, but earns less than E
V. D earns more than A, but is the
shortest in the group

Who among the following earns the highest ?
(A) A
(B) B
(C) D
. (D) Cannot be determined

¥ and answer the

11. Samir started from his Police Station on
Inspection duty. After travelling straight
for a distance of 4 km he turned left for-the
market and travelled straight for 600un. He
now turned left again and travelled straight
for 200 m and turned left#and travelled
straight for 600 m. How far Samir is from
Police station ?
(A) 4.4 km

(C) 3.4 km
(0.5)" - (0.4)'
(0.5)" +(0.4)°
(A) 0.9

(©) 9

(B) 3.8 km
(D) 4.8 km'

12. is equal to

(B) 0.09
(D) 0.009

Frogs can respire in water through
(A) Lungs (B) Skin
(C) Sensations (D) Nose

13.

14. Srinagar is located on the banks of the river
(A) Chenab (B) Jhelum

(C) Ravi (D) Sutlej

9. - Afrgm @ < aifraf frad ofmia
" ot ¥ 7
(A) Smaufirs Zgfen wfea, 1973 A ur 313
(B) mmmazuﬁ;mai%m. 1973 #} 1m 314
(C) st ¢ sfFn e, 1973 4 ara 315
(D) sty g5 wfka wfear, 1973 Bamr 3y

100 R e e A e oo sl e

I. A,B,C,D3RETHa=?

Il. B, E ¥ ST AT &, SR a8 399 8 wreay
2 @ fr C
C,AUFH FA ], AT a8 Dok EQ
ERICR e B

g

II.

IV. A, D ¥ ST &1 8, A E & 39 Farar 2
V. D, A Y S FAM@T 8, A T8 Tg § vl
[a]nEE oer
EE o i 4 2 e ST S 2 7
(A)_A
(B)'B
() D

(D) Frutfa =& 6 51 gt

11. #R Flan g W gfow Rve @ 9§ s
2 | 4 ot i =rem % o) 9% I S fward gean
2 3600 . we =ewr & | 5 g a1 gear & 3k
200 ., ey =rerar @ | fFard gear @ o 600 .
e wrerd @ | e gfow Ry @ fre g ?

(A) 4.4 it (B) 3.8 fasit

(C) 3.4 T (D) 4.8 ferelt ESE

(0.5)" - (0.4)° Ol
(0.5)" +(0.4)°
(A) 0.9 (B) 0.09
(C) 9 (D) 0.009
13. TeF T # vau fhas mem d a8 7

(A) H52 (B) T
(C) &g (D) AT

14, s e 7 & e R 2 7
(A) fomma (B) $em

12. R st R 7

(C) ufa (D) wae

T e ——
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158. Find the odd one

Outin the group of letters, 15, #_ Rum e ANT RN |
BaLQ i (B) FKPT , W BGLG T Aﬂlgﬁrgm >
(C) YDIN Y D) MRwB ‘4 (C)YDIN (D) MRWB
16. Which of the follmv\l'ﬁg is not a built in chip ? 16. ﬁmﬁiféﬁﬁﬁ?ﬁ?—?ﬁqgﬁﬁa:ﬂ.mﬁqqﬁa?
(A) Level 1 (B) Level 3 .{Af?—‘la'ﬁ 1 (B) ﬁEiFi.B ;
O30}
(C) Level 2 (D) Level 0 (C) Stad 2 (D) %oﬁé 2s.
17. Data lines are collectively known as a 17. 22 qwHf = T w7 FEITd |
(A) Address line (A) T39 wrem
[B} Data bus /{B} ST TY
(C) Control lines (C) Fgra w7 o
(D) None of the above . (D) ST F Rkt
18, Who was Popularly called as “The Grand Olq 18. frefafas & @ o “oma & #< e & 1 @
Man of India” ? S gu ?
(A) Dadabhai Naoroji A memrgq‘tﬁsﬁ
(B) Lala Lajpat Roy (B) wmm =
(C) Balagangadhar Tilak Q) mﬁ!ﬁiﬁ
(D) Gandhiji (D) mefisht
i = FHIE T G
19. Which of the following button does not 19. “ffafan 4 & o I =5 28.
appcar on the command bar ? & 37rar ? |
(A) Home (B} Refresh (A) B BT {i |
(C) Print (D) Read mail () fire (D) {reiw :
. 7
20. I HEW AAR (e W) f wer e
- Who was called as Grand Monarch of
N gur(;:cd; = ) (A) TEE-XIV L_{B]/E@-XV _ 29. :
(2) Loutgaey {{gi }:OU}S ﬁ\vm (C) TE-XVI (D) S§¥-XVII .
Louis XVI oulis i
o " A Saal 21, T TR xy = & TR | _ l
21.  An cquation xy = c gives = 5 (A) ST ST _
(A) Rectangular hyperbo B = o f
(B) Linear demand curve = £
(C) Individual demand curve _ teT Fafars win am e &
(D) 3% 9 & F{ 7 s
(D) None of the above r =
: 22. A sfufan ¥ g, &l .
a erson = : y
22. \Eﬂgig ::té?u(jéd by the oﬁ&eﬁi to feceivc mﬁﬁ%@mmmmmﬁiu | ;
thé electronic record but does not in;lude mm%éﬁﬂmﬁﬁémm#ﬂ 31. :
any intermediary., (A) STy “
(A) Authority . /[B’]lm p—
(B) Signatory _ © a3 T
C) Addressee STl . s
:D; None of the above 1 (D) IR & ¢ 7 :
23. The first Biosphere Reserve established in 23. wra ¥ wife yuw aredia fod ;
India ; Vm]/:ﬁaﬁ-ﬁ (B) AFH (
(A) Nilgiri (B) Nokrek o e (D) PR
(C) Nanda Devi (D) Similipal (C) F=1
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24.

25.

26.

27.

28.

31.

32.

Join Teles

ISP stands for

(A) Internet Service Provider
(B) Internet Service Protoco]
(C) Intranet Service Protoco] .
(D) Intranet Service Provider

CSSRI stands for

(A) Central Soil Sampling Research Instityte
(B) Central Soil Salinity Research Institute
(C) Central Sand Sample Research Instiute
(D) Common Soil Sample Research Institute

The Organ of the UNO which consists all the
members of UNO as its members

(A) Security Council

(B) Social and Economic Council

(C) General Assembly

(D) Secretariat

What is the maximum number of pieces into
which a cube can be cut by 10 cuts ?

(A) 100 ~B) 11
(C) 80 (D) 120
Scarcity is the root of

(A) All economic problems

(B) Social problems

(C) Political problems

(D) None of these

The magnetic moment p of a revolving
electron around the nucleus varies with
principal quantum number n is

1
B FT
(D) ua%

Cyclical changes during reproduction in rats
are called

_ (A) Oestrus cycle
(C) Sexual cycle

(B) ‘Menstrual cycle
(D) Asexual cycle

2032 Olympic will be held at
(A) South Korea (B) Indonesia
(C) Australia (D) UAE
-The age of the father is four times that of the

son. 5 years ago, the age of the father was 7
times that of his son, then their present ages

are
(A) 40, 10 (B) 35,7
(C) 42, 6 (D) None of these

8

il

g
B (C) 42, 6

24.  I.7H. M. (ISP) F1 Hoem &
(A) 02 Bffy Wamer
ABY $e0e wfi et
(C) Tk wfdm wdvwta
(D) e afda warsst
1.0 .18, A.37TE. (CSSRI) 1 Hoew &
(A) Tgw Tige Seafem fd
(B), Tz wiza Afafdt feed 3R
) ¥ ¥ dvya fd R
(D) =i wiga Avae fra 3fReege
26. TIFA U W A 3 1 GYF U 9 F mh v
FH A 7
(A)_Hen giwe
—(B) i sir anfiF oheg
(C) =™ BT
(D) BfETe™
10 %12 g1 U T 2 Arfuran fohaa ghel § Frer s
aEAM R ?
(A) 100

25.

27.

AB[ 11
(C) 80 (D) 120
. F HFHAR |
S ~(A) THE e wHE
(B) | THET
(C) T JEn
(D) 3 | I3 &

29. 1 & AR 3N YEY 9T T soagE @ g
e | W@ FEIH HE&A n F WY ufEfa gan @

28

(A) pan _ABr e
(©) pon? ©) hog
30. SEAVTH S GAIBRRIREE
Fea € |
_AK) TR T (B) wfre <
(C) wfire = (D) 3TAfes =sh
31, 2032%AEfw__ HER |

(A) <fiur it B Rl
(C) sieferan (D) 3T
32. FaH g EHR I Hamm | 5o R
a?tmgaiﬁ!aﬁgaﬁ[?gﬂniﬂlmaﬁjtjﬁﬂﬂmi
(B) 35,7 2

(D) T & 7

Wi 1

7
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34,

35.

36.

37.

38.

39.
OB 0]
5]

40.

Inacertain town, 4(q,
i * "% of the people have brown
air, 30% ; 33. 1
rown ?Qi? ?;}fdbﬁn o Yes and 129 have both RRATEC, 40, it 3 Rarer g, 30%Hyfgpe
of people in town ;1(::'3 ﬁgﬁi’et%;[ pt:l;:emage 3 12%%%3@3&%3{@@3}# lw’b’(ﬂﬁ;ﬁ
rown cyes wn hair nor SR it
(A) 41 i RIS patgy
(C) 44 {‘g}} :S ) 41 ®) 43
(C) 44 42
The clection campas
“Mpaign must eng 34, T EES
before the closure of election o -b;ﬁﬁ ammmmﬁm
(A) 24 hours ; T
[C; ot ours (B) 36 hours Fg'&r@ ) 249 (B) 365
2 hours (D) 48 hours ARG ©) 12 o1 i
The sum of three numb §
ratio between first ang ircsf.‘(;rsidlci))?: g :thg 38 A T A 102 ¢ R areh s
and that between Sccond and third pe T F ot 7 SO 2 ;3 sk T 3k
5: 3, then the second number is aiﬂhwa-'@'qras 3 ﬁ,ﬁ‘?iﬂﬂ#@mi
(A) 30 (B) 45
(C) 27 ) (4) 30 {Bf 45
: D) 48 (©) 27 (D) 48
Which of the following Committce has been | 3¢, %wﬁq'ﬁ-g-qﬁ,sqﬁqhw (Tam.Hf.) &
set up by Reserve Bank of India to review Wﬁnﬁmm&%hﬁ:ﬁﬁ 32 g
working of Asset Reconstruction Companies R 1 M3 A ﬂaﬁmmmm% R
ARC]) in the country ?
L e - (A) . . wen TR
(A) N. C. Muniyappa Committee
(B) Rajnish Kumar Committee mmwm
(C) Sudarshan Sen Committee (C) Havla o7 witfy
(D) None of the above (D) 37T 8 § #rd 7
India’s first Water Plus’ city under-the /37/ T I 2021 % el WiE Fwen
Swachh Survekshan 2021 is c A T TR |
: ® B) w€iTg
(A) Dehradun (B) Chandigarh {9?“?3 lDI oy
(C) Mysore (D) Indore (C) & (D) N
i : F7E T T (@5, .0 ) o |
The fourth World Social Forum (WSF) meeting 38. <heft "?E“Tg aﬁq::m E
as held in A .
T:]s et (B) Mumbai (A) feeh ;/_P[E:I/‘Iﬁ |
(C) Porto Alegre (D) Montreal () ‘ﬂﬁﬂﬁ‘} (D) q”%“' i |
th is two days | 39. uf W % 10 af R ywEam @ 2 Ry WA
If the tenth day of a month is e 7
i i hat day will it be on T % 19 4 Rag-m ?
earlier than Friday, w y
the nineteenth day of the month ? (A) NEC L (B) HHaW
) Sampex D) Frinay” (C) qUaW AD] TR
(C) Wednesday (D) Friday N
Who is the first women President of the 40. ﬁﬂiﬁwm‘“ﬂ el Hige ST
Uni(t)ed Nations General Assembly of India ? Rﬁmmm '
(A) Sarojini Naidu { Pundit (B) Trew st @t ufEa
(8) Madam Vijaya Lakshmi Pan; (C) e ¥
(C) Kamala Harris (D) I & & T T
(D) None of the above
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41.

42.

43.

44,

45.

46.

47.

They direct appropriate be
to-day practices and expre

sub-division in the district,

havior ;

: In the dgy-
Sslong ofa cuu‘;:i
(B) Sanctions

None of these

will be the In-charge of o

(A) Norms
(C) Folkways

(A) Additional Superintendent of pg;
(B) Decputy Superintendent of Police -~
(C) Inspector of Police

(D) Sub-Inspector of Police

Select the correct mirror image of the given
figure when the mirror is placed at line AB

2dvo9g

-~

B) | —

b_—

AMAAJ

AMAAT AMAAI

€ |— (D) _'_'_"E
2anog 2avoP

Which of these is a decomposer ?
(A) Crow (B) Tiger
(C) Rabbit (D) Fungus

Complete the sequence by filling in the
missing letters.

ac babacac
(A) aabbcc

(C) abacch

(B) accbab
(D) baccbb

It refers to the social position with df?ﬁned
rights and duties assigned to these positions
(A) Status (B) Role

(C) Designation (D) Identity

What is the distinct ecological commupity
of plants and animals living together in a
particular climate ?

(A) Biome (B) Ecotone

B

C
CMES - 82

41, 3wERf R -uif A vt ofv iR
3 3P TR AT A

(A) qHeE - Fﬁ?ﬁ
(D) ¥ @ ré 7

(C)
w Fret 3 e swiea |t g |
() rfefra gferm e
By ferd JurHierh
(C) gferm frfiers
(D) gfera sufries
& é st v adn i g, wm e @

Yar AB W@ S R |
A

1=
42.

43.

LAKME
—

«—
—

PONDS

B

AMHAAI

—_—

(._——u
sdyog

(A) (B)

AMAAI
‘_.-—-

o —
2aV101

(D)

44, T Y FA-WTF IR & 7
(A) (B) =™
(C) @ BT s

45. e R AR A T SfEen B @R |

atcabcabea’ca ¢

(C) Population (D) Community

(A) aabbcc (B) accbab
(C) abacch JD}-baccbb
46. %Wqﬁﬂmmﬁammaﬁﬁi%
et e feufe o defifd e R
() fefa (B)
Aer® (D) &=
a7, TR e # e e A i ol e %
fyfire TR WHETd Y T HE §
—A) wEW (B) TRW
(C) e (D) FRR
- .
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49,

50.

51.

52.

53.

S4.

55.

56.

SMPS stands for

(A) Simple Mode Power Supply

(B) Switched Mode Power Supply
(C) Simple Memory Power Supply
(D) Switched Memory Power Supply

Traditionally, the subject matter of economics
has been studied the following broad branches
(A) Deductive and Inductive Economics
(B) Positive and Normative Economics
(C) Micro and Macro Economics

(D) Static and Dynamic Economics

Vamasadhara river dispute is between
(A) Andhra Pradesh, Odisha

(B) Andhra Pradesh, Karnataka

(C) Andhra Pradesh, Telangana

(D) Andhra Pradesh, Tamil Nady

If the alphabets are written in the reverse
order, which letter will be 12M to the left of
the 16" letter from your left ?
(A) D (B) X
(C) W (D) v

The average of 5 consecutive even numbers
A, B,C,DandEis 52. What is the product
of BandE ? _
(A) 3000 (B) 2988
(C) 2916 (D) 2800

What is the maximum denomination of coin
can be issued in the country-as per the
Coinage Act, 1906 ?
(A) Rs. 1,000

(B) Rs. 10,000
(C) Rs. 100

(D) None of the above

system, the electron beam is
SWeEpt across the screen one row at a time
from top to bottom.
(A) Beam penetration
(B) Random scan display
(C) Raster scan display

(D) None of the above

In birds, the forelimbs are modified

into

(A) Wings (B) Nails

(C) Beak (D) None of tgesa

If 20 men complete one-third of a piece
of work in 20 days, how many more men
should be employed to finish the rest of the
work in 25 days ?
(A) 10

[ 1o B) 20 "
(

(D) 12

CMES -8

48, RGACA S (SMPS) 77
(A) T899 Bz gy e

ﬁ%%mm
(©) féqﬁﬂ‘q‘lﬁqﬁ'a;m
(D) ez 344 vy e

51. Hﬁamﬁﬁmmﬁ%@w%lmﬁ?m‘ﬁm
ﬁam%mﬁzzaﬁ‘mmaﬁq—mﬁm?
{A) D (B) X
W (D) v
52. 5 % @9 "W A, B, C, D 3K E ¥ 3ivwq
52 8,71 B 3 E 1 TR e 2t 7

(A) 3000 48] 2988
(C) 2916 - (D) 2800
5§3. fuw Afufam, 1906 % sman 3w § fws @
feread Yol R ST o St e & 2
(A) & 1,000 (B) ¥ 10,000 3
AE) ¥ 100 (D) 39 & @ #1§ a8
S LR
> T UF WG A G iR e e skl
A) = P
_Esmqﬁﬂﬁ'@é
(C) tex e fevmd
(D) 3% H A I T
55. ufirl % smure el seer s € 7
() 5@ ‘—'ﬁﬂﬁm
(C) =i DRCLA RN
56. wﬁzogﬁwzoﬁﬁﬁqwﬁmm@mﬁ,a}
F F 25 ﬁﬁﬁmm%mﬁﬁ},m,_
fratfora fora ST =nfiy 7
(A) 10 —6) 20 |
(C) 15 (D) 12
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58.

59.

60.

61.

62.

In this question, two state
followed by two conclyg;
conclusion(s) which besy f
Statements :

1. All pig are animal

2. Somc animal arc not bird
Conclusions :

1. Some pig are not bird

[I. Some animals are pig

ments are Eiven
ons. Choose the
t(s) logically,

(A) Only conclusion I follow
(B) Only conclusion | follow
(C) Neither conclusion 1 nor 11 follows
(D) Both conclusions 1 and 11 follows

In zaid scason crops are sown and
harvested in

(A) April-June

(B) September-October

(C) March-duly

(D) December-February

Malabar Exercise is Military exercise of India
with

(A) US and Japan

(B) China and Japan

(C) Japan and South Korea

(D) None of these

To check for new e-mails, click the
o ~link.
(A) Sent

(C) Inbox

(B) Compose mail
(D) Draft

A step down transformer isused on a 1000V
line to deliver 20 A at 120 V at the sccondary
coil. If the efficiency of the transformer is

80%, the current drawn from the line is

(A) 3A B) 30A g
[s164: =]

(C) 0.3 A (D) 2.4 A

Some boys are sitting in row. P is sitting 14"
from the left and Q is
there are four boys between P and Q, how
many boys are there in the row ?

(A) 19 (B) 21

7t from the right. If

(C) 25 (D) 23

58.

59.

60.

/u@rﬁ"w

CMES - 82

57. TaWA M A%y g m § R are 2 Pt Rome ¥

iﬁﬁﬁmamﬁmmammmh

1. é\ﬂﬁmmﬁq
2, T oy uah 7€ E |
fremd ;

I FogeR e T E |

1. F3 YR |

(A) e FreFd 11 ATE0 e B

(B) Fae fred | srgao Far &

(C) A Freard 13 & 11 e Fwen 3
(D) 3 foreed 1 311 argEr R §

e 3 Hren # wad s st @ sitawd
2

(A) -~ A

(B) Todar-smazat

(C) el -ers H
(D)-Fede-tat |

AR -3BE Hd eI
TR |
{A)3. T8, IS

(B) = 3 S

(C) ST 37 &fE =i
(D) 8 @ g 7

m§-ﬁa%@%%%q_%mﬂ%ﬁmﬁl
(A) ﬂ:z_ (B) S0 T
(D) g

61, T P g Rl e ®

62.

120 V W T&F 1000 V €T W 20 A
qp FQ ¥ forg wam feran s @ 1 AR
FTAGT it FRiw 80% %, a1 @I ®
Am@ R,
(A) 3A

(C) 0.3 A

Fooehima a3 ¥ | pa 143} QN

F7d AR | 7f p 3k Q % e T wre € | R
wehuf A E ? .

(B) 30A
(DL-27F A

(A) 19 (8) 21
1) 25 (D) 23
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63.

Directio_ns (Q. No. 64 and 65): Study the following
information carefully

1 to answer the questions
Biven below.

Seven friends P,F,.R. T, Q,
different s

Fi
in
for

64.

65.

66.

67.

68.

nance, Journalism and Ph
the same order. Each o
a different colour red, bl
orange and grey, not neces
Three of them are girls,

Length : Metre :: Time : 7
(A) Pascal
(C) Minutes

(B) Ampere
(D) Kilogram

Pecialisations IT, Civil, HR, Mar

Who is studying Civil ?

(A) T

(B) P

C) F

(D) Cannot be determined

Which of the following is the group of girls ?
(A) Q,N, P
(B) F,Q, N
(C) F, D, N
(D) Cannot be determined

A basic unit in Spreadsheet js E,]. %
(A) Cell (B) Row 2 rs]
(C) Line (D) Column

The number of ways that 8 beads of different
colours be arranged in a necklace jg

(A) 5040 (B) 2880
(C) 2520 (D) 4320

In a row of girls, Shilpa is ej
left and Reena is seventeenth
If they interchange their po
becomes fourteenth from the
girls are there in the row ?

(Aa) 29 (B) 27

ghth from the
from the right,
sitions, Shilpa
left HDW man},

N and D are studying
keting,
armacy not necessarily
ne of them haye liking
ue, green, yellow, pink,
sarily in the same order.

grey and R likes orange,
the one who likes blue studies Finance,

sa. E'1'-7"751'1"3!::!11111:'r‘
(&) ey
(C) frrz

ESEIE L cE

P.F,R T o N 3 D fafim
» HR, fawom, fyg

mmmmﬁﬁlﬁﬁmeﬁmﬁﬁhau
S, e, 0, e, Tl Trft 3 = 7w oft sy
T % vt o of | 579 A A7 TTefai § |
Pﬁ%ﬁm%ﬂqﬁa%q@nmmmmﬁmm
ﬁ%awammm?,@ﬁhmm%dﬂqm
TR, Q, N g d, N it % favom 1 s a
%muﬂmr’nmm%mﬁﬁﬁﬂmmﬁmﬂm
:ﬁﬁmhmémﬂﬂﬁm——ﬁ%ﬁﬁwmmﬂa
3R & 1 g e Fﬁ!ﬁﬁakﬂmﬁhmt,
wﬁéﬂmhﬁz%,ﬁawamm%:

64. RifEFwgw2?
(A) T
(B] P
IO F
(D) futfca =& faam s wapan

65. Fefefad i & B-mr wfimt HHER?
(Al Q,N, P
B RO
(C) F,D, N
(D) Fuifta 7&f o st g

66. Teyfle d mﬂm;rmé_____?- I
AA) 3 (B) ¥

() Y (D) ¥

67. wwEn A faf= Ol & 8 mawi @) =afem =@ &
aliel 6t g 2
(A) 5040 (B) 2880
(C) 2520 (Dy3320

68. wigfil 1w ufd ¥, Riewr @ i a1 @ e,
A1 %1 7o 21 @ wreat 2 I“ﬁaw"‘"“f‘g
w2t 3l &, fire g @ et Ao 2

(C) 32 (D) None of thege

~10-

¥ et erefiat & 7 5
29
{{gi 32 ﬂtDI v Aw
S o &
3 6 (T
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69.

o>
&

71.

72.

73.

74.

75.

Madhu booked tick
_ e
trailers was rel::as,e(ltjS éﬂr 2 movje

bODk(‘.d the tickets e j bc“ole h
. I_! “;at:l 1 e

45 days aftC[ thc ll’all:: movj
r e

movie was released 16 gy o Felea
\ T Sed. T
Vg’hlch Madhu watcheq Lg: store the day:g
baykor the week was the rnoTowc' On which
[R(]) ;[d the tickets on sunda]eprdeascd if he
¥
onday (B) Tuﬂsday

(C) Wednesday (D) Friq
ay

Which of the following Sched
Constitution deals with Anti
(A) 9" Schedule

(C) 10™ Schedule

ule of the Indian
-Defection Lay
(B) 12m Schedule

(D) None of the apove

From the given answ

) : nswer fi
one in which th questi
embedded ? € question

5
@ || ® (]
(€) (D) B]

Which number will come in the place of question
mark ?

101, 98, 93, 86, 75, ?
(A) 71

(C) 62

Which of the following is/are indieator/s of
poverty in India ?

(A) Malnutrition leading to poor resistance

to disease

(B) Lack of access to healthcare

(C) Lack of job opportunitics

(D) All the above

If in a certain code, ‘CRAMP’ is written as

Ies, _Seiect the
gure is hidden/

(B) 68
(D) 73

YNWIL' then how will ‘GRASP’ be written in
that code ? @iﬁa
(A) CNWOL (B) CWONL :J«S?_'-&m
(C) CNOWL (D) CWNOL

Which among the following is one of the
steps taken by Reserve Bank of India (RBI)
to Curb Money Laundering ?

(A) Adhar card
(B) KYC (Know Your Customer)

(C) Google Pay
(D) Phone Pay

69. 7Y I W feem ¥ Ry P

70. ﬂmﬁ&mﬁﬁwﬂﬂm_w
ezt i i & 7 R
(&) oo %ﬂw
;C’:gwa"fw (D) 357 & & = 7

71, e ST Al § 8, 7 ot g, e v
e gt B /wiea & |

b

//ﬁ (B) E
(€) E_‘I (D) E

72, WH U % TE Qs —dt gem st ?
101, 98, 93, 86, 75, ?
&) 71 (B) 68
4€7 62 (D) 73

73. Pt idfn-m i i gEs /e ?
(A) THvSo] 3 o U R & 0 @ ST
(B) &L Hal T Y 1 AME
(€) Tl = srand i F=H
_ By Tt ot

74. AR THFH ‘CRAMP’ S YNWIL’ foran srn R
30 g2 # ‘GRASP’ 1 R foran simam ?

AKX CNWOL (B) CWONL
(C) CNOWL (D) CWNOL
75. VTR o U 36 o feerd 3 aife R (et k)
T IS FEHT @ U FEH R 1
(A) STER
By %, 9. /, (R g FEW)
(©) TR
(D) B

A

C NV
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kS cuzs.

s ke MDD) was recently in 76. - ::;;,E 3
76. Mura-Drava Danube ( qU-z3- s
the news, it is related to el we %ffq:sﬂf.?ﬁ.] mﬁﬂaﬂfﬁ a,
(A) Landform established by the Danube ﬂﬁ 7
e - ) < w0 e e
B) World’s first five-country biosphere (B) SM% ‘ 4
Ve U7 97 1 e f
reserve © éuﬁ ) fod 1
(C) New variety of fishes in Danube river RAik T e ) wofnt g
(D) None of these (D) 579 % wré 7
77. Five permanent members of Security Council 77. o '
Fiv P ﬁtm;k;m%mawmﬁ it
(A) SR 7
(A) China, United States, France, the United B T4, P, 3 12e e sk el
Kingdom and the Russian Federation By
(B) China, South Africa, France, the /L")' , e o I, 314, ?«"Iﬂﬁigﬁqmam F
United Kingdom and Japan L r
(C) China, Australia, India, the United (C) ¥, sifferan, $fean, @ e e atr
Kingdom and the Russian Federation w4 gg )
(D) China, the Canada, UAE, th i |
Kingdom and th (112 - y Umh-::d D) =41, ?Eh_-ﬂET, L., TS e stz
g nd the Russian Federation wH Hy
78. Points A and B are 100 km apart on a 78 TS
highway. One car starts from A and another ;T mﬁ?fé‘qﬂg{?ﬁ%gﬁﬂﬂﬁ{ﬂm
from B at tl'_lc same time. If the cars travel in h A {[E wmﬁ '
the same direction, they meet in 5 hours. If WB 8 | afe w7 o fom g,
Fhe cars travl tow_ards cach other, they meet g 591 ﬁlﬂ'cﬂ% [ W%"ﬁ@@iﬁm
]cl:r;rl?hourl hat is the speed of the faster IJAN TN F TR Y 1 92 3 ﬁ%ﬂ'% | ot
frafiad 7
(A) 70 km/hour o : -
(C) 60 km/hour ({g] o [4) 70 ﬁn‘ﬁﬁ/ﬂa (B) 40 ﬁ?‘ﬁ/w |
) 80 km/houy (C) 60 foreht /e B 80 fft/diar

79. S— ig. a general purppse
communications port through which data

79. T I ey 1 wiew o ¢ e

arc passed slowly over long distances e ¥ e Hit-oR ol gREi am S I 1

(A) Parallel port : (A) ST 9 &
(B) Serial port 0 : _ o "
(C) Both (A) and (B) A By HIR am“a o i
(D) Neither (A) nor (B) (C) (A) 3T (B)

: F@(A) TR (B
80. Complexes in which a met (D) (A) (B)

al i .
onc kind of donor groyps ar;skioolﬁl toonly | 8o ifoet il wh w1 e T wahTC 3 ] TR
as _ i

(A) Homodentate (B) y Sen o 2
: Cterod e ——
(C) Heteroleptic (D HOmo?e;::éam (Al A
81. The regions whe f: :
vegetables only, thi&r&lnge? SPecialise i, (€ i g
(A) Viticulture S known a¢ 81. I &yl fram Faw afesrd fered
C) Truck farmin ) Mixeq farmj wdl F Fegdamaare | ] o
82. 18" Non-Aligned Movemeny gy o i
held at ; M) SUmmy; (C) T=
{2; %ﬂ?ka (B) Karacy; 82. 1gdf mefmds Midre WEieH
(D) Colomp, (A) =TT
7 (C) g
~12.
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Join Teleg
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140 - 44 x9+3
_,____.—-———'__z

> 1or18+9+2 e
2 i
,2
™ 73 (B) 51
2 3
Kl g D) 62
5

4. iS the rati
8 W made towargs of tota] int
revenue receipts of the . the toerte}ft
(A) Interest Payment tq Re:rmnent_ e
(IP-RR) €nue Receiptg
B) Interest Lost to R
® LRR) cvenue
(C) Interest Payment
(IP-RL) 10 Revenue Logt
(D) Interest Payment tg
Subvention (IP-RS)

Receiptg

Revenye

g5, Fusion of protoplasms between two motile
or non-motile gametes is called
(A) Plasmogamy (B) Meiosis
(C) Karyogamy (D) Plasmophagy
86. CMYK is combination of following colours
(A) Cyan Magenta Yellow Pink
(B) Coral Magenta Yellow Black
(C) Cyan Magenta Yellow Black
(D) Coral Magenta Yellow Pink

87. Which of
Circinotropous type ©
(A) Tomato
(C) Mustard

the following 1is example “or
f ovule ?

(B) Lemna

(D) Opuntla

88. Two boul A and B contz‘iﬂ ;ﬂ;ﬁ%
i ottles ttle A, the ¢ ;
__sulbhuric acid. In the bo acid while
g i S0, ot 4
in bottle B, the amo =
that of water. How MYCE 7 der to prepa
taken from each Otlt ric acid containing
S litres of diluted S‘:':jpand water 7.

equal amount of ac B) 1:4
%) 2:3 (5) 5:6
8 42 capability offorming
g Desert animals have th tic
& urineé. - [E] Is?sn’lo
(A) Hypotonic (D) pilute -
(C) Concentrate cru

The compound
?mgunt of ROS- S%S'What w
In Rs, 8,440.5Y; " “the 52, 472
Interest accr’ucd Oﬂm pcﬂod 5 650
same rate in th® ®
(A) Rs. 4,650

(C) Rs. 6,650

E%E,]_ (C) 4%

23S

0|

84,

85.

86.

87.

88.

89.

90.

-13-

140-44%9.+3

_——

1
Eiﬂ 18+9+2

() 22
3

1

B) 3=
__,LJS
4

(D) 6=
5

— R R U et w5 it g
For et =t e @ o |
(&) =TS T @ TR st (1p-RR)

) = i @ e Wit (IL-RR)

(C) =TS YT | T &1 (IP-RL)
(D) =TS 7T & Toral 37eH (IP-RS)
21 ifcrefier an et gt 3 <l sieieTTen o v

HwiadF, (CMYK) 7aeE R

(&) Frer dom A i

(B) T Foi=T Il S0

(C) T Hore I s

(D) Tt Heren Fen fie

i 3 @ FA-a1 SE GG TR
g fau e ? e

(A) T _ ) S
[C{ Tl (D) fean

5 aaet A 3fv B i ag HewR T ¢ |
vt A 3 Tt o T 3T bt A @ A
3, s dae B ¥ e W ar

3 T 2 | 5 ofet 3 77 FHERF
fraam?aaammﬁmmm
) T SR, S S & et A
foran T TR 7

2:3
(C) 3:2
e S % 9

AR _
ﬂmmﬁ (B) TR

(C) wifsd (D) ﬂ?s.

A%, 25,5001ﬁ1uﬁ1maaﬁ#mﬁmaaﬁﬁ
=11 5. 8,440.50 ¥, A 3 € U WHAH Fafy
%mmammmﬁmmﬁm?

(A) ©. 4,650 B} %.5,650

(C) & 6,650 (D) &. 7,650

(B) 1:4
(D) 5:6
t{qﬁfﬁaﬁﬁiﬁt
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91.

92,

L

94,

e S

_4B] The shops are thron

95.

English Language
——=—_ T blage

Fill in the blank with appropriate phrasal

verbs from the alternatives given below them,
Doctar my tooth withoyut any
pain.

(A) Drew up t&Bécw out

(C) Drew back (D) Drew on

Thefollowingsentcncecnntains
€rror or idiomatic error in
out that part of the sentence and choose the
alphabet of that part as your answer.,
There comes a time w
and closure is more
undoing an injustice.

(A) There comes a time when the
peace

grammatically
it. You have to find

hen the need for peace
great than the need for

need for

(B) and closure js more great than
(C) the need for undoing an injustice,
(D) No error

Fill in the blank with appropriate word from
the alternatives given below it.

Pramod everyone accepted the

jB‘]/ Expccl

(D} Except

In the following question, a sentence h
given in Active/Passive voice @ut of t
alternatives suggested, select the on
best expresses the same sefitence in
Active voice.

Proposal.
(A) Accept
(C) Asset

as been
he four
e which
Passive/

Before festivals, the shops are
thronged with people making
various bargains,

(A) Before festival people assemble at
shops to make bargains

(B) People make varioys
before festivals

(C) Before festivals people throng the

hops making varioys bargains

ged by people

bargains

making bargains

Fill in the blank with

; . APPropriate modals
from the alternatives gj

ven bClOW lhcm i

E5=
We _________ help the pogr, D%;ﬁ
(A) Should (B/ Does B
(C) Dare ) Ought

97. w%@%mmﬁﬁ:ﬁﬁ#ﬂﬁ?ﬁ

98, ﬁqmﬁmuammﬁé’#qamﬁm

99. () 3@ ftm fars

100,

\\

CMEs‘éﬁ
=t wmar :

———

36, meﬁmmmmme?
® @)
(B) (1)
e (7
(D) 7% 3 738

oy 1 Ftue for S g )
(A) Frisfia
8] wres
(C) T4
O}
(D) ¥ 2 1§ 7 %z%
ﬁm&ﬁﬁ:%ﬁﬁuﬁwﬁm'ﬂﬁmﬁ,w
= T Fed € |
(A) e
(B) wgsfife
el &

(D) 398 ¥ 1¢ 7

__ Fm¥

i

(B) 3uferm
(C) iy
(D) 78 & =¥ 7

Il ITTT HRTaR r avef @
A

(B) T@d &

(C) *T@ ¥ e

i
M

(D) T & ¢ 7E
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